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Χ74 ?Α4Β4=Χ ?0?4Α 20= 14 Β44= 0;Β> 0Β 0 34Χ08;43 ?Α>>5 >5 Α4Β∆;ΧΒ ΒΧ0Χ43 8= .25/,
8= Χ74 3Α85Χ 20Β4. ∗4 Φ8;; 9∆ΒΧ85Η Χ78Β ΒΧ0Χ4<4=Χ ;0Χ4Α, Φ74= 340;8=6 Φ8Χ7 Χ74Β4
34Χ08;Β. F>Α Χ74 <><4=Χ Φ4 9∆ΒΧ ?>8=Χ >∆Χ Χ70Χ Χ74Β4 38Π 2∆;Χ84Β 0Α4 <08=;Η
Α4;0Χ43 Χ> Χ74 ?Α>>5 >5 Β∆8Χ01;4 Α4?Α4Β4=Χ0Χ8>= 5>Α<∆;0Β 5>Α Β42>=3 >Α34Α 34Α8Ε0-
Χ8Ε4Β 3,3−Κ >5 0 Χ4ΒΧ 5∆=2Χ8>=, 8= Χ4Α<Β >5 Κ 0=3 LΚ, Ε80 Β8=6∆;0Α 8=Χ46Α0;Β 0=3
2><<∆Χ0Χ>ΑΒ >5 Β8=6∆;0Α 8=Χ46Α0;Β. I= Χ∆Α=, Χ74 Α40Β>= Φ7Η Χ74Β4 Α4?Α4Β4=Χ0Χ8>=
5>Α<∆;0Β 0Α4 70Α34Α Χ> 14 ?Α>Ε43 8= ?Α4Β4=24 >5 0 3Α85Χ Α4;84Β >= Χ74 502Χ Χ70Χ
0 Χ427=820; Α4Β∆;Χ Φ7827 0;;>ΦΒ Χ> 4Γ270=64, 8= 0 Β∆8Χ01;4 Β4=Β4, Χ74 02Χ8>= >5
3,-34Α8Ε0Χ8Ε4Β Φ8Χ7 Χ70Χ >5 Β∆8Χ01;4 8=Χ46Α0; >?4Α0Χ>ΑΒ, 0ΒΒ∆<4Β 0 <>Α4 8=Ε>;Ε43
5>Α< Φ74= Χ74 3Α85Χ 8Β ?Α4Β4=Χ.
#=24 Χ74 Β∆8Χ01;4 Α4?Α4Β4=Χ0Χ8>= 5>Α<∆;0Β 0Α4 4ΒΧ01;8Β743, 0 Α40; Ε0Α801;4

<0278=4ΑΗ Β8<8;0Α Χ> Χ70Χ ∆Β43 8= .3/ 0=3 .4/ 20= 14 0??;843, 0=3 Χ78Β 8Β Χ74
Α40Β>= Φ7Η Φ4 70Ε4 27>Β4= Χ> 68Ε4 74Α4 0 ∆=8ϑ43 ΧΑ40Χ<4=Χ Χ> ∋3 0=3 C�

4ΒΧ8<0Χ4Β. !>Α4 Β?428ϑ20;;Η, >=4 2>=Β834ΑΒ 0 1>∆=343 3><08= 
 4=3>Φ43 Φ8Χ7
Χ74 2>=ΧΑ>; 38ΒΧ0=24 8=3∆243 1Η Χ74 Ε42Χ>Α ϑ4;3Β 3,ΛΒ, Φ7827 70Β 144= 34ϑ=43,
8= Χ74 3Α85Χ 20Β4, 1Η ∀064;-&Χ48=-∗08=64Α 8= .23/, 0=3 Χ74  414Β6∆4 <40Β∆Α4,
Φ7827 8Β ;>20;;Η 3>∆1;8=6 Φ8Χ7 Α4Β?42Χ Χ> Χ74Β4 <4ΧΑ82 10;;Β, 0Β ?Α>Ε43 8= .23/.
H>Φ4Ε4Α, 0 ?Α>1;4< 0Α8Β4Β Φ74= ΧΑΗ8=6 Χ> 0??;Η Χ> Χ78Β 2>=Χ4ΓΧ :=>Φ= Α4Β∆;ΧΒ
01>∆Χ Β8=6∆;0Α 8=Χ46Α0;Β 8= <4ΧΑ82 3>∆1;8=6 Β?024Β (>Α ΜΒ?024Β >5 7><>64=4>∆Β
ΧΗ?4Ν, 05Χ4Α .14/). ∀0<4;Η, Φ70Χ Φ4 Β7>∆;3 :=>Φ Χ> 0??;Η Χ78Β Χ74>ΑΗ 8Β 0
3>∆1;8=6 ?Α>?4ΑΧΗ 0Β

� (B (Μ; 2Η) \ 
0) � 9� (B (Μ; Η) \ 
0) 5>Α 0=Η Μ 2 
0 b 
; Η > 0 (1.7)

Φ78;4 Φ70Χ Φ4 02Χ∆0;;Η :=>Φ 8= Ε84Φ >5 .23/ 8Β

� (B (Μ; 2Η)) � 9� (B (Μ; Η)) 5>Α 0=Η Μ 2 
0 b 
; 0 < Η < Η0: (1.8)

∀>Φ, 8Χ 70Β 144= :=>Φ= Β8=24 .18/ Χ70Χ, Φ74= 
0 8Β 5>Α 8=ΒΧ0=24 0 <4ΧΑ82 10;;,
2>=38Χ8>= (1.7) 5>;;>ΦΒ 5Α>< (1.8) 0Β Β>>= 0Β Χ74 38ΒΧ0=24 Β0Χ8Βϑ4Β 0 :8=3 >5
7)+1)28 4634)68= Φ7827 Α403Β 0Β 5>;;>ΦΒ: 5>Α 0=Η 2>∆?;4 >5 ?>8=ΧΒ Μ1; Μ2 0Χ
38ΒΧ0=24 Η 0=3 5>Α 0=Η =∆<14Α � < Η 0=3 " > 0 Χ74Α4 4Γ8ΒΧΒ 0 ?>8=Χ Μ0 70Ε8=6
38ΒΧ0=24 � � 5Α>< Μ1 0=3 � Η � � + " 5Α>< Μ2. H>Φ4Ε4Α, Φ78;4 Φ74= Χ74 3Α85Χ
Χ4Α< 8Β ;02:8=6 Χ74 38ΒΧ0=24 8=3∆243 1Η Χ74 3,ΛΒ 8Β 40Β8;Η Β44= Χ> Β0Χ8Β5Η Χ78Β
?Α>?4ΑΧΗ, Χ78Β 8Β => ;>=64Α Χ74 20Β4 Φ74= Χ74 ϑ4;3 30 Φ8Χ7 Φ4867Χ ΧΦ> 4=Χ4ΑΒ
Χ74 34ϑ=8Χ8>= >5 38ΒΧ0=24 0=3, 0Β 50Α 0Β Φ4 :=>Φ, 0 2>=38Χ8>= >5 :8=3 (1.7)
70Β =4Ε4Α 144= ?Α>Ε43 8= Χ78Β 2>=Χ4ΓΧ 5>Α 
0 0 <4ΧΑ82 10;;, >Α 5>Α 0=Η >Χ74Α
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Β?4280; :8=3 >5 1>∆=343 3><08= 
. ∋7∆Β Φ4 0Α4 5>Α243 Χ> 0??;Η 0 Χ74>ΑΗ >5
Β8=6∆;0Α 8=Χ46Α0;Β Φ7827 3>4Β =>Χ Α4≅∆8Α4 Χ74 5∆;; ΒΧΑ4=6Χ7 >5 Χ74 6;>10; 3>∆1;8=6
2>=38Χ8>= (1.7). A ϑΑΒΧ ?>ΒΒ818;8ΧΗ 8Β Χ> 2>=Β834Α Χ74 2>=Χ4ΓΧ >5 232(39&0−2+
74%∋)7, 0Β ΒΧ∆3843 1Η ∋>;Β0, ∀0Ι0Α>Ε-∋Α48;-)>;14Α6, 0=3 >Χ74Α 0∆Χ7>ΑΒ (Β44 5>Α
8=ΒΧ0=24 .28/, .24/, 0=3 Α454Α4=24Β Χ74Α48=). %4Β∆;ΧΒ >5 ∋3 0=3 C� 2>=Χ8=∆8ΧΗ 5>Α
Β8=6∆;0Α 8=Χ46Α0;Β >5 Χ78Β :8=3, 0??;8201;4 Χ> >∆Α 2>=Χ4ΓΧ, 70Ε4 144= ?Α>Ε43 8=
.1/. H>Φ4Ε4Α, Χ> ?Α>Ε4 >∆Α ∋3 4ΒΧ8<0Χ4Β (1.5), Φ4 0;Β> =443 Β><4 ∋31198%836
)78−1%8)7, >5 Χ74 :8=3 >5 Χ74 Φ4;;-:=>Φ= Α4Β∆;Χ ?Α>Ε43 1Η .13/, Χ70Χ, 0Β 50Α 0Β
Φ4 :=>Φ, 0Α4 =>Χ ?Α4Β4=Χ;Η 0Ε08;01;4 8= Χ74 5Α0<4Φ>Α: >5 64=4Α0; =>=3>∆1;8=6
≅∆0Β8<4ΧΑ82 (>Α <4ΧΑ82) Β?024Β. F>Α Χ78Β Α40Β>=, Φ4 70Ε4 Α424=Χ;Η 34Ε4;>?43 8=
.8/ 0 Χ74>ΑΗ >5 03∋%00= ,313+)2)397 74%∋)7 Φ7827 8Β 0 ≅∆8Χ4 =0Χ∆Α0; 5Α0<4Φ>Α:
Φ74Α4 0;; Χ74 Α4Β∆;ΧΒ Φ4 =443 01>∆Χ Β8=6∆;0Α 8=Χ46Α0;Β 0=3 Χ748Α 2><<∆Χ0Χ>ΑΒ
Φ8Χ7 B!# 5∆=2Χ8>=Β 20= 14 ?Α>Ε43. ∋> 68Ε4 0 ∆=8ϑ43 ΧΑ40Χ<4=Χ Χ> 1>Χ7 ∋3

0=3 C� 4ΒΧ8<0Χ4Β, 74Α4 Φ4 70Ε4 3428343 Χ> ?Α>Ε4 1>Χ7 4Γ?;>8Χ8=6 Χ74 Α4Β∆;ΧΒ 8=
.8/. ∗4 =>Χ4 Χ70Χ >∆Α &270∆34Α 4ΒΧ8<0Χ4Β 2>∆;3 0;Β> 14 >1Χ08=43 0??;Η8=6 Χ74
Α4Β∆;ΧΒ 8= .1/, Φ78;4 ∋3 4ΒΧ8<0Χ4Β 20==>Χ.
∋74 =424ΒΒ8ΧΗ >5 0Ε>838=6 Χ74 ∆Β4 >5 0 3>∆1;8=6 ?Α>?4ΑΧΗ >5 ΧΗ?4 (1.7), 0Β

Φ4;; 0Β Β><4 <>38ϑ20Χ8>=Β Α4≅∆8Α43 1Η Χ74 ?Α4Β4=24 >5 Χ74 3Α85Χ 30, 0;Β> Α4Κ42ΧΒ
8= Χ74 Φ0Η Φ4 70Ε4 ΒΧ∆3843 Β4Ε4Α0; ?Α>?4ΑΧ84Β >5 Χ74 5∆=2Χ8>= Β?024Β C�∃ 0=3
B(∗, 0Β Φ4 Φ8;; Β44 8= Ρ 3.4.
#=24 Χ74 10Β82 4ΒΧ8<0Χ4Β >= Β42>=3 >Α34Α 34Α8Ε0Χ8Ε4Β 0Α4 4ΒΧ01;8Β743, 0 =0Χ-

∆Α0;, 1∆Χ =>=ΧΑ8Ε80;, 4ΓΧ4=Β8>= 2>=Β8ΒΧΒ 8= ?Α>Ε8=6 Β8<8;0Α 4ΒΧ8<0Χ4Β 5>Α 34Α8Ε0-
Χ8Ε4Β >5 (Φ4867Χ43) >Α34Α Α + 2; 8= Χ4Α<Β >5 Α 34Α8Ε0Χ8Ε4Β >5 LΚ (0ΒΒ∆<8=6, >5
2>∆ΑΒ4, Χ70Χ Χ74 2>4Π 284=ΧΒ >5 Χ74 >?4Α0Χ>Α ?>ΒΒ4ΒΒ Χ74 2>ΑΑ4Β?>=38=6 5∆ΑΧ74Α
Α46∆;0Α8ΧΗ). I= ?Α4Β4=24 >5 0 3Α85Χ, 8Χ 8Β Α40Β>=01;4 Χ> Α4ΒΧΑ82Χ Χ78Β ΒΧ∆3Η Χ> Χ74
20Β4 >5 Α 4Ε4=, 0Β 0;Α403Η 0??40ΑΒ 5Α>< Χ74 0=0;>6 Α4Β∆;Χ ?Α>Ε43 8= 7><>64=4>∆Β
6Α>∆?Β 8= .2/. EΕ4= 8= Χ78Β 20Β4, 0 ?Α>>5 >5 Χ78Β 4ΓΧ4=Β8>=Β Β44<Β Χ> 14 0 38Π 2∆;Χ
Χ0Β:, 0=3 Φ4 70Ε4 ?Α454ΑΑ43 =>Χ Χ> 033Α4ΒΒ Χ78Β ?Α>1;4< 8= Χ74 ?Α4Β4=Χ ?0?4Α,
8= >Α34Α =>Χ Χ> 5∆ΑΧ74Α 8=2Α40Β4 8ΧΒ ;4=6Χ7.

A#∗−.6+%∃∋%,%−32. ∋78Β Α4Β40Α27 Φ0Β <08=;Η 20ΑΑ843 >∆Χ Φ78;4 !0>27∆=
−7∆ Φ0Β Ε8Β8Χ8=6 Χ74 D4?0ΑΧ<4=Χ >5 !0Χ74<0Χ82Β >5 ∃>;8Χ42=82> 38 !8;0=>, Φ7827
Φ4 Φ8Β7 Χ> Χ70=: 5>Α Χ74 7>Β?8Χ0;8ΧΗ. ∋74 ?Α>942Χ Φ0Β Β∆??>ΑΧ43 1Η Χ74 ∀0Χ8>=0;
∀0Χ∆Α0; &284=24 F>∆=30Χ8>= >5 C78=0 (GΑ0=Χ ∀>. 10871157), &?4280;8Ι43 %4-
Β40Α27 F∆=3 5>Α Χ74 D>2Χ>Α0; ∃Α>6Α0< >5 H8674Α E3∆20Χ8>= (∀>. 200806990032).

2 A224,/3).−2 !−∃ ,!)− 1%24+32

∗4 =>Φ ΒΧ0Χ4 ?Α428Β4;Η >∆Α 0ΒΒ∆<?Χ8>=Β 0=3 <08= Α4Β∆;ΧΒ. A;; Χ74 5∆=2Χ8>=
Β?024Β 8=Ε>;Ε43 8= Χ74 ΒΧ0Χ4<4=ΧΒ 14;>Φ Φ8;; 14 34ϑ=43 ?Α428Β4;Η 8= Ρ 3. #∆Α
10Β82 0ΒΒ∆<?Χ8>= 8Β:

A224,/3).− (H).  4Χ

L =
4∋

,;−=1

7,−(Μ)3,3− + 70 (Μ)30;

6



Φ74Α4 Χ74 30; 31; :::; 34 0Α4 Α40; Β<>>Χ7 Ε42Χ>Α ϑ4;3Β Β0Χ8Β5Η8=6 HΩΑ<0=34ΑΛΒ
2>=38Χ8>= 8= Β><4 1>∆=343 3><08= 
 � R1, Χ74 2>4Π 284=ΧΒ7,− = 7−,; 70 0Α4
Α40; Ε0;∆43, 1>∆=343 <40Β∆Α01;4 5∆=2Χ8>=Β 34ϑ=43 8= 
, Β0Χ8Β5Η8=6 Χ74 ∆=85>Α<
?>Β8Χ8Ε8ΧΗ 2>=38Χ8>=Β:

�j�j2 �
4∋

,;−=1

7,−(Μ)�,�− � ��1j�j2;

� � 70 (Μ) � ��1

5>Α 0.4. Μ 2 
; 4Ε4ΑΗ � 2 R4, Β><4 2>=ΒΧ0=Χ � > 0.

#∆Α <08= Α4Β∆;ΧΒ 0Α4 Χ74 5>;;>Φ8=6:

T(%.1%, 2.1 I2 %((−8−32 83 %779148−32 (H), %7791) 8,%8 8,) ∋3)Χ ∋−)2877,− ; 70
&)032+ 83 C�∃ (
) ∗36 731) � 2 (0; 1).  ,)2 ∗36 ):)6= (31%−2 
0 b 
, 8,)6)
)<−787 % ∋3278%28 9 > 0 ()4)2(−2+ 32 
0;
; 3,; �; �; k7,−kC�

X
(
) %2( k70kC�

X
(
)

79∋, 8,%8, ∗36 ):)6= Κ 2 C2;�∃ (
), 32) ,%7

kΚkC2;�
X

(
0) � 9
1
kLΚkC�

X
(
) + kΚkL1(
)

2
:

T(%.1%, 2.2 I2 %((−8−32 83 %779148−32 (H), %7791) 8,%8 8,) ∋3)Χ ∋−)2877,− ; 70
&)032+ 83 8,) 74%∋) 1(∗∃;/2( (
).  ,)2 ∗36 ):)6= Φ 2 (1;1), %2= 
0 b 
, 8,)6)
)<−787 % ∋3278%28 9 ()4)2(−2+ 32 3,; ∆; Γ; Φ; � ;


0;
 %2( 8,) 1(∗ 13(90− 3∗ 7,−
%2( 70, 79∋, 8,%8 ∗36 ):)6= Κ 2 .2;3∃ (
),

kΚk∀2;p
X
(
0) � 9

1
kLΚkLp(
) + kΚkLp(
)

2
:

R%,!1∗ 2.3 !2()6 8,) %779148−327 3∗ 8,) 46):−397 8,)36)17, −8 −7 238 6)786−∋-
8−:) 83 %7791) 70 (Μ) 83 &) )59%0 83 1, ∗36 ;) ∋%2 %0;%=7 6);6−8) 8,) )59%8−32

4∋

,;−=1

7,−3,3− + 7030 = <

−2 8,) ∗361
4∋

,;−=1

7,−
70
3,3− +30 =

<

70

%2( %440= 8,) %-46−36− )78−1%8)7 83 8,−7 )59%8−32, ∋3286300−2+ C� 36 1(∗ 13(90−
3∗ 8,) 2); ∋3)Χ ∋−)287

&ij
&0
−2 8)617 3∗ 8,) %2%03+397 13(90− 3∗ 7,− ; 70 %2( 8,)

∋3278%28 �:  ,)6)∗36) 8,639+,398 8,) ∗3003;−2+ ;) ;−00 %0;%=7 8%/) 70 � 1.
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3 K−.6− 1%24+32 !−∃ /1%/!1!3.18 ,!3%1)!+ &1.,

1%!+ !−!+82)2 !−∃ ∋%.,%318 .& 5%#3.1 :%+∃2

3.1 S.,% ∗−.6− &!#32 !∀.43 H=1,!−∃%1;2 5%#3.1 :%+∃2,
+)&3)−∋ !−∃ !//1.7),!3).−

 4Χ 30; 31; : : : ; 34 14 0 ΒΗΒΧ4< >5 Α40; Β<>>Χ7 Ε42Χ>Α ϑ4;3Β,

3, =
1∋

−=1

8,− (Μ) @:j ; ? = 0; 1; 2; :::; Γ

(Γ + 1 < ∆) 34ϑ=43 8= Β><4 1>∆=343, >?4= 0=3 2>==42Χ43 Β∆1Β4Χ 
 >5 R1.  4Χ
∆Β 0ΒΒ86= Χ> 4027 3, 0 Φ4867Χ Φ,, Β0Η8=6 Χ70Χ

Φ0 = 2 0=3 Φ, = 1 5>Α ? = 1; 2; :::Γ:

F>Α 0=Η <∆;Χ88=34Γ

% = (?1; ?2; :::; ?.);

Φ4 34ϑ=4 Χ74 Φ4867Χ >5 % 0Β

j%j =
.∋

−=1

Φ,j :

F>Α 0=Η 2>∆?;4 >5 Ε42Χ>Α ϑ4;3Β 3;4 , ;4Χ [3;4 ] = 34 � 4 3 14 Χ748Α 2><-
<∆Χ0Χ>Α. ∀>Φ, 5>Α 0=Η <∆;Χ88=34Γ % = (?1; ?2; :::; ?.) 5>Α 0 � ?. � Γ Φ4 Β4Χ:

3I = 3,13,2 :::3,k

0=3

3[I] =
�
3,1 ;

�
3,2 ; : : :

�
3,k�1 ; 3,k

�
: : :
��
:

I5 % = (?1), Χ74=

3[I] = 3,1 = 3I :

∗4 Φ8;; Β0Η Χ70Χ 3[I] 8Β 0 ∋31198%836 3∗ ;)−+,8 j%j: AΒ ∆Β∆0;, 3[I] 20= 14 Β44=
48Χ74Α 0Β 0 38Θ4Α4=Χ80; >?4Α0Χ>Α >Α 0Β 0 Ε42Χ>Α ϑ4;3. ∗4 Φ8;; ΦΑ8Χ4

3[I]<

Χ> 34=>Χ4 Χ74 38Θ4Α4=Χ80; >?4Α0Χ>Α 3[I] 02Χ8=6 >= 0 5∆=2Χ8>= < , 0=3

�
3[I]

�
:

Χ> 34=>Χ4 Χ74 Ε42Χ>Α ϑ4;3 3[I] 4Ε0;∆0Χ43 0Χ Χ74 ?>8=Χ Μ 2 
.
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∗4 Β70;; Β0Η Χ70Χ 3 = f30; 31; : : : ; 34g Β0Χ8Β5Η HΦ61%2()6≅7 ∋32(−8−32 3∗
;)−+,8 Ι 85 Χ74Β4 Ε42Χ>Α ϑ4;3Β, Χ>64Χ74Α Φ8Χ7 Χ748Α 2><<∆Χ0Χ>ΑΒ >5 Φ4867Χ � Ι,
Β?0= Χ74 Χ0=64=Χ Β?024 0Χ 4Ε4ΑΗ ?>8=Χ Μ 2 
.
 4Χ 6 14 Χ74 5Α44  84 0;641Α0 >5 Φ4867Χ Ι >= Γ + 1 64=4Α0Χ>ΑΒ, Χ70Χ 8Β Χ74

≅∆>Χ84=Χ >5 Χ74 5Α44  84 0;641Α0 Φ8Χ7 Γ+1 64=4Α0Χ>ΑΒ 1Η Χ74 8340; 64=4Α0Χ43 1Η Χ74
2><<∆Χ0Χ>ΑΒ >5 Φ4867Χ 0Χ ;40ΒΧ Ι+1. ∗4 Β0Η Χ70Χ Χ74 Ε42Χ>Α ϑ4;3Β 30; : : : ; 34,
Φ7827 Β0Χ8Β5Η HΩΑ<0=34ΑΛΒ 2>=38Χ8>= >5 Φ4867Χ Ι 0Χ Β><4 ?>8=Χ Μ0 2 R1, 0Α4
∗6)) 94 83 36()6 Ι %8 Μ0 85 ∆ =38< 6, 0Β 0 Ε42Χ>Α Β?024 (=>Χ4 Χ70Χ 8=4≅∆0;8ΧΗ �
0;Φ0ΗΒ 7>;3Β). ∋74 50<>∆Β  85Χ8=6 ∋74>Α4< ?Α>Ε43 1Η %>Χ7Β278;3-&Χ48= 8= .25,
?. 272/ Α403Β 0Β 5>;;>ΦΒ:

T(%.1%, 3.1 L)8 3 = (30; 31; : : : ; 34) &) C
1 6)%0 :)∋836 ?)0(7 32 % (31%−2


 � R1 7%8−7∗=−2+ HΦ61%2()6≅7 ∋32(−8−32 3∗ ;)−+,8 Ι −2 
.  ,)2, ∗36 %2= Μ 2 
,
−2 8)617 3∗ 2); :%6−%&0)7, >1+1; : : : ; >N , 8,)6) )<−78 71338, ∗92∋8−327 �,/(Μ; >)

(0 � ? � Γ; ∆+1 � Β � )) ()?2)( −2 % 2)−+,&36,33( ,0 3∗ � = (Μ; 0) 2 RN 79∋,

8,%8 8,) :)∋836 ?)0(7 ,3, +−:)2 &=

,3, = 3, +
N∋

/=1+1

�,/(Μ; >)
@

@>/
; ? = 0; : : : ; Γ

7%8−7∗= HΦ61%2()6≅7 ∋32(−8−32 3∗ ;)−+,8 Ι %2( %6) ∗6)) 94 83 ;)−+,8 Ι %8 ):)6=
43−28 −2 ,0 .

 4Χ ,3 =
�
,30; ,31; : : : ; ,34

�
14 Χ74 ;85Χ43 Ε42Χ>Α ϑ4;3Β Φ7827 0Α4 5Α44 ∆? Χ>

Φ4867Χ Ι 0Χ Β><4 ?>8=Χ � 2 RN 0=3 6 14 Χ74 5Α44  84 0;641Α0 64=4Α0Χ43 1Η ,3.
F>Α 4027 ≅, 1 � ≅ � Ι, Φ4 20= Β4;42Χ 0 50<8;Η

1
,3−;.

2
.
>5 2><<∆Χ0Χ>ΑΒ >5 Φ4867Χ

≅, Φ8Χ7 ,31;. = ,3.; ,32;1 = ,30; Α = 1; 2; : : : ; Γ, Β∆27 Χ70Χ
1
,3−;.

2
−.
8Β 0 10Β8Β >5

6, Χ70Χ 8Β Χ> Β0Η, Χ74Α4 4Γ8ΒΧΒ 0 Β4Χ A >5 3>∆1;4-8=3824Β � Β∆27 Χ70Χ
1
,3�
2
�2A

8Β

0 10Β8Β >5 6. ∀>Χ4 Χ70Χ C0Α3A = ) , Φ7827 0;;>ΦΒ ∆Β Χ> 834=Χ85Η 6 Φ8Χ7 RN .
∀>Φ, 8= RN Φ4 20= 2>=Β834Α Χ74 6Α>∆? ΒΧΑ∆2Χ∆Α4 >5 )(Γ + 1; Ι), Φ7827 8Β

Χ74 Β8<?;Η 2>==42Χ43  84 6Α>∆? 0ΒΒ>280Χ43 Χ> 6. ∗4 Φ8;; ΦΑ8Χ4 � 5>Α Χ74  84
6Α>∆? >?4Α0Χ8>= (Φ7827 Φ4 Χ78=: 0Β 0 86%270%8−32) 0=3 Φ8;; 0ΒΒ∆<4 Χ70Χ Χ74
6Α>∆? 834=Χ8ΧΗ 8Β Χ74 >Α868=. IΧ 8Β 0;Β> ?>ΒΒ81;4 Χ> 0ΒΒ∆<4 Χ70Χ Κ�1 = �Κ (Χ74
6Α>∆? 8=Ε4ΑΒ4 8Β Χ74 E∆2;8340= >??>Β8Χ4). ∗4 20= =0Χ∆Α0;;Η 34ϑ=4 (−0%8−327 8=
)(Γ + 1; Ι) 1Η

 (�)
�
(Κ�)�2A

�
=
�
�j�jΚ�

�
�2A

: (3.1)

∋74Β4 0Α4 6Α>∆? 0∆Χ><>Α?78Β<Β, 74=24 )(Γ + 1; Ι) 8Β 0 ,313+)2)397 +6394, 8=
Χ74 Β4=Β4 >5 &Χ48= (Β44 .27, ?. 618-622/). ∗4 Φ8;; 20;; 8Χ G, ;40Ε8=6 Χ74 =∆<14ΑΒ
Γ; Ι 8<?;828Χ;Η ∆=34ΑΒΧ>>3.
∗4 20= 34ϑ=4 8= G 0 ,313+)2)397 2361 k�k 0Β 5>;;>ΦΒ. F>Α 0=Η Κ 2 G,

Κ 6= 0, Β4Χ
kΚk = Η ,

���� 
�
1

Η

�
Κ

���� = 1,
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Φ74Α4 j�j 34=>Χ4Β Χ74 E∆2;8340= =>Α<.
∋74 5∆=2Χ8>=

:G (Κ; Λ) =


Λ�1 � Κ





8Β 0 59%7−(−78%2∋), Χ70Χ 8Β:

:G (Κ; Λ) � 0 0=3 :G (Κ; Λ) = 0 85 0=3 >=;Η 85 Κ = Λ;
:G (Κ; Λ) = :G (Λ; Κ) ; (3.2)

:G (Κ; Λ) � 9 (:G (Κ; Ο) + :G (Ο; Λ)) ;

5>Α 4Ε4ΑΗ Κ; Λ; Ο 2 G 0=3 Β><4 ?>Β8Χ8Ε4 2>=ΒΧ0=Χ 9 (G) � 1. ∗4 34ϑ=4 Χ74 10;;Β
Φ8Χ7 Α4Β?42Χ Χ> :G 0Β

B (Κ; Η) �
�
Λ 2 RN : :G (Κ; Λ) < Η

	
:

IΧ 20= 14 ?Α>Ε43 (Β44 .27, ?.619/) Χ70Χ Χ74  414Β6∆4 <40Β∆Α4 8= RN 8Β Χ74
H00Α <40Β∆Α4 >5 G. ∋74Α45>Α4, 1Η (3.1),

jB (Κ; Η)j = jB (Κ; 1)j Η ;

5>Α 4Ε4ΑΗ Κ 2 G 0=3 Η > 0, Φ74Α4 , =
%

�2A j�j. ∗4 Φ8;; 20;; , Χ74 ,313+)-
2)397 (−1)27−32 >5 G.
∀4ΓΧ, Φ4 34ϑ=4 Χ74 ∋32:3098−32 >5 ΧΦ> 5∆=2Χ8>=Β 8= G 0Β

(< � =) (Κ) =
(

RN

<
�
Κ � Λ�1

�
= (Λ) :Λ =

(

RN

=
�
Λ�1 � Κ

�
< (Λ) :Λ;

5>Α 4Ε4ΑΗ 2>∆?;4 >5 5∆=2Χ8>=Β 5>Α Φ7827 Χ74 01>Ε4 8=Χ46Α0;Β <0:4 Β4=Β4.
 4Χ �8 14 Χ74 ;45Χ ΧΑ0=Β;0Χ8>= >?4Α0Χ>Α 02Χ8=6 >= 5∆=2Χ8>=Β: (�8<) (Λ) =

< (Κ � Λ). ∗4 Β0Η Χ70Χ 0 38Θ4Α4=Χ80; >?4Α0Χ>Α + >= G 8Β 0)∗8 −2:%6−%28 85 + (�8<) =
�8 (+<) 5>Α 4Ε4ΑΗ Β<>>Χ7 5∆=2Χ8>= < . FΑ>< Χ74 01>Ε4 34ϑ=8Χ8>= >5 2>=Ε>;∆Χ8>=
Φ4 Α403 Χ70Χ 85 + 8Β 0=Η ;45Χ 8=Ε0Α80=Χ 38Θ4Α4=Χ80; >?4Α0Χ>Α,

+ (< � =) = < � += (3.3)

(?Α>Ε8343 Χ74 8=Χ46Α0;Β 2>=Ε4Α64).
∗4 Β0Η Χ70Χ % (−∆)6)28−%0 34)6%836 + >= G 8Β ,313+)2)397 3∗ ()+6)) � > 0

85
+ (< ( (�)Κ)) = �� (+<) ( (�)Κ)

5>Α 4Ε4ΑΗ Χ4ΒΧ 5∆=2Χ8>= < 0=3 � > 0; Κ 2 G. A;Β>, Φ4 Β0Η Χ70Χ % ∗92∋8−32 < 8Β
,313+)2)397 3∗ ()+6)) � 2 R 85

< ( (�)Κ) = ��< (Κ) 5>Α 4Ε4ΑΗ � > 0; Κ 2 G:

C;40Α;Η, 85 + 8Β 0 38Θ4Α4=Χ80; >?4Α0Χ>Α 7><>64=4>∆Β >5 346Α44 �1 0=3 < 8Β 0
7><>64=4>∆Β 5∆=2Χ8>= >5 346Α44 �2, Χ74= +< 8Β 0 7><>64=4>∆Β 5∆=2Χ8>= >5 346Α44
�2 � �1, Φ78;4 <+ 8Β 0 38Θ4Α4=Χ80; >?4Α0Χ>Α, 7><>64=4>∆Β >5 346Α44 �1 � �2.
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 4Χ 4� 14 Χ74 ;45Χ 8=Ε0Α80=Χ Ε42Χ>Α ϑ4;3 Φ7827 06Α44Β Φ8Χ7
@
@8�

0Χ 0 0=3 Β4Χ
41;. = 4.; Α = 1; � � � ; Γ; 42;1 = 40. ∋74 38Θ4Α4=Χ80; >?4Α0Χ>Α 4,;. 8Β 7><>64=4>∆Β
>5 346Α44 ?, 0=3 f4�g�2A 8Β 0 10Β8Β >5 Χ74 5Α44  84 0;641Α0 6.
A 38Θ4Α4=Χ80; >?4Α0Χ>Α >= G 8Β Β083 Χ> 70Ε4 03∋%0 ()+6)) 0)77 8,%2 36 )59%0 83

� 85, 05Χ4Α Χ0:8=6 Χ74 ∋0Η;>Α 4Γ?0=Β8>= 0Χ 0 >5 8ΧΒ 2>4Π 284=ΧΒ, 4027 Χ4Α< >1Χ08=43
8Β 0 38Θ4Α4=Χ80; >?4Α0Χ>Α 7><>64=4>∆Β >5 346Α44 � �.
A;Β>, 0 5∆=2Χ8>= >= G 8Β Β083 Χ> 70Ε4 03∋%0 ()+6)) +6)%8)6 8,%2 36 )59%0 83 �

85, 05Χ4Α Χ0:8=6 Χ74 ∋0Η;>Α 4Γ?0=Β8>= 0Χ 0 >5 8ΧΒ 2>4Π 284=ΧΒ, 4027 Χ4Α< >1Χ08=43
8Β 0 7><>64=4>∆Β 5∆=2Χ8>= >5 346Α44 � �.
F>Α �; � 2 ,0 , 34ϑ=4 Χ74 <0?

��(�) = (Κ�)�2A

Φ8Χ7 � = e p
�%

�2A Κ�
,3�
�
�: ∗4 Φ8;; 0;Β> ΦΑ8Χ4 �(�; �) = ��(�):

∗4 20= =>Φ ΒΧ0Χ4 %>Χ7Β278;3-&Χ48=ΛΒ 0??Α>Γ8<0Χ8>= Χ74>Α4< (Β44 .25, ?.
273/).

T(%.1%, 3.2 I2 8,) ∋336(−2%8)7 +−:)2 &= �(�; �) ;) ∋%2 ;6−8) ,3, = 4, + −�,
32 %2 34)2 2)−+,&36,33(7 3∗ 0, ;,)6) −�, −7 % :)∋836 ?)0( 3∗ 03∋%0 ()+6)) � 0 ∗36
? = 1; : : : ; Γ (� 1 ∗36 ? = 0) ()4)2(−2+ 71338,0= 32 �. E<40−∋−80=, 8,−7 1)%27 8,%8
∗36 ):)6= < 2 C10 (G):

,3, [< (� (�; �))] (�) = (4,< +−�, <) (� (�; �)) : (3.4)

M36) +)2)6%00=, ∗36 ):)6= (39&0)-−2()< (?; Α) 2 A, ;) ∋%2 ;6−8)

,3,;. [< (� (�; �))] (�) =
�
4,;.< +−

�
,;.<

�
(� (�; �)) ; (3.5)

;,)6) −�,;. −7 % :)∋836 ?)0( 3∗ 03∋%0 ()+6)) � ?� 1 ()4)2(−2+ 71338,0= 32 �.

∋78Β Χ74>Α4< Β0ΗΒ Χ70Χ Χ74 ;85Χ43 Ε42Χ>Α ϑ4;3Β ,3, 20= 14 ;>20;;Η 0??Α>Γ8<0Χ43
1Η Χ74 7><>64=4>∆Β, ;45Χ 8=Ε0Α80=Χ Ε42Χ>Α ϑ4;3Β 4, >= Χ74 6Α>∆? G. &><4 >Χ74Α
8<?>ΑΧ0=Χ ?Α>?4ΑΧ84Β >5 Χ74 <0? � 0Α4 ΒΧ0Χ43 8= Χ74 =4ΓΧ Χ74>Α4< (Β44 .25, ?.
284-287/):

T(%.1%, 3.3 L)8 � 2 RN %2( ,0 &) % 2)−+,&36,33( 3∗ � 79∋, 8,%8 ∗36 %2=
� 2 ,0 8,) 1%4 �(�; �) −7 ;)00 ()?2)( −2 ,0 . F36 �; � 2 ,0 , ()?2)

�(�; �) = jj�(�; �) jj (3.6)

;,)6) jj � jj −7 8,) ,313+)2)397 2361 ()?2)( %&3:).  ,)2:

(%) �(�; �) = � (�; �)
�1
= ��(�; �) ∗36 ):)6= �; � 2 ,0 ;

(&) � −7 % 59%7−(−78%2∋) −2 ,0 (8,%8 −7 7%8−7?)7 8,) 8,6)) 4634)68−)7 (3.2));
(∋) 92()6 8,) ∋,%2+) 3∗ ∋336(−2%8)7 Κ = �� (�), 8,) 1)%796) )0)1)28 &)-

∋31)7:
:� = 9(�) � (1 + ! (�; Κ)) :Κ; (3.7)
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;,)6) 9(�) −7 % 71338, ∗92∋8−32, &392()( %2( &392()( %;%= ∗631 >)63 −2 ,0 ,
! (�; Κ) −7 % 71338, ∗92∋8−32 −2 &38, :%6−%&0)7, ;−8,

j! (�; Κ)j � 9 kΚk ;

%2( %2 %2%03+397 78%8)1)28 −7 869) ∗36 8,) ∋,%2+) 3∗ ∋336(−2%8)7 Κ = �� (�).

R%,!1∗ 3.4 A7 ;) ,%:) 6)∋%00)( −2 8,) −2863(9∋8−32, −2 8,) 4%4)6 #25∃ ()8%−0)(
4633∗7 %6) +−:)2 320= ;,)2 8,) (6−∗8 8)61 30 −7 0%∋/−2+. A 4633∗ 3∗ 8,) 0−∗8−2+
%2( %4463<−1%8−32 6)79087 )<40−∋−80= ∋3:)6−2+ 8,) (6−∗8 ∋%7) ∋%2 &) ∗392( −2 #6∃,
;,)6) 8,) 8,)36= −7 %073 )<8)2()( 83 8,) ∋%7) 3∗ 23271338, HΦ61%2()6≅7 :)∋836
?)0(7. ∀) 6)∗)6 83 8,) −2863(9∋8−32 3∗ #6∃ ∗36 ∗968,)6 &−&0−3+6%4,−∋ 6)1%6/7 %&398
)<−78−2+ %08)62%8−:) 4633∗7 3∗ 8,) 0−∗8−2+ %2( %4463<−1%8−32 8,)36)17.

3.2 M%31)# )−∃4#%∃ ∀8 5%#3.1 :%+∃2

 4Χ ∆Β ΒΧ0ΑΧ Α420;;8=6 Χ74 34ϑ=8Χ8>= >5 2>=ΧΑ>; 38ΒΧ0=24 68Ε4= 1Η ∀064;-&Χ48=-
∗08=64Α 8= .23/ 5>Α HΩΑ<0=34ΑΛΒ Ε42Χ>Α ϑ4;3Β Φ8Χ7 3Α85Χ:

D%:−)3).− 3.5 F36 %2= � > 0, 0)8 C (�) &) 8,) ∋0%77 3∗ %&73098)0= ∋328−29397
1%44−2+7 ': [0; 1]! 
 ;,−∋, 7%8−7∗=

'0(ϑ) =
∋

jIj�6
�I(ϑ)

�
3[I]

�
'(7)

%.). ϑ 2 (0; 1) (3.8)

;−8, j�I(ϑ)j � �jIj: ∀) ()?2)

:(Μ; Ν) = inf f� : 9' 2 C (�) ;−8, ' (0) = Μ; ' (1) = Νg :

∋74 ϑ=8Χ4=4ΒΒ >5 : 8<<4380Χ4;Η 5>;;>ΦΒ 1Η HΩΑ<0=34ΑΛΒ 2>=38Χ8>=: Β8=24 Χ74
Ε42Χ>Α ϑ4;3Β

�
3[I]

	
jIj�6 Β?0= R

1; Φ4 20= 0;Φ0ΗΒ 9>8= 0=Η ΧΦ> ?>8=ΧΒ Μ; Ν Φ8Χ7 0

2∆ΑΕ4 ' >5 Χ74 :8=3 (3.8); <>Α4>Ε4Α, : Χ∆Α=Β >∆Χ Χ> 14 0 38ΒΧ0=24. A=0;>6>∆Β;Η
Χ> Φ70Χ ∀064;-&Χ48=-∗08=64Α 3> 8= .23/ Φ74= 30 8Β ;02:8=6, 8= .5/ Χ74 5>;;>Φ8=6
=>Χ8>= 8Β 8=ΧΑ>3∆243:

D%:−)3).− 3.6 F36 %2= � > 0, 0)8 C1 (�) &) 8,) ∋0%77 3∗ %&73098)0= ∋328−29397
1%44−2+7 ' : [0; 1]! 
 ;,−∋, 7%8−7∗=

'0(ϑ) =
4∋

,=0

�,(ϑ) (3,)'(7) %.). ϑ 2 (0; 1)

;−8, j�0(ϑ)j � �2 %2( j�−(ϑ)j � � ∗36 ≅ = 1; � � � Γ:
∀) ()?2)

:∃(Μ; Ν) = inf f� : 9' 2 C1 (�) ;−8, ' (0) = Μ; ' (1) = Νg :
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∀>Χ4 Χ70Χ Χ74 ϑ=8Χ4=4ΒΒ >5 :∃ (Μ; Ν) 5>Α 0=Η ΧΦ> ?>8=ΧΒ Μ; Ν 2 
 8Β =>Χ 0 ΧΑ8Ε80;
502Χ, 1∆Χ 34?4=3Β >= 0 2>==42Χ8Ε8ΧΗ Α4Β∆;Χ (ΜC7>ΦΛΒ Χ74>Α4<Ν); <>Α4>Ε4Α, 8Χ 20=
14 ?Α>Ε43 Χ70Χ : 0=3 :∃ 0Α4 4≅∆8Ε0;4=Χ, 0=3 Χ70Χ :∃ 8Β ΒΧ8;; 0 38ΒΧ0=24 (Β44 .5/,
Φ74Α4 Χ74Β4 Α4Β∆;ΧΒ 0Α4 ?Α>Ε43 8= Χ74 <>Α4 64=4Α0; Β4ΧΧ8=6 >5 =>=Β<>>Χ7 Ε42Χ>Α
ϑ4;3Β). FΑ>< =>Φ >= Φ4 Φ8;; 0;Φ0ΗΒ Α454Α Χ> :∃ 0Β Χ> Χ74 2>=ΧΑ>; 38ΒΧ0=24,
8=3∆243 1Η Χ74 ΒΗΒΧ4< >5 HΩΑ<0=34ΑΛΒ Ε42Χ>Α ϑ4;3Β 3. IΧ 8Β Φ4;;-:=>Φ= Χ70Χ
Χ78Β 38ΒΧ0=24 8Β Χ>?>;>6820;;Η 4≅∆8Ε0;4=Χ Χ> Χ74 E∆2;8340= >=4. F>Α 0=Η Μ 2 
,
Φ4 Β4Χ

B5 (Μ) = fΝ 2 
 : :∃ (Μ; Ν) < Ηg :
∋74 10Β82 Α4Β∆;Χ 01>∆Χ Χ74 <40Β∆Α4 >5 <4ΧΑ82 10;;Β 8Β Χ74 50<>∆Β ;>20; 3>∆-

1;8=6 2>=38Χ8>= ?Α>Ε43 1Η ∀064;-&Χ48=-∗08=64Α .23/:

T(%.1%, 3.7 F36 ):)6= 
0 b 
 8,)6) )<−78 437−8−:) ∋3278%287 9; Η0 79∋, 8,%8
∗36 %2= Μ 2 
0; Η � Η0;

jB (Μ; 2Η)j � 9 jB (Μ; Η)j :

AΒ 0;Α403Η ?>8=Χ43 >∆Χ 8= Χ74 8=ΧΑ>3∆2Χ8>=, Χ74 38ΒΧ0=24 :∃ 3>4Β 238 Β0Χ8Β5Η
Χ74 Β46<4=Χ ?Α>?4ΑΧΗ: 68Ε4= ΧΦ> ?>8=ΧΒ 0Χ 38ΒΧ0=24 Η, 8Χ 8Β 64=4Α0;;Η 8<?>ΒΒ81;4
Χ> ϑ=3 0 Χ78Α3 ?>8=Χ 0Χ 38ΒΧ0=24 Η=2 5Α>< 1>Χ7. A Φ40:4Α ?Α>?4ΑΧΗ Φ7827 Χ78Β
38ΒΧ0=24 02Χ∆0;;Η Β0Χ8Βϑ4Β 8Β 2>=Χ08=43 8= Χ74 =4ΓΧ ;4<<0, 0=3 Φ8;; 14 ∆Β45∆;
Φ74= 340;8=6 Φ8Χ7 Χ74 ?Α>?4ΑΧ84Β >5 HΩ;34Α Β?024Β C�:

L%,,! 3.8 F36 %2= Μ; Ν 2 
 %2( %2= 437−8−:) −28)+)6 ∆; ;) ∋%2 .3−2 Μ 83 Ν
;−8, % ∋96:) 
 %2( ?2( ∆+ 1 43−287 Φ0 = Μ; Φ1; Φ2; :::; Φ1 = Ν 32 
; 79∋, 8,%8

:∃ (Φ− ; Φ−+1) �
:∃ (Μ; Ν)p

∆
∗36 ≅ = 0; 2; :::; ∆� 1:

P1..&. F>Α 0=Η Μ; Ν 2 
 Φ8Χ7 :∃ (Μ; Ν) = −, 0=Η " > 0, 1Η D4ϑ=8Χ8>= 3.6 Φ4
20= 9>8= Μ 0=3 Ν Φ8Χ7 0 2∆ΑΕ4 
 (ϑ) Β0Χ8Β5Η8=6


 (0) = Ν; 
 (1) = Μ

0=3


0 (ϑ) =
4∋

,=0

�, (ϑ) (3,)
(7) ;

Φ8Χ7 j�, (ϑ)j � −+ ", 5>Α ? = 1; : : : ; Γ 0=3 j�0 (ϑ)j � (−+ ")2.
 4Χ 
− (ϑ) = 


�
7+−
1

�
, 5>Α ≅ = 0; 1; 2; :::; ∆� 1. ∋74= 
− (ϑ) Β0Χ8Βϑ4Β


− (0) = 


�
≅

∆

�
� Φ− ; 
− (1) = 


�
≅ + 1

∆

�
= Φ−+1;

8= ?0ΑΧ82∆;0Α, Φ0 = Μ 0=3 Φ1 = Ν; <>Α4>Ε4Α,


0− (ϑ) =
1

∆

4∋

,=0

�,

�
ϑ+ ≅

∆

�
(3,)
j(7) ;
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Φ8Χ7 ����
1

∆
�0

�
ϑ+ ≅

∆

����� �
�
−+ "p
∆

�2
;

����
1

∆
�,

�
ϑ+ ≅

∆

����� <
−+ "p
∆

5>Α ? = 1; : : : ; Γ; ≅ = 0; 2; :::; ∆� 1. ∋7∆Β

:∃ (Φ− ; Φ−+1) �
−+ "p
∆
;

5>Α ≅ = 0; 2; :::; ∆� 1 0=3 0=Η " > 0; Β> Φ4 0Α4 3>=4.
∋74 5Α44 ;85Χ43 Ε42Χ>Α ϑ4;3Β ,3, 8=3∆24, 8= Χ74 =48671>Α7>>3 Φ74Α4 Χ74Η 0Α4

34ϑ=43, 0 2>=ΧΑ>; 38ΒΧ0=24 : e∃ ; Φ4 Φ8;; 34=>Χ4 1Η
,B (�; Η) Χ74 2>ΑΑ4Β?>=38=6

<4ΧΑ82 10;;Β. I= Χ78Β ;85Χ43 Β4ΧΧ8=6 Φ4 20= 0;Β> 2>=Β834Α Χ74 ≅∆0Β838ΒΧ0=24 �
34ϑ=43 8= (3.6). ∋74 ΧΦ> 5∆=2Χ8>=Β Χ∆Α= >∆Χ Χ> 14 4≅∆8Ε0;4=Χ:

L%,,! 3.9 L)8 �; ,0 &) %7 −2  ,1. 3.3.  ,)6) )<−787 ,B
�
�;−

�
� ,0 79∋,

8,%8 8,) (−78%2∋) : e∃ −7 )59−:%0)28 83 8,) 59%7−(−78%2∋) � −2 (3.6) −2 ,B
�
�;−

�
;

%2( &38, %6) +6)%8)6 8,%2 8,) E9∋0−()%2 (−78%2∋); 2%1)0= 8,)6) )<−78 437−8−:)
∋3278%287 91; 92; 93 79∋, 8,%8

91 j� � �j � 92�(�; �) � : e∃(�; �) � 93�(�; �) ∗36 ):)6= �; � 2 ,B
�
�;−

�
:

∋78Β 502Χ 8Β ?Α>Ε43 8= .23/, Β44 0;Β> .6, ∃Α>?>Β8Χ8>= 22/.

3.3 S.,% ∗−.6− 1%24+32 !∀.43 +.#!++8 (.,.∋%−%.42 2/!#%2

∗4 0Α4 =>Φ 6>8=6 Χ> Α420;; Χ74 =>Χ8>= >5 03∋%00= ,313+)2)397 74%∋), 8=ΧΑ>3∆243
8= .8/. ∋78Β 8Β Χ74 01ΒΧΑ02Χ Β4ΧΧ8=6 Φ7827 Φ8;; 0;;>Φ ∆Β Χ> 0??;Η Β∆8Χ01;4 Α4Β∆;ΧΒ
01>∆Χ Β8=6∆;0Α 8=Χ46Α0;Β. %>∆67;Η Β?40:8=6, 0 ;>20;;Η 7><>64=4>∆Β Β?024 8Β 0 Β4Χ

 4=3>Φ43 Φ8Χ7 0 5∆=2Χ8>= : Φ7827 8Β 0 ≅∆0Β838ΒΧ0=24 >= 0=Η 2><?02Χ Β∆1Β4Χ,
0=3 0 <40Β∆Α4 � Φ7827 8Β ;>20;;Η 3>∆1;8=6, 8= 0 Β4=Β4 Φ7827 Φ8;; 14 <034 ?Α428Β4
74Α4 14;>Φ. I= >∆Α 2>=2Α4Χ4 Β8Χ∆0Χ8>=, >∆Α Β4Χ 8Β 4=3>Φ43 Φ8Χ7 0 5∆=2Χ8>= :
Φ7827 8Β 0 (−78%2∋) 8= 
, 0=3 0 ;>20;;Η 3>∆1;8=6 <40Β∆Α4. ∗4 20= Χ74Α45>Α4 68Ε4
Χ74 5>;;>Φ8=6 34ϑ=8Χ8>=, Φ7827 8Β Β8<?;4Α Χ70= Χ70Χ 68Ε4= 8= .8/:

D%:−)3).− 3.10 L)8 
 &) % 7)8, )2(3;)( ;−8, % (−78%2∋) :. L)8 97 ()238) &=
B (Μ; Η) 8,) 1)86−∋ &%00 3∗ ∋)28)6 Μ %2( 6%(−97 Η. ∀) ;−00 )2(3; 
 ;−8, 8,)
834303+= −2(9∋)( &= 8,) 1)86−∋.
L)8 � &) % 437−8−:) 6)+90%6 B36)0 1)%796) −2 
:
A7791) 8,)6) )<−787 %2 −2∋6)%7−2+ 7)59)2∋) f
1g11=1 3∗ &392()( 1)%796%&0)

79&7)87 3∗ 
; 79∋, 8,%8:
1)

1=1


1 = 
 (3.9)

%2( 79∋, ∗36, %2= ∆ = 1; 2; 3; ::::
(−) 8,) ∋03796) 3∗ 
1 −2 
 −7 ∋314%∋8;
(−−) 8,)6) )<−787 "1 > 0 79∋, 8,%8

fΜ 2 
 : : (Μ; Ν) < 2"1 ∗36 731) Ν 2 
1g � 
1+1; (3.10)
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(−−−) 8,)6) )<−787 C1 > 1 79∋, 8,%8 ∗36 %2= Μ 2 
1; 0 < Η � "1 ;) ,%:)

0 < � (B (Μ; 2Η)) � C1� (B (Μ; Η)) <1: (3.11)

(N38) 8,%8 ∗36 Μ 2 
1 %2( Η � "1 ;) %073 ,%:) B (Μ; 2Η) � 
1+1).
∀) ;−00 7%= 8,%8 (
; f
1g11=1 ; :; �) −7 % (<4ΧΑ82) ;>20;;Η 7><>64=4>∆Β Β?024

−∗ 8,) %&3:) %779148−327 ,30(.

A=Η Β?024 Β0Χ8Β5Η8=6 Χ74 01>Ε4 34ϑ=8Χ8>= % ∗368−36− Β0Χ8Βϑ4Β Χ74 34ϑ=8Χ8>=
>5 ;>20;;Η 7><>64=4>∆Β Β?024 68Ε4= 8= .8/. I= Χ74 5>;;>Φ8=6, Φ4 Φ8;; Α420;; Χ74
ΒΧ0Χ4<4=ΧΒ >5 Β4Ε4Α0; Α4Β∆;ΧΒ ?Α>Ε43 8= .8/.
∀4ΓΧ, Φ4 8=ΧΑ>3∆24 Χ74 =>Χ8>= >5 ;>20; Β8=6∆;0Α :4Α=4;.

A224,/3).− (K). F>Α ϑΓ43 
1;
1+1; 0=3 0 ϑΓ43 10;; B (Μ;−0) ; Φ8Χ7
Μ 2 
1 0=3 −0 < 2"1 (74=24 B (Μ;−0) � 
1+1), ;4Χ & (Μ; Ν) 14 0 <40Β∆Α01;4
5∆=2Χ8>= 34ϑ=43 5>Α Μ; Ν 2 B (Μ;−0), Μ 6= Ν.  4Χ − > 0 14 0=Η =∆<14Α Β0Χ8Β5Η8=6

9− � −0 (3.12)

5>Α Β><4 9 > 1; ;4Χ 7; 8 2 C�0 (
1+1) ; B (Μ; 91−) � 7 � B (Μ; 92−) ; B (Μ; 93−) �
8 � B (Μ; 94−) 5>Α Β><4 ϑΓ43 2>=ΒΧ0=ΧΒ 9, 2 (0; 1) ; ? = 1; :::; 4 (Χ74 ΒΗ<1>;
B1 � < � B2 <40=Β Χ70Χ < = 1 8= B1, Ε0=8Β74Β >∆ΧΒ834 B2, 0=3 Χ0:4Β Ε0;∆4Β 8=
[0; 1]). ∋74 =4Φ :4Α=4;

,& (Μ; Ν) = 7 (Μ)& (Μ; Ν) 8 (Ν) (3.13)

20= 14 2>=Β834Α43 34ϑ=43 8= Χ74 Φ7>;4 
1+1 � 
1+1 n fΜ = Νg.
∗4 =>Φ ;8ΒΧ 0 Β4Α84Β >5 ?>ΒΒ81;4 0ΒΒ∆<?Χ8>=Β >= Χ74 :4Α=4; & Φ7827 Φ8;; 14

Α420;;43 8= Χ74 5>;;>Φ8=6 Χ74>Α4<Β.
(8) ∗4 Β0Η Χ70Χ & Β0Χ8Βϑ4Β Χ74 78%2(%6( )78−1%8)7 5>Α Β><4 � 2 [0; 1) 85 Χ74

5>;;>Φ8=6 7>;3:

j& (Μ; Ν)j � A: (Μ; Ν)
�

� (B (Μ; : (Μ; Ν)))
(3.14)

5>Α Μ; Ν 2 B (Μ;−0) ; Μ 6= Ν; 0=3

j&(Μ0; Ν)�&(Μ; Ν)j+ j&(Ν; Μ0)�&(Ν; Μ)j �
B: (Μ0; Ν)

�

�(B(Μ0; :(Μ0; Ν)))

�
:(Μ0; Μ)

:(Μ0; Ν)

��

(3.15)
5>Α 0=Η Μ0; Μ; Ν 2 B (Μ;−0) Φ8Χ7 :(Μ0; Ν) > 2:(Μ0; Μ), Β><4 � > 0.
(88) ∗4 Β0Η Χ70Χ & Β0Χ8Βϑ4Β Χ74 ∋%2∋)00%8−32 4634)68= 85 Χ74 5>;;>Φ8=6 7>;3Β:
Χ74Α4 4Γ8ΒΧΒ C > 0 Β∆27 Χ70Χ 5>Α 0.4. Μ 2 B (Μ;−0) 0=3 4Ε4ΑΗ "1; "2 Β∆27 Χ70Χ

0 < "1 < "2 0=3 B� (Μ; "2) � 
1+1
�����

(


n+1;"1<�(:;;)<"2

&(Μ; Ν) :�(Ν)

�����+
�����

(


n+1;"1<�(:;<)<"2

&(Ο; Μ) :�(Ο)

����� � C;

(3.16)
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Φ74Α4 � 8Β 0=Η 59%7−(−78%2∋), 4≅∆8Ε0;4=Χ Χ> : 8= 
1+1 0=3 B� 34=>Χ4Β �-10;;Β.
∋78Β <40=Β Χ70Χ � Β0Χ8Βϑ4Β Χ74 0Γ8><Β >5 38ΒΧ0=24, 4Γ24?Χ 5>Α Χ74 ΧΑ80=6;4 8=-
4≅∆0;8ΧΗ, Φ7827 8Β Α4?;0243 1Η Χ74 Φ40:4Α

� (Μ; Ν) � 9 [� (Μ; Ο) + � (Ο; Ν)]

5>Α 0=Η Μ; Ν; Ο 2 
1+1 0=3 Β><4 2>=ΒΧ0=Χ 9 � 1; <>Α4>Ε4Α,

91: (Μ; Ν) � � (Μ; Ν) � 92: (Μ; Ν)

5>Α 0=Η Μ; Ν 0=3 Β><4 ?>Β8Χ8Ε4 2>=ΒΧ0=ΧΒ 91; 92:
(888) ∗4 Β0Η Χ70Χ & Β0Χ8Βϑ4Β Χ74 ∋32:)6+)2∋) ∋32(−8−32 85 Χ74 5>;;>Φ8=6 7>;3Β:

5>Α 0.4. Μ 2 B (Μ;−0) Β∆27 Χ70Χ B� (Μ;−) � 
1+1 Χ74Α4 4Γ8ΒΧΒ

>! (Μ) � lim
"!0

(


n+1;"<�(:;;)<!

&(Μ; Ν):�(Ν); (3.17)

Φ74Α4 � 8Β 0=Η ≅∆0Β838ΒΧ0=24 4≅∆8Ε0;4=Χ Χ> : 8= 
1+1.
A;; Χ74 5>;;>Φ8=6 Α4Β∆;ΧΒ 8= Χ78Β Β42Χ8>= 70Ε4 144= ?Α>Ε43 8= .8/. I= Β><4

ΒΧ0Χ4<4=ΧΒ Φ4 70Ε4 8=ΧΑ>3∆243 Β><4 Β;867Χ Β8<?;8ϑ20Χ8>=Β (Φ8Χ7 Α4Β?42Χ Χ> .8/)
3∆4 Χ> Χ74 502Χ Χ70Χ >∆Α Β?024 8Β 0ΒΒ∆<43 Χ> 14 <4ΧΑ82.

T(%.1%, 3.11 (∋3 !−∃ C� %23),!3%2 &.1 2)−∋4+!1 )−3%∋1!+2) L)8 &; ,& &)
%7 −2 A779148−32 (K), ;−8, & 7%8−7∗=−2+ 8,) 78%2(%6( )78−1%8)7 (−) ;−8, � = 0;
8,) ∋%2∋)00%8−32 4634)68= (−−) %2( 8,) ∋32:)6+)2∋) ∋32(−8−32 (−−−) 78%8)( %&3:).
I∗

/< (Μ) = lim
"!0

(

B(:;!);�(:;;)>"

,&(Μ; Ν)< (Ν) :�(Ν);

8,)2 ∗36 %2= Φ 2 (1;1)

k/<kLp(B(:;!)) � 9 k<kLp(B(:;!)) :

 ,) ∋3278%28 9 ()4)2(7 32 Φ; ∆ %2( 8,) ∋3278%287 3∗ & −2:30:)( −2 8,) %77914-
8−327 (&98 238 32 −).
M36)3:)6, / 7%8−7?)7 % ;)%/ 1-1 )78−1%8):

� (fΜ 2 B (Μ;−) : j/< (Μ)j > ϑg) � 9

ϑ
k<kL1(B(:;!)) ∗36 %2= ϑ > 0:

A7791) 8,%8, −2 %((−8−32, 8,) /)62)0 & 7%8−7?)7 8,) ∋32(−8−32

,> (Μ) � lim
"!0

(

�(:;;)>"

,&(Μ; Ν):�(Ν) 2 C
 (
1+1) (3.18)

∗36 731) 
 > 0 (;,)6) � −7 8,) 7%1) %44)%6−2+ −2 8,) %7791)( ∋32:)6+)2∋)
∋32(−8−32 (−−−)).  ,)2

k/<kC�(B(:;!)) � 9 k<kC�(B(:;H!)) (3.19)
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∗36 %2= 437−8−:) � < min (�; �; 
) %2( 731) ∋3278%28 ∃ > 1 −2()4)2()28 3∗ −.
(R)∋%00 8,%8 � −7 8,) HΦ0()6 )<432)28 6)0%8)( 83 8,) ∋983∆ ∗92∋8−327 ()?2−2+
,&;� %44)%67 −2 8,) 78%2(%6( )78−1%8)7 (−) %2( 
 −7 8,) 291&)6 −2 (3.18)).
 ,) ∋3278%28 9 ()4)2(7 32 �; ∆;−; 8,) ∋3278%287 −2:30:)( −2 8,) %779148−327

32 &; %2( 8,) C
 2361 3∗ ,>:

R%,!1∗ 3.12 (E23),!3%2 &.1 C�0 &4−#3).−2) A440=−2+ 8,) HΦ0()6 ∋328−29-
−8= 6)7908 83 ∗92∋8−327 < 2 C�0 (B (Μ; Η)) ;−8, Η < − ;) ∋%2 +)8 % % &392(

k/<kC�(B(:;5)) � 9 k<kC�(B(:;5))

;−8, 9 ()4)2(−2+ 32 − &98 238 32 Η.

T(%.1%, 3.13 (∋3 � ∋4 %23),!3% &.1 &1!#3).−!+ )−3%∋1!+2) L)8 &; ,& &) %7
−2 A779148−32 (K), ;−8, & 7%8−7∗=−2+ 8,) +63;8, ∋32(−8−32

0 � & (Μ; Ν) � 9

� (B (Μ; : (Μ; Ν)))
1�� (3.20)

∗36 731) � 2 (0; 1) ; 9 > 0; %2= Μ; Ν 2 B (Μ;−0) ; Μ 6= Ν: I∗

%�< (Μ) =

(

B(:;!)

,&(Μ; Ν)< (Ν) :�(Ν)

8,)2, ∗36 %2= Φ 2
�
1; 1�

�
; 14 =

1
3 � � 8,)6) )<−787 9 79∋, 8,%8

k%�<kLq(B(:;!)) � 9 k<kLp(B(:;!))
∗36 %2= < 2 ∋3 (B (Μ;−)).  ,) ∋3278%28 9 ()4)2(7 32 Φ; ∆; %2( 8,) ∋3278%287 3∗
& −2:30:)( −2 8,) %779148−327 (&98 238 32 −).

T(%.1%, 3.14 (C� %23),!3% &.1 &1!#3).−!+ )−3%∋1!+2) L)8 &; ,& &) %7 −2
A779148−32 (K), ;−8, & 7%8−7∗=−2+ (3.14) %2( (3.15) ∗36 731) � 2 (0; 1) ; � > 0.
I∗

%�< (Μ) =

(

B(:;!)

,&(Μ; Ν)< (Ν) :�(Ν);

8,)2, ∗36 %2= � < min (�; � ; �)

k%�<kC�(B(:;!)) � 9 k<kC�(B(:;H!)) :

 ,) ∋3278%28 9 ()4)2(7 32 �; ∆;− %2( 8,) ∋3278%287 3∗ & −2:30:)( −2 8,) %7-
79148−327; 8,) 291&)6 ∃ 320= ()4)2(7 32 ∆.

%40Β>=8=6 0Β 8= %4<0Α: 3.12, Φ4 20= 0;Β> Β0Η Χ70Χ 5>Α 5∆=2Χ8>=Β < 2 C�0 (B (Μ; Η))
Φ8Χ7 Η < − Χ74 5>;;>Φ8=6 1>∆=3 7>;3Β

k%�<kC�(B(:;5)) � 9 k<kC�(B(:;5))

Φ8Χ7 9 34?4=38=6 >= − 1∆Χ =>Χ >= Η.
∋> ΒΧ0Χ4 Χ74 2><<∆Χ0Χ>Α Χ74>Α4<Β Χ70Χ Φ4 Φ8;; =443, Φ4 70Ε4 ϑΑΒΧ Χ> Α420;;

Χ74 5>;;>Φ8=6
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D%:−)3).− 3.15 (L.#!+ B(∗ !−∃ 1(∗ 2/!#%2) L)8 (
; f
1g11=1 ; :; �) &)
% 03∋%00= ,313+)2)397 74%∋). F36 %2= ∗92∋8−32 Κ 2 ∋1 (
1+1), %2( Η > 0, ;−8,
Η � "1; 7)8

��8;
n;
n+1(Η) = sup
7�5

sup
:02
n

1

� (B (Μ0; ϑ))

(

B(:0;7)

jΚ(Μ)� ΚB j :� (Μ) ;

;,)6) ΚB = �(B (Μ0; ϑ))
�1 &

B(:0;7)
Κ. ∀) 7%= 8,%8 Κ 2 B(∗/2( (
1;
1+1) −∗

kΚkBMOloc(
n;
n+1)
= sup

5�"n
��8;
n;
n+1 (Η) <1:

∀) 7%= 8,%8 Κ 2 1(∗/2( (
1;
1+1) −∗ Κ 2 B(∗/2( (
1;
1+1) %2(

��8;
n;
n+1(Η)! 0 %7 Η ! 0:

 ,) ∗92∋8−32 ��8;
n;
n+1 ;−00 &) ∋%00)( 1(∗ 03∋%0 13(9097 3∗ Κ −2 (
1;
1+1).

∀>Χ4 Χ70Χ 8= Χ74 ?Α4Ε8>∆Β 34ϑ=8Χ8>= Φ4 8=Χ46Α0Χ4 Κ >Ε4Α 10;;Β 24=Χ4Α43 0Χ
?>8=ΧΒ >5 
1 0=3 4=2;>Β43 8= 
1+1. ∋78Β 8Β 0 508Α;Η =0Χ∆Α0; 34ϑ=8Χ8>= 85 Φ4 Φ0=Χ
Χ> 0Ε>83 8=Χ46Α0Χ8=6 >Ε4Α Χ74 −28)67)∋8−32 B (Μ0; ϑ) \ 
1:

T(%.1%, 3.16 (C.,,43!3.12 .& +.#!+ 2)−∋4+!1 )−3%∋1!+2) L)8 &; ,& &) %7
−2 A779148−32 (K), ;−8, & 7%8−7∗=−2+ 8,) 78%2(%6( )78−1%8)7 (−) ;−8, � = 0; 8,)
∋%2∋)00%8−32 4634)68= (−−) %2( 8,) ∋32:)6+)2∋) ∋32(−8−32 (−−−). I∗

/< (Μ) = lim
"!0

(

B(:;!);�(:;;)>"

,&(Μ; Ν)< (Ν) :�(Ν)

%2(, ∗36 7 2 B(∗/2( (
1+2;
1+3) ; ;) 7)8

C&< (Μ) = / (7<) (Μ)� 7 (Μ)/< (Μ) ;

8,)2 ∗36 %2= Φ 2 (1;1) 8,)6) )<−787 9 > 0 79∋, 8,%8

kC&<kLp(B(:;!)) � 9 k7kBMOloc(
n+2;
n+3)
k<kLp(B(:;!)) :

M36)3:)6, −∗ 7 2 1(∗/2( (
1+2;
1+3) ∗36 %2= " > 0 8,)6) )<−787 Η > 0 79∋,
8,%8 ∗36 %2= < 2 ∋3 (B (Μ; Η)) ;) ,%:)

kC&<kLp(B(:;5)) � " k<kLp(B(:;5)) :

 ,) ∋3278%28 9 ()4)2(7 32 Φ; ∆ %2( 8,) ∋3278%287 3∗ & −2:30:)( −2 8,) %77914-
8−327 (&98 238 32 −); 8,) ∋3278%28 Η %073 ()4)2(7 32 8,) 1(∗/2( (
1+2;
1+3)
13(9097 3∗ 7.

T(%.1%, 3.17 (P.2)3)5% #.,,43!3.12 .& +.#!+ &1!#3).−!+ )−3%∋1!+2) L)8

&; ,& &) %7 −2 A779148−32 (K), ;−8, & 7%8−7∗=−2+ 8,) +63;8, ∋32(−8−32 (3.20)
∗36 731) � > 0: I∗

%�< (Μ) =

(

B(:;!)

,&(Μ; Ν)< (Ν) :�(Ν)
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%2(, ∗36 7 2 B(∗/2( (
1+2;
1+3), ;) 7)8

C�;&< (Μ) =

(

B(:;!)

,&(Μ; Ν) j7 (Μ)� 7 (Ν)j < (Ν) :�(Ν) (3.21)

8,)2, ∗36 %2= Φ 2
�
1; 1�

�
; 14 =

1
3 � � 8,)6) )<−787 9 79∋, 8,%8

kC�;&<kLq(B(:;!)) � 9 k7kBMOloc(
n+2;
n+3)
k<kLp(B(:;!))

∗36 %2= < 2 ∋3 (B (Μ;−)) :
M36)3:)6, −∗ 7 2 1(∗/2( (
1+2;
1+3) ∗36 %2= " > 0 8,)6) )<−787 Η > 0 79∋,

8,%8 ∗36 %2= < 2 ∋3 (B (Μ; Η)) ;) ,%:)
kC�;&<kLq(B(:;5)) � " k<kLp(B(:;5)) :

 ,) ∋3278%28 9 ()4)2(7 32 Φ; �; ∆ %2( 8,) ∋3278%287 −2:30:)( −2 8,) %779148−327
32 & (&98 238 32 −); 8,) ∋3278%28 Η %073 ()4)2(7 32 8,) 1(∗/2( (
1+2;
1+3)
13(9097 3∗ 7.

T(%.1%, 3.18 (P.2)3)5% #.,,43!3.12 .& −.−2)−∋4+!1 )−3%∋1!+2) L)8 &; ,&
&) %7 −2 A779148−32 (K), ;−8, & 7%8−7∗=−2+ ∋32(−8−32 (3.15) ;−8, � = 0: A7791)
8,%8 8,) 34)6%836

/< (Μ) =

(

B(:;!)

,&(Μ; Ν)< (Ν) :�(Ν)

−7 ∋328−29397 32 ∋3 (B (Μ;−)) ∗36 %2= Φ 2 (1;1). F36 7 2 B(∗/2( (
1+2;
1+3) ;
7)8

C&< (Μ) =

(

B(:;!)

,&(Μ; Ν) j7 (Μ)� 7 (Ν)j < (Ν) :�(Ν); (3.22)

8,)2
kC&<kLp(B(:;!)) � 9 k7kBMOloc(
n+2;
n+3)

k<kLp(B(:;!))
∗36 %2= < 2 ∋3 (B (Μ;−)) ; Φ 2 (1;1).
M36)3:)6, −∗ 7 2 1(∗/2( (
1+2;
1+3) ∗36 %2= " > 0 8,)6) )<−787 Η > 0 79∋,

8,%8 ∗36 %2= < 2 ∋3 (B (Μ; Η)) ;) ,%:)
kC&<kLp(B(:;5)) � " k<kLp(B(:;5)) :

 ,) ∋3278%28 9 ()4)2(7 32 ∆; 8,) ∋3278%287 −2:30:)( −2 8,) %779148−327 32 &;
%2( 8,) ∋3-∋3 2361 3∗ 8,) 34)6%836 / (&98 238 )<40−∋−80= 32 −); 8,) ∋3278%28 Η
%073 ()4)2(7 32 8,) 1(∗/2( (
1+2;
1+3) 13(9097 3∗ 7.

R%,!1∗ 3.19 I2 8,) 78%8)1)287 3∗  ,)36)17 3.11, 3.13, 3.14, 3.16, 3.17, 3.18
;) ;638) 8,%8 8,) ∋3278%28 ()4)2(7 32 8,) /)62)0 320= 8,639+, 8,) ∋3278%287
−2:30:)( −2 8,) %779148−327. I2 8,) ∗3003;−2+ ;) ;−00 2))( 731) %((−8−32%0
−2∗361%8−32 %&398 8,−7 ()4)2()2∋). A 78%2(%6( 79&0−2)%6−8= %6+91)28 %003;7
97 83 7%= 8,%8 −∗, ∗36 )<%140), 396 %779148−327 32 8,) /)62)0 %6) (3.14), (3.15),
(3.16), 8,)2 8,) ∋3278%28 −2 396 944)6 &392( ;−00 ,%:) 8,) ∗361

9 � (A+B + C)
;,)6) A;B;C %6) 8,) ∋3278%287 %44)%6−2+ −2 (3.14), (3.15), (3.16), %2( 9 (3)7
238 ()4)2( 32 8,) /)62)0.
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∗4 Φ8;; 0;Β> =443 Χ74 =>Χ8>= >5 03∋%0 1%<−1%0 34)6%836 8= ;>20;;Η 7><>64-
=4>∆Β Β?024Β.

D%:−)3).− 3.20 F−< 
1;
1+1 %2(, ∗36 %2= < 2 ∋1 (
1+1) ()?2) 8,) ;>20;
<0Γ8<0; 5∆=2Χ8>=

(
n;
n+1< (Μ) = sup
5�5n

1

� (B (Μ; Η))

(

B(:;5)

j< (Ν)j :� (Ν) ∗36 Μ 2 
1

;,)6) Η1 = 2"1=5.

T(%.1%, 3.21 L)8 < &) % 1)%796%&0) ∗92∋8−32 ()?2)( 32 
1+1:  ,) ∗3003;−2+
,30(:
(%) I∗ < 2 ∋3 (
1+1) ∗36 731) Φ 2 [1;1], 8,)2 (
n;
n+1< −7 ?2−8) %01378

):)6=;,)6) −2 
1;
(&) −∗ < 2 ∋1 (
1+1), 8,)2 ∗36 ):)6= ϑ > 0,

�
��
Μ 2 
1 :

�
(
n;
n+1<

�
(Μ) > ϑ

	�
� 91
ϑ

(


n+1

j< (Ν)j :� (Ν) ;

(∋) −∗ < 2 ∋3 (
1+1), 1 < Φ � 1, 8,)2 (
n;
n+1< 2 ∋3 (
1) %2(


(
n;
n+1<




Lp(
n)

� 91;3 k<kLp(
n+1) :

F8=0;;Η, Φ4 =443 Χ> 38Β2∆ΒΒ 0= 8=Χ46Α0; 270Α02Χ4Α8Ι0Χ8>= >5 HΩ;34Α 2>=Χ8=∆>∆Β,
0=0;>6>∆Β Χ> Χ74 >=4 2;0ΒΒ820;;Η 8=ΧΑ>3∆243 1Η C0<?0=0Χ> .10/, 8= >∆Α 01ΒΧΑ02Χ
0=3 ;>20; Β4ΧΧ8=6.

D%:−)3).− 3.22 (L.#!+ C!,/!−!3. 2/!#%2) L)8 (
; f
1g11=1 ; :; �) &) % 03-
∋%00= ,313+)2)397 74%∋). F36 %2= ∗92∋8−32 Κ 2 ∋1 (
1+1) ; � 2 (0; 1) ; 0)8

(�;
n;
n+1Κ = sup
:2
n;5�"n

inf
(2R

1

Η� jB (Μ; Η)j

(

B(:;5)

jΚ (Ν)� 9j :� (Ν) :

S)8
L� (
1;
1+1) =

�
Κ 2 ∋1 (
1+1) :(�;
n;
n+1Κ <1

	
:

I5 Κ 2 C� (
1+1) Χ74= 2;40Α;Η
(�;
n;
n+1Κ � jΚjC�(
n+1)

:

A 2>=Ε4ΑΒ4 Α4Β∆;Χ 8Β 2>=Χ08=43 8= Χ74 5>;;>Φ8=6:

T(%.1%, 3.23 F36 %2= Κ 2 L� (
1;
1+1) ; 8,)6) )<−787 % ∗92∋8−32 Κ�; )59%0
83 Κ %.). −2 
1;79∋, 8,%8 Κ

� &)032+7 83 C� (
1). N%1)0=, ∗36 %2= Μ; Ν 2 
1
;−8, 2: (Μ; Ν) � "1 ;) ,%:)

jΚ� (Μ)� Κ� (Ν)j � 9(�;
n;
n+1Κ: (Μ; Ν)
�
: (3.23)

I∗ 2: (Μ; Ν) > "1 8,)2

jΚ� (Μ)� Κ� (Ν)j � 9
1
(�;
n;
n+1Κ+ kΚkL1(
n+1)

2
: (Μ; Ν)

�
: (3.24)

 ,) ∋3278%28 9 −2 (3.23), (3.24) ()4)2(7 32 C1 &98 238 32 "1.
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A//+)#!3).− .& 3(% !∀231!#3 3(%.18 3. .41 2%33)−∋
 4ΧΛΒ =>Φ 4Γ?;08= Χ74 Φ0Η 7>Φ Χ78Β 01ΒΧΑ02Χ Β4ΧΧ8=6 Φ8;; 14 ∆Β43 Χ> 34Β2Α814

>∆Α 2>=2Α4Χ4 Β8Χ∆0Χ8>=. ∋74 0-?Α8>Α8 4ΒΧ8<0Χ4Β Φ4 Φ8;; ?Α>Ε4 8= ∋74>Α4<Β 2.1, 2.2,
8=Ε>;Ε4 0 ϑΓ43 Β∆13><08= 
0 b 
: F8Γ >=24 0=3 5>Α 0;; Χ78Β 
0: F>Α 0=Η Μ 2 
0
Φ4 20= ?4Α5>Α< 8= 0 Β∆8Χ01;4 =48671>Α7>>3 >5 Μ Χ74 ;85Χ8=6 0=3 0??Α>Γ8<0Χ8>=
?Α>243∆Α4 0Β 4Γ?;08=43 8= Ρ 3.1.  4Χ � = (Μ; 0) 2 RN 0=3 ,B

�
�;−

�
14 0Β 8=

 4<<0 3.9. ∗4 20= Χ74= 27>>Β4

,
 = ,B
�
�;−

�
; ,
. = ,B

�
�;

Α−

Α + 1

�
5>Α Α = 1; 2; 3; :::

BΗ Χ74 ?Α>?4ΑΧ84Β >5 : e∃ Χ70Χ Φ4 70Ε4 ;8ΒΧ43 8= Ρ 3.2, 0=3 ?0ΑΧ82∆;0Α;Η ∋74>Α4<
3.7, �

,
;
1
,
.
21
.=1

; : e∃ ; :�
�

8Β 0 <4ΧΑ82 ;>20;;Η 7><>64=4>∆Β Β?024. ∋74 5∆=2Χ8>= � (�; �) = k�(�; �)k Φ8;;
?;0Η Χ74 Α>;4 >5 Χ74 ≅∆0Β838ΒΧ0=24 0??40Α8=6 8= 2>=38Χ8>=Β (3.16) 0=3 (3.17), 8=
Ε84Φ >5  4<<0 3.9. ∋78Β Φ8;; 14 Χ74 10Β82 Β4ΧΧ8=6 Φ74Α4 Φ4 Φ8;; 0??;Η Β8=6∆;0Α
8=Χ46Α0; 4ΒΧ8<0Χ4Β.
I= Χ74 Β?024 >5 Χ74 >Α868=0; Ε0Α801;4Β (
; :∃ ; :Μ) ; 8=ΒΧ403, Φ4 Φ8;; =>Χ 0??;Η

Β8=6∆;0Α 8=Χ46Α0; 4ΒΧ8<0Χ4Β, 1∆Χ Φ4 Φ8;; ∆Β4 0608= Χ74 ;>20; 3>∆1;8=6 2>=38Χ8>=,
Φ74= Φ4 Φ8;; 4ΒΧ01;8Β7 Β><4 8<?>ΑΧ0=Χ ?Α>?4ΑΧ84Β >5 5∆=2Χ8>= Β?024Β C� 0=3
1(∗ (Β44 Ρ 3.4). ∀>Χ4 Χ70Χ, 85 
. 8Β 0= 8=2Α40Β8=6 Β4≅∆4=24 >5 3><08=Β Φ8Χ7

. b 
.+1 b 
; Φ4 20= Β0Η Χ70Χ

(
; f
.g. ; :∃ ; :Μ)

8Β 0 <4ΧΑ82 ;>20;;Η 7><>64=4>∆Β Β?024.

3.4 F4−#3).− 2/!#%2

∋74 08< >5 Χ78Β Β42Χ8>= 8Β ΧΦ>5>;3. F8ΑΒΧ, Φ4 Φ0=Χ Χ> 34ϑ=4 Χ74 10Β82 5∆=2Χ8>=
Β?024Β Φ4 Φ8;; =443 0=3 ?>8=Χ >∆Χ Χ748Α <08= ?Α>?4ΑΧ84Β; Β42>=3, Φ4 Φ0=Χ Χ>
ϑ=3 0 Α4;0Χ8>= 14ΧΦ44= 5∆=2Χ8>= Β?024Β 34ϑ=43 >Ε4Α 0 10;; B (Μ; Η) � 
 � R1

0=3 >= Χ74 2>ΑΑ4Β?>=38=6 ;85Χ43 10;; ,B
�
�; Η
�
� RN : !>Α4 ?Α428Β4;Η, Φ4 =443

Χ> :=>Φ Χ70Χ < (Μ) 14;>=6Β Χ> Β><4 5∆=2Χ8>= Β?024 >= B 85 0=3 >=;Η ,< (Μ; >) =
< (Μ) 14;>=6Β Χ> Χ74 0=0;>6>∆Β 5∆=2Χ8>= Β?024 >= ,B: ∋78Β ;0ΒΧ 502Χ Α4;84Β >= Χ74
5>;;>Φ8=6 :=>Φ= Α4Β∆;Χ (Β44 .23,  4<<0Β 3.1 0=3 3.2, ?. 139/):

T(%.1%, 3.24 L)8 97 ()238) &= B; ,B 8,) &%007 ()?2)( ;−8, 6)74)∋8 83 :∃ −2 

%2( : e∃ −2 ,
; 6)74)∋8−:)0=.  ,)6) )<−78 ∋3278%287 �0 2 (0; 1) ; Η0; 91; 92 > 0 79∋,
8,%8

91ΛΕΒ
�
,B5 (Μ; >)

�
� ΛΕΒ (B5 (Μ)) � ΛΕΒ

1
>0 2 RN�1 : (Ο; >0) 2 ,B5 (Μ; >)

2
(3.25)

� 92ΛΕΒ
�
,B5 (Μ; >)

�
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∗36 ):)6= Μ 2 
; Ο 2 B�05 (Μ) %2( Η � Η0. (H)6) Α:30Β 78%2(7 ∗36 8,) L)&)7+9)
1)%796) −2 8,) %446346−%8) (−1)27−32, Μ ()238)7 % 43−28 −2 R1 %2( > % 43−28 −2
RN�1). M36) 46)∋−7)0=, 8,) ∋32(−8−32 Ο 2 B�05 (Μ) −7 2))()( 320= ∗36 8,) :%0−(−8=
3∗ 8,) ?678 −2)59%0−8= −2 (3.25). M36)3:)6:

: e∃ ((Μ; >) ; (Μ
0; >0)) � :∃ (Μ; Μ0) : (3.26)

F−2%00=, 8,) 463.)∋8−32 3∗ 8,) 0−∗8)( &%00 ,B5 (Μ; >) 32 R1 −7 .978 8,) &%00 B (Μ; Η) ;
%2( 8,−7 463.)∋8−32 −7 3283.

A 2>=Β4≅∆4=24 >5 Χ74 01>Ε4 Χ74>Α4< 8Β Χ74 5>;;>Φ8=6

C.1.++!18 3.25 F36 %2= 437−8−:) ∗92∋8−32 = ()?2)( −2 B5 (Μ) � 
; Η � Η0, 32)
,%7

91
jB�05 (Μ)j

(

B�0r
(:)

= (Ν) :Ν � 1��� ,B5 (Μ; >)
���

(

eBr(:;+)

= (Ν) :Ν:>0 � 92
jB5 (Μ)j

(

Br(:)

= (Ν) :Ν:

(3.27)
;,)6) �0 −7 8,) ∋3278%28 −2  ,)36)1 3.24.

P1..&. BΗ (3.25) 0=3 Χ74 ;>20;;Η 3>∆1;8=6 2>=38Χ8>=, Φ4 70Ε4, 5>Α Β><4 ϑΓ43
�0 < 1 0Β 8= ∋74>Α4< 3.24,

1��� ,B5 (Μ; >)
���

(

eBr(:;+)

= (Ν) :Ν:>0

=
1��� ,B5 (Μ; >)

���

(

Br(:)

= (Ν) :Ν

(

+02RN�n:(;;+0)2 eBr(:;+)

:>0

� 91��� ,B5 (Μ; >)
���

(

B�0r
(:)

��� ,B5 (Μ; >)
���

jB5 (Μ)j
= (Ν) :Ν

� 9

jB�05 (Μ)j

(

B�0r
(:)

= (Ν) :Ν

Φ74Α4 8= Χ74 ;0ΒΧ 8=4≅∆0;8ΧΗ Φ4 4Γ?;>8Χ43 Χ74 3>∆1;8=6 2>=38Χ8>= jB5 (Μ)j �
9 jB�05 (Μ)j ; Φ7827 7>;3Β 1420∆Β4 B5 (Μ) � 
 0=3 Η � Η0: ∋74 ?Α>>5 >5 Χ74
Β42>=3 8=4≅∆0;8ΧΗ 8= (3.27) 8Β 0=0;>6>∆Β 1∆Χ 40Β84Α, Β8=24 8Χ 8=Ε>;Ε4Β Χ74 Β42>=3
8=4≅∆0;8ΧΗ 8= (3.25), Φ7827 3>4Β =>Χ Α4≅∆8Α4 Χ74 2>=38Χ8>= Ν 2 B�05 (Μ) :

3.4.1 H=+∃%1 2/!#%2

D%:−)3).− 3.26 (H=+∃%1 2/!#%2) F36 %2= 0 < � < 1; Κ : 
! R, 0)8:

jΚjC�
X
(
) = sup

� jΚ (Μ)� Κ (Ν)j
:∃ (Μ; Ν)

� : Μ; Ν 2 
; Μ 6= Ν
�
;

kΚkC�
X
(
) = jΚjC�(
) + kΚkL1(
) ;

C�∃ (
) =
1
Κ : 
! R : kΚkC�(
) <1

2
:

22



F36 %2= 437−8−:) −28)+)6 Α %2( 0 < � < 0, 0)8

C.;�∃ (
) =
1
Κ : 
! R : kΚkCk;�(
) <1

2
;

;−8,

kΚkCk;�
X

(
) =
.∋

jIj=1

4∋

−i=0

k3−1 : : : 3−lΚkC�(
) + kΚkC�(
)

;,)6) % = (≅1; ≅2; :::; ≅/).

∀) ;−00 7)8 C�∃;0 (
) %2( C
.;�
∃;0 (
) ∗36 8,) 79&74%∋)7 3∗ C

�
∃ (
) %2( C

.;�
∃ (
)

3∗ ∗92∋8−327 ;,−∋, %6) ∋314%∋80= 7944368)( −2 
, %2( 7)8 C�
e∃

�
,

�
, C.;�

e∃

�
,

�
,

C�
e∃;0

�
,

�
%2( C.;�

e∃;0

�
,

�
∗36 8,) %2%03+397 ∗92∋8−32 74%∋)7 3:)6 ,
 ()?2)( &= 8,)

,3,≅7.
∀) ;−00 %073 ;6−8) C.;0∃ (
) 83 ()238) 8,) 74%∋) 3∗ ∗92∋8−327 ;−8, ∋328−29397

3-()6−:%8−:)7 94 83 ;)−+,8 Α:
F−2%00=, ;,)2):)6 8,)6) −7 23 6−7/ 3∗ ∋32∗97−32, ;) ;−00 (634 8,) −2()< 3,

;6−8−2+ C� (
) −278)%( 3∗ C�∃ (
), %2( 73 32.

∋74 =4ΓΧ ∃Α>?>Β8Χ8>=, 030?Χ43 5Α>< .4, ∃Α>?>Β8Χ8>= 4.2/, 2>;;42ΧΒ Β><4 ?Α>?-
4ΑΧ84Β >5 C� 5∆=2Χ8>=Β Φ7827 Φ8;; 14 ∆Β45∆; ;0Χ4Α. ∗4 Φ8;; 0??;Η Χ74Β4 ?Α>?4ΑΧ84Β
<08=;Η 8= Χ74 2>=Χ4ΓΧ >5 ;85Χ43 Ε0Α801;4Β, Χ70Χ 8Β 5>Α Χ74 Ε42Χ>Α ϑ4;3Β ,3, >= 0 10;;
,B
�
�;−

�
:

P1./.2)3).− 3.27 L)8 B (Μ; 2−) &) % ?<)( &%00 ;,)6) 8,) :)∋836 ?)0(7 3, %2(
8,) ∋328630 (−78%2∋) : %6) ;)00 ()?2)(.
(−) F36 %2= � 2 (0; 1) ; ∗36 %2= < 2 C1 (B (Μ; (1 + �)−)), 32) ,%7

j<(Μ)� <(Ν)j � 9

�
:∃ (Μ; Ν)

 
4∋

,=1

sup
B(:;(1+�)!)

j3,< j+ :∃ (Μ; Ν) sup
B(:;(1+�)!)

j30< j
!

(3.28)
∗36 %2= Μ; Ν 2 B (Μ;−).
I∗ < 2 C10 (B (Μ;−)), 32) ∋%2 7−140= ;6−8), ∗36 %2= Μ; Ν 2 B (Μ;−) ;

j<(Μ)� <(Ν)j � 9:∃ (Μ; Ν)
 

4∋

,=1

sup
B(:;!)

j3,< j+ :∃ (Μ; Ν) sup
B(:;!)

j30< j
!
: (3.29)

I2 4%68−∋90%6, ∗36 < 2 C10 (B (Μ;−) ;

j< jC�(B(:;!)) � 9−1�� �
 

4∋

,=1

sup
B(:;!)

j3,< j+− sup
B(:;!)

j30< j
!
: (3.30)

H)6) C1 (%2( C10 ) 78%2(7 ∗36 8,) ∋0%77−∋%0 74%∋) 3∗ (∋314%∋80= 7944368)() ∋32-
8−293970= (−∆)6)28−%&0) ∗92∋8−327.  ,) %779148−32 < 2 C1 (36 C10 ) ∋%2 &)
6)40%∋)( &= < 2 C2∃ (36 C2∃;0, 6)74)∋8−:)0=).
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(−−) F36 %2= ∋3940) 3∗ ∗92∋8−327 <; = 2 C�∃ (B (Μ;−)), 32) ,%7

j<=jC�
X
(B(:;!)) � j< jC�

X
(B(:;!)) k=kL1(B(:;!)) + j=jC�

X
(B(:;!)) k<kL1(B(:;!))

%2(
k<=kC�

X
(B(:;!)) � 2 k<kC�

X
(B(:;!)) k=kC�

X
(B(:;!)) : (3.31)

M36)3:)6, −∗ &38, < %2( = :%2−7, %8 0)%78 %8 % 43−28 3∗ B (Μ;−), 8,)2

j<=jC�
X
(B(:;!)) � 9−� j< jC�

X
(B(:;!)) j=jC�

X
(B(:;!)) : (3.32)

(−−−) L)8 B (Μ,; Η) (? = 1; 2; � � � ; Α) &) % ?2−8) ∗%1−0= 3∗ &%007 3∗ 8,) 7%1)
6%(−97 Η, 79∋, 8,%8 [.,=1B (Μ,; 2Η) � 
.  ,)2 ∗36 %2= < 2 C�∃(
),

k<kC�
X
([ki=1B(:i;5))

� 9
.∋

,=1

k<kC�
X
(B(:i;25))

(3.33)

;−8, 9 ()4)2(−2+ 32 8,) ∗%1−0= 3∗ &%007, &98 238 32 < .
(−:)  ,)6) )<−787 Η0 > 0 79∋, 8,%8 ∗36 %2= < 2 C2;�∃;0 (B (Μ;−)) %2( 0 < Η � Η0,

;) ,%:) 8,) ∗3003;−2+ −28)6430%8−32 −2)59%0−8=:

k30<kL1(B(:;!)) � Η�=2 j30< jC�
X
(B(:;!)) +

2

Η
k<kL1(B(:;!)) : (3.34)

P1..&. ∋74 ?Α>>5 5>Α (88)-(888) 8Β Β8<8;0Α Χ> Χ70Χ 8= .4, ∃Α>?>Β8Χ8>= 4.2/, 74=24
Φ4 Φ8;; >=;Η ?Α>Ε4 (8) 0=3 (8Ε).
∋7Α>∆67>∆Χ Χ74 ?Α>>5 Φ4 Φ8;; ΦΑ8Χ4 : 5>Α :∃ :
(8) F8Γ � 2 (0; 1) 0=3 ;4Χ −0 = (1 + �)−:  4Χ ∆Β 38ΒΧ8=6∆8Β7 ΧΦ> 20Β4Β:
(0) : (Μ; Ν) < −0 �ma (: (Μ; Μ) ; : (Μ; Ν)) :  4Χ " > 0 Β∆27 Χ70Χ 0;Β>

: (Μ; Ν) + " < −0 �ma (: (Μ; Μ) ; : (Μ; Ν)) ; (3.35)

74=24 1Η D4ϑ=8Χ8>= 3.6 Χ74Α4 4Γ8ΒΧΒ 0 2∆ΑΕ4 '(ϑ), Β∆27 Χ70Χ '(0) = Μ; '(1) = Ν,
0=3

'0(ϑ) =
4∋

,=0

�,(ϑ) (3,)'(7)

Φ8Χ7 j�,(ϑ)j � (: (Μ; Ν) + ") ; j�0(ϑ)j � (: (Μ; Ν) + ")2 5>Α ? = 1; : : : Γ. BΗ (3.35),

B (Μ; : (Μ; Ν) + ") � B (Μ;−0)

74=24 4Ε4ΑΗ ?>8=Χ 
 (ϑ) 5>Α ϑ 2 (0; 1) 14;>=6Β Χ> B (Μ;−0) : ∋74= Φ4 20= ΦΑ8Χ4:

j<(Μ)� <(Ν)j =
����
( 1

0

:

:ϑ
<('(ϑ)) :ϑ

���� =
�����

( 1

0

4∋

,=0

�,(ϑ) (3,<)'(7) :ϑ

�����

� (: (Μ; Ν) + ")
4∋

,=1

sup
B(:;!0)

j3,< j + (: (Μ; Ν) + ")2 sup
B(:;!0)

j30< j ;
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0=3 Β8=24 " 8Β 0Α18ΧΑ0ΑΗ Χ78Β 8<?;84Β

j<(Μ)� <(Ν)j � : (Μ; Ν)
(

4∋

,=1

sup
B(:;!0)

j3,< j + : (Μ; Ν) sup
B(:;!0)

j30< j
)
:

∀>Χ4 Χ70Χ Χ74 01>Ε4 0Α6∆<4=Χ Α4;84Β >= Χ74 38Θ4Α4=Χ8018;8ΧΗ >5 < 0;>=6 Χ74 2∆ΑΕ4
'; Φ7827 7>;3Β ∆=34Α 48Χ74Α Χ74 0ΒΒ∆<?Χ8>= < 2 C1 (B (Μ; (1 + �)−)) >Α < 2
C2∃ (B (Μ; (1 + �)−)) (Β8=24 30 70Β Φ4867Χ ΧΦ>).
(1)  4Χ =>Φ : (Μ; Ν) � −0 �ma (: (Μ; Μ) ; : (Μ; Ν)) ; 0=3 ;4Χ ∆Β ΦΑ8Χ4

j<(Μ)� <(Ν)j � j<(Μ)� < (Μ)j+ j< (Μ)� <(Ν)j = A+B:
E027 >5 Χ74 Χ4Α<Β A;B 20= 14 1>∆=343 1Η 0= 0Α6∆<4=Χ Β8<8;0Α Χ> Χ70Χ 8= 20Β4
(0) (Β8=24 1>Χ7 Μ 0=3 Ν 20= 14 9>8=43 Χ> Μ 1Η 2∆ΑΕ4Β 2>=Χ08=43 8= B (Μ;−)) ,
64ΧΧ8=6

j<(Μ)� <(Ν)j � [: (Μ; Μ) + : (Ν; Μ)]
(

4∋

,=1

sup
B(:;!)

j3,< j + [: (Μ; Μ) + : (Ν; Μ)] sup
B(:;!)

j30< j
)
:

∀>Φ 8Χ 8Β 4=>∆67 Χ> Β7>Φ Χ70Χ

: (Μ; Μ) + : (Ν; Μ) � 9

�
: (Μ; Ν) :

∋> Β7>Φ Χ78Β, ;4Χ Η � ma (: (Μ; Μ) ; : (Μ; Ν)). ∋74=:

: (Μ; Μ) + : (Ν; Μ) � 2Η � 2

�
(−0 � Η) � 2

�
: (Μ; Ν)

Φ74Α4 Χ74 Β42>=3 8=4≅∆0;8ΧΗ 7>;3Β Β8=24 Η < − 0=3 −0 = (1 + �)−; 0=3 Χ74
;0ΒΧ 8=4≅∆0;8ΧΗ 8Β 0ΒΒ∆<?Χ8>= (1). ∋78Β 2><?;4Χ4Β Χ74 ?Α>>5 >5 (3.28), Φ7827
8<<4380Χ4;Η 8<?;84Β (3.29) 0=3 (3.30).
 4Χ ∆Β =>Φ ?Α>Ε4 (Ε8).  4Χ < 2 C2;�∃;0 (B (Μ;−)). F>Α 0=Η Μ 2 B (Μ;−) ; ;4Χ


(ϑ) 14 Χ74 2∆ΑΕ4 Β∆27 Χ70Χ


0(ϑ) = (30)
(7) ; 
(0) = Μ:

∋78Β 
 (ϑ) Φ8;; 14 34ϑ=43 0Χ ;40ΒΧ 5>Α ϑ 2 [0; Η0] Φ74Α4 Η0 > 0 8Β 0 =∆<14Α >=;Η
34?4=38=6 >= B (Μ;−) 0=3 30: ∋74=, 5>Α 0=Η Η 2 (0; Η0) Φ4 20= ΦΑ8Χ4, 5>Α Β><4
� 2 (0; 1):

(30<) (Μ) = (30<) (
(0)) =
:

:ϑ
[< (
(ϑ))]7=0

=
:

:ϑ
[< (
(ϑ))]7=0 � [< (
(Η))� < (
(0))] + [< (
(Η))� < (
(0))]

=
:

:ϑ
[< (
(ϑ))]7=0 � Η

:

:ϑ
[< (
(ϑ))]7=�5 + [< (
(Η))� < (
(0))]

=
:

:ϑ
[< (
(ϑ))]7=0 (1� Η) + Η

�
:

:ϑ
[< (
(ϑ))]7=0 �

:

:ϑ
[< (
(ϑ))]7=�5

�
+

+ [< (
(Η))� < (
(0))]
= (1� Η) (30<) (Μ) + Η [(30<) (
(0))� (30<) (
(�Η))]
+ [< (
(Η))� < (
(0))] ;
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74=24

Η j(30<) (Μ)j � Η j(30<) (
(0))� (30<) (
(�Η))j+ 2 k<kL1

= Η
(�Η)

�=2 j(30<) (
(0))� (30<) (
(�Η))j
(�Η)

�=2
+ 2 k<kL1 :

&8=24, 1Η 34ϑ=8Χ8>= >5 
 0=3 :; :(
(0); 
(�Η)) � (�Η)1=2 ;

j(30<) (Μ)j � (�Η)�=2 j30< jC�
X
(B(:;!)) +

2

Η
k<kL1(B(:;!))

� Η�=2 j30< jC�
X
(B(:;!)) +

2

Η
k<kL1(B(:;!)) ;

0=3 Φ4 0Α4 3>=4.
∀4ΓΧ, Φ4 0Α4 6>8=6 Χ> ΒΧ∆3Η Χ74 Α4;0Χ8>= 14ΧΦ44= Χ74 Β?024Β C�∃ (B!) 0=3

C�
e∃

�
,B!
�
:

P1./.2)3).− 3.28 L)8 ,B
�
�;−

�
&) % 0−∗8)( &%00 (%7 ()7∋6−&)( %8 8,) )2( 3∗ Ε

3.3), ;−8, � = (Μ; 0) : I∗ < −7 % ∗92∋8−32 ()?2)( −2 B (Μ;−) %2( ,< (Μ; >) = < (Μ)
−7 6)+%6()( %7 % ∗92∋8−32 ()?2)( 32 ,B!

�
�;−

�
, 8,)2 8,) ∗3003;−2+ −2)59%0−8−)7

,30( (;,)2):)6 8,) 6−+,8-,%2( 7−() −7 ?2−8)):
��� ,<
���
C�
fX
( eB(�;!))

� j< jC�
X
(B(:;!)) ;

j< jC�
X
(B(:;6)) �

9

(ϑ� Ι)2
��� ,<
���
C�
fX
( eB(�;7))

∗36 0 < Ι < ϑ < − (3.36)

;,)6) 9 %073 ()4)2(7 32 −. M36)3:)6,
��� ,3,1 ,3,2 � � � ,3,k ,<

���
C�
fX
( eB(�;!))

� j3,13,2 � � �3,k< jC�
X
(B(:;!)) ; (3.37)

j3,13,2 � � �3,k< jC�
X
(B(:;6)) �

9

(ϑ� Ι)2
��� ,3,1 ,3,2 � � � ,3,k ,<

���
C�
fX
( eB(�;7))

(3.38)

∗36 0 < Ι < ϑ < − %2( ?− = 0; 1; 2; : : : ; Γ.

AΒ 0;Α403Η 3>=4 8= .4, ∃Α>?>Β8Χ8>= 8.3/, Χ> ?Α>Ε4 Χ74 01>Ε4 Α4;0Χ8>= 14ΧΦ44=

HΩ;34Α Β?024Β >Ε4Α B 0=3 ,B Φ4 70Ε4 Χ> 4Γ?;>8Χ 0= 4≅∆8Ε0;4=Χ 8=Χ46Α0; 270Α02-
Χ4Α8Ι0Χ8>= >5 HΩ;34Α 2>=Χ8=∆>∆Β 5∆=2Χ8>=Β, 0=0;>6>∆Β Χ> Χ74 >=4 4ΒΧ01;8Β743 8=
Χ74 2;0ΒΒ820; 20Β4 1Η C0<?0=0Χ> 8= .10/. H>Φ4Ε4Α, Χ> 0Ε>83 8=Χ46Α0Χ8>= >Ε4Α
Β4ΧΒ >5 Χ74 :8=3 
 \ B (Μ; Η) (Φ8Χ7 Χ74 Α4;0Χ43 ?Α>1;4< >5 0ΒΒ∆Α8=6 0 Β∆8Χ01;4
3>∆1;8=6 2>=38Χ8>=) Φ4 =443 Χ> 0??;Η Χ74 ;>20; Ε4ΑΒ8>= >5 Χ78Β Α4Β∆;Χ Φ7827 70Β
144= 4ΒΧ01;8Β743 8= .8/ 0=3 Α420;;43 8= Ρ 3.3. ∗4 0Α4 6>8=6 Χ> 0??;Η D4ϑ=8Χ8>=
3.22 8= >∆Α 2>=Χ4ΓΧ.

D%:−)3).− 3.29 F36 Μ 2 
0; B (Μ;−) � 
; < 2 ∋1 (B (Μ;−)) ; � 2 (0; 1) ; 0 <
Ι < ϑ � 1; 0)8

(�;BsR;BtR
(<) = sup

:2B(:;6!);5�(7�6)!
inf
(2R

1

Η� jB5 (Μ)j

(

Br(:)

j< (Ν)� 9j :Ν:
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I5 < 2 C�∃ (B (Μ;−)) Χ74=

(�;BsR;BtR
(<) � j< jC�(BR(:0))

:

!>Α4>Ε4Α:

L%,,! 3.30 F36 Μ 2 
0; B (Μ; 2−0) � 
; − < −0; � 2 (0; 1) ; 0 < Ι < ϑ � 1;
−∗ < 2 ∋1 (B (Μ; ϑ−)) −7 % ∗92∋8−32 79∋, 8,%8 (�;BsR;BtR

(<) < 1, 8,)2 8,)6)
)<−787 % ∗92∋8−32 <�, %.). )59%0 83 < , 79∋, 8,%8 <� 2 C�∃ (B (Μ; Ι−)) %2(

j<�jC�
X
(B(:;6!)) �

9

(ϑ� Ι)2
(�;BsR;BtR

(<)

∗36 731) 9 −2()4)2()28 3∗ <; Ι; ϑ:

P1..&. ∗4 20= 0??;Η ∋74>Α4< 3.23 27>>Β8=6 
. = B (Μ; Ι−) ;
.+1 = B (Μ; ϑ−) ; "1 =
− (ϑ� Ι). ∋74 ;>20;;Η 3>∆1;8=6 2>=ΒΧ0=Χ 20= 14 27>Β4= 8=34?4=34=Χ;Η >5 −; Β8=24
B (Μ; 2−0) � 
; − < −0: ∗4 2>=2;∆34 Χ74Α4 4Γ8ΒΧΒ 0 5∆=2Χ8>= <�, 0.4. 4≅∆0; Χ>
< , Β∆27 Χ70Χ

j<� (Μ)� <� (Ν)j � 9(�;BsR;BtR
(<) :∃ (Μ; Ν)

�

5>Α 0=Η Μ; Ν 2 B (Μ; Ι−) Φ8Χ7 :∃ (Μ; Ν) � − (ϑ� Ι) =2
I5 =>Φ Μ; Ν 0Α4 0=Η ΧΦ> ?>8=ΧΒ 8= B6! (Μ0), 0=3 Η = :∃ (Μ; Ν) ; 1Η  4<<0 3.8

Φ4 20= ϑ=3 ∆+ 1 ?>8=ΧΒ Μ0 = Μ; Μ1; Μ2; :::; Μ1 = Ν 8= B6! (Μ0) Β∆27 Χ70Χ

:∃ (Μ,; Μ,�1) �
Ηp
∆
:

 4Χ ∆ 14 Χ74 ;40ΒΧ 8=Χ464Α Β∆27 Χ70Χ 5p
1
� − (ϑ� Ι) =2; Χ74=

j<� (Μ)� <� (Ν)j �
1∋

,=1

j<� (Μ,)� <� (Μ,�1)j �
1∋

,=1

9(�;BsR;BtR
(<) :∃ (Μ,; Μ,�1)

�

� ∆9(�;BsR;BtR
(<) :∃ (Μ; Ν)

�
:

 4Χ ∆Β ϑ=3 0= ∆??4Α 1>∆=3 >= ∆: ∗4 :=>Φ Χ70Χ

p
∆ � 9:∃ (Μ; Ν)

− (ϑ� Ι) �
9

ϑ� Ι

Β8=24 :∃ (Μ; Ν) � 2− 5>Α Μ; Ν 2 B7! (Μ0) : H4=24 ∆ � 9= (ϑ� Ι)2 0=3 Χ74 ;4<<0
8Β ?Α>Ε43.

P1..& .& P1./.2)3).− 3.28. ∋74 ϑΑΒΧ 8=4≅∆0;8ΧΗ 8<<4380Χ4;Η 5>;;>ΦΒ 1Η (3.26),
Β> ;4Χ ∆Β ?Α>Ε4 Χ74 Β42>=3 >=4.
 4Χ 0 < Ι < ϑ < 1; Μ 2 B (Μ; �0Ι−) ; Φ74Α4 �0 8Β Χ74 =∆<14Α 8= ∋74>Α4< 3.24,

Η � − (ϑ� Ι), � = (Μ; 0). &8=24 Χ74 ?Α>942Χ8>= � : ,B ((Μ; Ι) ; �)! B (Μ; �) 8Β >=Χ>

27



(Β44 ∋74>Α4< 3.24), Χ74Α4 4Γ8ΒΧΒ > 2 RN�1 Β∆27 Χ70Χ � = (Μ; >) 2 ,B
�
�; �0Ι−

�
:

∋74= Φ4 70Ε4 Χ74 5>;;>Φ8=6 8=4≅∆0;8Χ84Β:

1

Η�
9

jB�05 (Μ)j

(

B�0r
(:)

j< (Ν)� Αj :Ν

(1Η C>Α>;;0ΑΗ 3.25)

� 9

Η�
1��� ,B (�; Η)

���

(

eB(�;5)

��� ,< (�)� Α
��� :�

27>>Β8=6 Α = < (Μ) = ,< (�)

� 9

Η�

��� ,<
���
C�
fX
( eB(�;5))

Η� = 9
��� ,<
���
C�
fX
( eB(�;5))

: (3.39)

&8=24 Η � − (ϑ� Ι) 0=3 :
�
�; �
�
< �0Ι−; Φ4 70Ε4 Χ74 8=2;∆Β8>=

,B (�; Η) � ,B
�
�; �0Ι−+− (ϑ� Ι)

�
� ,B

�
�;−0

�

Β> Χ70Χ (3.39) 8<?;84Β

(�;B(:;�06!);B(:;�07!) (<) � 9
��� ,<
���
C�
fX
( eB(�;!0))

;

0=3 1Η  4<<0 3.30, Φ4 2>=2;∆34

j<�jC�
X
(B(:;�06!))

� 9

(ϑ� Ι)2
��� ,<
���
C�
fX
( eB(�;!0))

:

∀>Χ4 Χ70Χ −0 � �0Ι− = − (ϑ� Ι) ; 74=24 270=68=6 >∆Α =>Χ0Χ8>= 0Β

�0Ι− = Ι
0

−0 = ϑ0

Φ4 64Χ

j<�jC�
X
(B(:;60)) �

9

(ϑ0 � Ι0)2
��� ,<
���
C�
fX
( eB(�;70))

5>Α 0 < Ι0 < ϑ0 < −; Φ8Χ7 9 0;Β> 34?4=38=6 >= −. ∋78Β 8Β (3.36).
∀>Φ, 8=4≅∆0;8Χ84Β (3.37) 0=3 (3.38) 0Α4 0;Β> 2>=Β4≅∆4=24Β >5 Φ70Χ Φ4 70Ε4

?Α>Ε43 1420∆Β4 ,3, ,< = .3,< , 74=24 Χ74 Β0<4 Α40Β>=8=6 20= 14 8Χ4Α0Χ43 Χ> 78674Α
>Α34Α 34Α8Ε0Χ8Ε4Β.

3.4.2 ∋3 !−∃ S.∀.+%5 2/!#%2

∗4 0Α4 6>8=6 Χ> 34ϑ=4 Χ74 &>1>;4Ε Β?024Β ..;3∃ (
) 8= Χ74 ?Α4Β4=Χ 2>=Χ4ΓΧ 0Β 8=
.25/.

D%:−)3).− 3.31 (S.∀.+%5 2/!#%2) I∗ 3 = (30; 31; : : : ; 34) −7 %2= 7=78)1 3∗
71338, :)∋836 ?)0(7 7%8−7∗=−2+ HΦ61%2()6≅7 ∋32(−8−32 −2 % (31%−2 
 � R1, 8,)
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S3&30): 74%∋) ..;3∃ (
) (1 � Φ � 1; Α 437−8−:) −28)+)6) ∋327−787 3∗ ∋3-∗92∋8−327
;−8, Α (;)−+,8)() ()6−:%8−:)7 ;−8, 6)74)∋8 83 8,) :)∋836 ?)0(7 3,≅7, −2 ∋3. E<-
40−∋−80=,

kΚk∀k;p
X

(
) = kΚkLp(
) +
.∋

,=1



 ,Κ



Lp(
)

; ;,)6)



 .Κ



Lp(
)

=
∋

jIj=.
k3IΚkLp(
) :

A073, ;) ∋%2 ()?2) 8,) 74%∋)7 3∗ ∗92∋8−327 :%2−7,−2+ %8 8,) &392(%6= 7%=−2+
8,%8 Κ 2 ..;30;∃ (
) −∗ 8,)6) )<−787 % 7)59)2∋) fΚ.g 3∗ C10 (
) ∗92∋8−327 ∋32:)6+−2+

83 Κ −2 ..;3∃ (
). S−1−0%60=, ;) ∋%2 ()?2) 8,) S3&30): 74%∋)7 ..;3
e∃

�
,B
�
, ..;3

e∃;0

�
,B
�

3:)6 % 0−∗8)( &%00 ,B; −2(9∋)( &= 8,) ,3≅7.

IΧ 20= 14 ?Α>Ε43 (Β44 .3, ∃Α>?>Β8Χ8>= 3.5/) Χ70Χ:

P1./.2)3).− 3.32 I∗ Κ 2 .2;3∃ (
) %2( ' 2 C10 (
) ; 8,)2 Κ' 2 .2;30;∃ (
) ; %2(
%2 %2%03+397 4634)68= ,30(7 ∗36 8,) 74%∋) .2;3

0; e∃

�
,B
�
.

!>Α4>Ε4Α:

T(%.1%, 3.33 L)8 < 2 ∋3 (B (Μ; Η)) ; ,< (Μ; >) = < (Μ) ; ,B (�; Η) &) 8,) 0−∗8)( &%00
3∗ B (Μ; Η) ; ;−8, � = (Μ; 0) 2 RN :  ,)2

91 k<kLp(B(:;�05)) �



 ,<




Lp( eB(�;5))

� 92 k<kLp(B(:;5))

91 k<k∀2;p
X
(B(:;�05))

�



 ,<




∀2;p
fX
( eB(�;5))

� 92 k<k∀2;p
X
(B(:;5))

;,)6) �0 < 1 −7 8,) 291&)6 %44)%6−2+ −2  ,)36)1 3.24.

P1..&. ∋74 ϑΑΒΧ 8=4≅∆0;8ΧΗ 5>;;>ΦΒ 1Η ∋74>Α4< 3.24; Χ74 Β42>=3 5>;;>ΦΒ 1Η Χ74
ϑΑΒΧ >=4, Β8=24

,3, ,< = 3, ,< = (̂3,<):

3.4.3  !−)2()−∋ ,%!− .2#)++!3).−

∋74 34ϑ=8Χ8>= >5 1(∗/2( (
.;
.+1) 8= 0= 01ΒΧΑ02Χ ;>20;;Η 7><>64=4>∆Β Β?024
70Β 144= Α420;;43 8= Ρ 3.3 (Β44 D4ϑ=8Χ8>= 3.15); ;4Χ ∆Β 4=3>Φ >∆Α 3><08= 
 Φ8Χ7
Χ74 ΒΧΑ∆2Χ∆Α4

(
; f
.g. ; :∃ ; :Μ)
>5 ;>20;;Η 7><>64=4>∆Β Β?024 34Β2Α8143 0Χ Χ74 4=3 >5 Ρ 3.3. ∋74=:
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D%:−)3).− 3.34 (L.#!+ 1(∗) ∀) 7%= 8,%8 7 2 1(∗∃;/2( (
) −∗

7 2 1(∗/2( (
.;
.+1) ∗36 ):)6= Α:

!>Α4 4Γ?;828Χ;Η, Χ78Β <40=Β Χ70Χ 5>Α 0=Η ϑΓ43 
0 b 
; Χ74 5∆=2Χ8>=

��8;
0;
(Η) = sup
7�5

sup
:02
0

1

jB7 (Μ0)j

(

Bt(:0)

jΚ(Μ)� ΚBt(:0)j :Μ;

8Β ϑ=8Χ4 5>Α Η � Η0 0=3 Ε0=8Β74Β 5>Α Η ! 0, Φ74Α4 Η0 8Β Χ74 =∆<14Α Β∆27 Χ70Χ Χ74
;>20; 3>∆1;8=6 2>=38Χ8>= >5 ∋74>Α4< 3.7 7>;3Β:

jB (Μ; 2Η)j � 9 jB (Μ; Η)j 5>Α 0=Η Μ 2 
0; Η � Η0:

AΒ 5>Α HΩ;34Α 2>=Χ8=∆>∆Β 0=3 &>1>;4Ε 5∆=2Χ8>=Β, Φ4 =443 0 2><?0Α8Β>= Α4Β∆;Χ
5>Α 1(∗ 5∆=2Χ8>=Β 8= Χ74 >Α868=0; Ε0Α801;4Β 0=3 Χ74 ;85Χ43 >=4Β. BΗ C>Α>;;0ΑΗ
3.25 Φ4 8<<4380Χ4;Η 70Ε4 Χ74 5>;;>Φ8=6:

P1./.2)3).− 3.35 L)8 7 2 1(∗∃;/2( (
) 8,)2 ∗36 %2= 
0 b 
; Μ0 2 
0; B (Μ0; −)
%2( ,
. = ,B

�
�0;

.!
.+1

�
%7 &)∗36), ;) ,%:) 8,%8 ,7 (Μ; >) = 7 (Μ) &)032+7 83 8,) ∋0%77

1(∗/2(

�
,
.; ,
.

�
∗36 ):)6= Α; ;−8,

��
e&;e
k;e
k+1

(Η) � 9��&;
0;
(Η):

I= >Χ74Α Φ>Α3Β, Χ74 1(∗/2( <>3∆;∆Β >5 Χ74 >Α868=0; 5∆=2Χ8>= 7 2>=ΧΑ>;Β Χ74
1(∗/2( <>3∆;∆Β >5 8ΧΒ ;85Χ43 Ε4ΑΒ8>=.

4 O/%1!3.12 .& 38/% � !−∃ 1%/1%2%−3!3).− &.1-

,4+!2

4.1 D)<%1%−3)!+ ./%1!3.12 !−∃ &4−∃!,%−3!+ 2.+43).−2

∗4 =>Φ 34ϑ=4 Ε0Α8>∆Β 38Θ4Α4=Χ80; >?4Α0Χ>ΑΒ Χ70Χ Φ4 Φ8;; 70=3;4 8= Χ74 5>;;>Φ8=6.
#∆Α <08= 8=Χ4Α4ΒΧ 8Β Χ> ΒΧ∆3Η Χ74 >?4Α0Χ>Α

L =
4∋

,;−=1

7,−(Μ)3,3− +30;

∆=34Α Χ74 AΒΒ∆<?Χ8>= (H) 8= Ρ 2. %420;; Χ70Χ 8= Ε84Φ >5 %4<0Α: 2.3 Φ4 70Ε4
Β4Χ 70 (Μ) � 1:
F>Α 0=Η Μ 2 
 Φ4 20= 0??;Η Χ74 Μ;85Χ8=6 Χ74>Α4<Ν Χ> Χ74 Ε42Χ>Α ϑ4;3Β 3,

(Β44 Ρ 3.1 5>Α Χ74 ΒΧ0Χ4<4=Χ 0=3 =>Χ0Χ8>=), >1Χ08=8=6 =4Φ Ε42Χ>Α ϑ4;3Β ,3, Φ7827
0Α4 5Α44 ∆? Χ> Φ4867Χ Ι 0=3 Β0Χ8Β5Η HΩΑ<0=34ΑΛΒ 2>=38Χ8>= >5 Φ4867Χ Ι 8= 0
=48671>Α7>>3 >5 � = (Μ; 0) 2 RN . F>Α � = (Μ; ϑ) 2 ,B

�
�;−

�
, Φ8Χ7 ,B

�
�;−

�
0Β 8=

 4<<0 3.9, Β4Χ
,7,−(Μ; ϑ) = 7,−(Μ);
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0=3 ;4Χ

,L =
4∋

,;−=1

,7,−(�) ,3, ,3− + ,30 (4.1)

14 Χ74 ;85Χ43 >?4Α0Χ>Α, 34ϑ=43 8= ,B
�
�;−

�
. ∀4ΓΧ, Φ4 5Α44Ι4 ,L 0Χ Β><4 ?>8=Χ

�0 2 ,B
�
�;−

�
, 0=3 2>=Β834Α Χ74 5Α>Ι4= ;85Χ43 >?4Α0Χ>Α:

,L0 =
4∋

,;−=1

,7,−(�0) ,3, ,3− + ,30: (4.2)

∋> ΒΧ∆3Η ,L0, 8= Ε84Φ >5 Χ74 Μ0??Α>Γ8<0Χ8>= Χ74>Α4<Ν (∋7<. 3.2), Φ4 Φ8;;
2>=Β834Α Χ74 0??Α>Γ8<0Χ8=6 >?4Α0Χ>Α, 34ϑ=43 >= Χ74 7><>64=4>∆Β 6Α>∆? G:

L�0 =
4∋

,;−=1

,7,−(�0)4,4− + 40

0=3 8ΧΒ ΧΑ0=Β?>Β4:

L�#0 =

4∋

,;−=1

,7,−(�0)4,4− � 40

Φ74Α4 f4,g 0Α4 Χ74 ;45Χ 8=Ε0Α80=Χ Ε42Χ>Α ϑ4;3Β >= Χ74 6Α>∆? G 34ϑ=43 8= Ρ 3.1.
∗4 Φ8;; 0??;Η Χ> L�0 0=3 L�#0 Β4Ε4Α0; Α4Β∆;ΧΒ ?Α>Ε43 8= .2/, Φ7827 8= Χ∆Α= 0Α4

10Β43 >= Α4Β∆;ΧΒ 3∆4 Χ> F>;;0=3 .16, ∋7<. 2.1 0=3 C>Α>;;0ΑΗ 2.8/ 0=3 F>;;0=3-
&Χ48= .17, ∃Α>?>Β8Χ8>= 8.5/. ∋74Η 0Α4 2>;;42Χ43 8= Χ74 5>;;>Φ8=6 Χ74>Α4<:

T(%.1%, 4.1 A7791) 8,%8 8,) ,313+)2)397 (−1)27−32 3∗ G −7 , � 3. F36
):)6= �0 2 ,B

�
�;−

�
8,) 34)6%836 L�0 ,%7 % 92−59) ∗92(%1)28%0 73098−32 � (�0; �)

79∋, 8,%8: :
(7) � (�0; �) 2 C1

�
RN n f0g

�
;

(8) � (�0; �) −7 ,313+)2)397 3∗ ()+6)) (2�,);
(9) ∗36 ):)6= 8)78 ∗92∋8−32 < %2( ):)6= Λ 2 RN ,

<(Λ) = (L�0< � � (�0 ; �)) (Λ) =
(

RN

�
�
�0 ; Κ

�1 � Λ
�
L�0<(Κ) :Κ;

136)3:)6, ∗36 ):)6= ?; ≅ = 1; : : : ; Γ, 8,)6) )<−78 ∋3278%287 �,−(�0) 79∋, 8,%8

4,4− <(Λ) = +:1:

(

RN

4,4−�
�
�0; Κ

�1 � Λ
�
L�0<(Κ):Κ +�,−(�0) � L�0<(Λ); (4.3)

(:) 4,4−� (�0 ; �) 2 C1
�
RN n f0g

�
;

(;) 4,4−� (�0 ; �) −7 ,313+)2)397 3∗ ()+6)) �,;
(<)

(

5<k8k<!
4,4−� (�0; Κ) :Κ =

(

k8k=1
4,4−� (�0; Κ) :�(Κ) = 0 ∗36 ):)6= − > Η > 0:
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I= (4.3) Χ74 =>Χ0Χ8>= +:1:
&
RN
(:::) :Κ ΒΧ0=3Β 5>Α lim"!0

&
k8�1�9k>" (:::) :Κ:

R%,!1∗ 4.2 B= #16, R)1%6/ 32 4.174∃, ;) /23; 8,%8 8,) ∗92(%1)28%0 73098−32
3∗ 8,) 86%27437)( 34)6%836 L�#0 −7

�# (�0;Κ) = �
�
�0;Κ

�1� = � (�0;�Κ) :

(H3;):)6, &);%6) 8,%8 4,�
# (�0;Κ) 6= 4,� (�0;�Κ)).

∋7Α>∆67>∆Χ Χ74 5>;;>Φ8=6, Φ4 Φ8;; Β4Χ, 5>Α ?; ≅ = 1; : : : ; Γ,

�,−(�0;Κ) = 4,4− [�(�0; �)] (Κ);
�#,−(�0;Κ) = 4,4−

�
�# (�0; �)

�
(Κ):

A Β42>=3 5∆=30<4=Χ0; Α4Β∆;Χ Φ4 =443 2>=Χ08=Β 0 1>∆=3 >= Χ74 34Α8Ε0Χ8Ε4Β >5
�, ∆=85>Α< Φ8Χ7 Α4Β?42Χ Χ> �0, 0=3 8Β ?Α>Ε43 8= .2, ∋7<. 12/:

T(%.1%, 4.3 F36 ):)6= 1908−-−2()< �, 8,)6) )<−787 % ∋3278%28 9 = 9(�;G; �)
79∋, 8,%8

sup
k8k=1

�2 eB(�;!)

�����

�
@

@Κ

��
�,− (� ; Κ)

����� � 9,

∗36 %2= ?; ≅ = 1; : : : ; Γ; 136)3:)6, ∗36 8,) �,−≅7 %44)%6−2+ −2 (4.3), 8,) 92−∗361
&392(

sup
�2 eB(�;!)

j�,−(�)j � 92

,30(7 ∗36 731) ∋3278%28 92 = 92 (G; �).

R%,!1∗ 4.4  ,)36)17 4.1 %2( 4.3 78−00 ,30( ;,)2 ;) 6)40%∋) � &= �# %2( �,−
&= �#,−.

4.2 O/%1!3.12 .& 38/% �

AΒ 8= .25/ 0=3 .3/, Φ4 0Α4 6>8=6 Χ> 1∆8;3 0 ?0Α0<4ΧΑ8Γ 5>Α ,L Β70?43 >= Χ74
7><>64=4>∆Β 5∆=30<4=Χ0; Β>;∆Χ8>= >5 L�0. !>Α4 64=4Α0;;Η, Φ4 =443 Χ> 34ϑ=4
0 2;0ΒΒ >5 8=Χ46Α0; >?4Α0Χ>ΑΒ Φ8Χ7 38Θ4Α4=Χ 346Α44Β >5 Β8=6∆;0Α8ΧΗ. ∋74 =4ΓΧ
34ϑ=8Χ8>= 8Β 030?Χ43 5Α>< .3/, Χ74 38Θ4Α4=24 148=6 Χ74 =424ΒΒ8ΧΗ, 8= Χ74 ?Α4Β4=Χ
20Β4, Χ> 2>=Β834Α 8=Χ46Α0; :4Α=4;Β Β70?43 >= Χ74 5∆=30<4=Χ0; Β>;∆Χ8>=Β >5 1>Χ7
L�0 0=3 L�#0 .

D%:−)3).− 4.5 F36 %2= �0 2 ,B
�
�;−

�
, ;) 7%= 8,%8 Α(�0; �; �) −7 % 5Α>Ι4= :4Α=4;

>5 ΧΗ?4 � (3:)6 8,) &%00 ,B
�
�;−

�
), ∗36 731) 2322)+%8−:) −28)+)6 �, −∗ ∗36 ):)6=
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437−8−:) −28)+)6 Χ ;) ∋%2 ;6−8), ∗36 �; � 2 ,B
�
�;−

�
;

Α(�0; �; �) = Α
0(�0; �; �) + Α

00(�0; �; �)

=

(
Hm∋

,=1

7,(�)8,(�) ,�(�0; �) + 70(�)80(�) 0�(�0; �)
)
(�(�; �))

+

(
Hm∋

,=1

70,(�)8
0
,(�) 

0
,�
# (�0; �) + 700(�)800(�) 0

0�
# (�0; �)

)
(�(�; �))

;,)6) 7,; 8,; 7
0
,; 8

0
, 2 C10

�
,B
�
�;−

��
(? = 0; 1; : : : ∃0),  , %2(  

0
, %6) (−∆)6)28−%0

34)6%8367 79∋, 8,%8: ∗36 ? = 1; : : : ;∃0 ,  , %2(  
0
, %6) ,313+)2)397 3∗ ()+6))

� 2�� (73 8,%8  ,�(�0; �) %2(  0
,�
# (�0; �) %6) ,313+)2)397 ∗92∋8−327 3∗ ()+6)) �

��,);  0 %2(  0
0 %6) (−∆)6)28−%0 34)6%8367 79∋, 8,%8 0�(�0; �) %2(  0

0�
# (�0; �)

,%:) Χ (;)−+,8)() ()6−:%8−:)7 ;−8, 6)74)∋8 83 8,) :)∋836 ?)0(7 4, (? = 0; 1; : : : ; Γ).
M36)3:)6, 8,) ∋3)Χ ∋−)287 3∗ 8,) (−∆)6)28−%0 34)6%8367 ,;  

0
, ∗36 ? = 0; 1; :::;∃0

4377−&0= ()4)2( %073 32 8,) :%6−%&0)7 �; �; −2 79∋, % ;%= 8,%8 8,) .3−28 ()4)2()2∋)
32 (�; �; Κ) −7 71338,.

I= >Α34Α Χ> Β8<?;85Η =>Χ0Χ8>=, Φ4 Φ8;; =>Χ 0;Φ0ΗΒ 4Γ?Α4ΒΒ 4Γ?;828Χ;Η Χ78Β 34-
?4=34=24 >5 Χ74 2>4Π 284=ΧΒ >5 , >= �; �: #=;Η Φ74= 8Χ 8Β =424ΒΒ0ΑΗ Φ4 Φ8;;
ΦΑ8Χ4, 5>Α 8=ΒΧ0=24, 7,(�)8,(�) 

�;�
, �(�0; �(�; �)) Χ> Α420;; Χ78Β 34?4=34=24.

R%,!1∗ 4.6 N38) 8,%8 −∗ % 71338, ∗92∋8−32 9 (�; �; Κ) −7  (�)-,313+)2)397 3∗
731) ()+6)) � ;−8, 6)74)∋8 83 Κ; 8,)2 %2= � 36 � ()6−:%8−:) 3∗ 9 ,%7 8,) 7%1)
,313+)2)−8= ;−8, 6)74)∋8 83 Κ; 7−2∋)

9 (�; �; (�)Κ) = ��9 (�; �; Κ) −140−)7
@9

@�,
(�; �; (�)Κ) = ��

@9

@�,
(�; �; Κ) :

H)2∋) %2= ()6−:%8−:)
�
@

@�,
 �;�
,

�
�(�0; �);

�
@

@�,
 �;�
,

�
�(�0; �)

,%7 8,) 7%1) ,313+)2)−8= %7

 �;�
, �(�0; �):

D%:−)3).− 4.7 F36 %2= �0 2 ,B
�
�;−

�
, ;) 7%= 8,%8 / (�0) −7 % 5Α>Ι4= >?4Α0Χ>Α

>5 ΧΗ?4 � � 1 (3:)6 8,) &%00 ,B
�
�;−

�
) −∗ Α(�0; �; �) −7 % ∗63>)2 /)62)0 3∗ 8=4) �

%2(

/ (�0)<(�) =

(

eB

Α(�0; �; �) <(�) :�

∗36 < 2 C10
�
,B
�
�;−

��
. ∀) 7%= 8,%8 / (�0) −7 % 5Α>Ι4= >?4Α0Χ>Α >5 ΧΗ?4 0 −∗

Α(�0; �; �) −7 % ∗63>)2 /)62)0 3∗ 8=4) 0 %2(

/ (�0)<(�) = +:1:

(

eB

Α(�0; �; �) <(�) :� + � (�0; �) < (�) ;
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;,)6) � −7 % &392()( 1)%796%&0) ∗92∋8−32, 71338, −2 �; %2( 8,) 46−2∋−4%0 :%09)
−28)+6%0 )<−787. E<40−∋−80=, 8,−7 46−2∋−4%0 :%09) −7 ()?2)( &=:

+:1:

(

eB

Α(�0; �; �) <(�) :� = lim
"!0

(

k�(�;�)k>"
Α(�0; �; �) <(�) :�:

D%:−)3).− 4.8 I∗ Α(�0; �; �) −7 % ∗63>)2 /)62)0 3∗ 8=4) � � 0, ;) 7%= 8,%8

Α(�; �; �) −7 % Ε0Α801;4 :4Α=4; >5 ΧΗ?4 � (3:)6 8,) &%00 ,B
�
�;−

�
), %2(

/<(�) =

(

eB

Α(�; �; �)<(�) :�

−7 % Ε0Α801;4 >?4Α0Χ>Α >5 ΧΗ?4 �. I∗ � = 0, 8,) −28)+6%0 1978 &) 8%/)2 −2 46−2∋−4%0
:%09) 7)27) %2( % 8)61 � (�; �) < (�) 1978 &) %(()(.

∗8Χ7 Α454Α4=24 Χ> D4ϑ=8Χ8>= 4.5, Φ4 Φ8;; 20;; Χ74 Α0; Α00 ?0ΑΧΒ >5 Α Μ5Α>Ι4=
:4Α=4; >5 ΧΗ?4 � <>34;43 >= �;�# Ν, Α4Β?42Χ8Ε4;Η. A=0;>6>∆Β;Η Φ4 Φ8;; Β><4Χ8<4Β
Β?40: >5 5Α>Ι4= >?4Α0Χ>ΑΒ >5 ΧΗ?4 �<>34;43 >= � >Α �# ; Χ> 34=>Χ4 Χ70Χ Χ74 :4Α=4;
70Β Χ78Β Β?4280; 5>Α<.
A 2><<>= >?4Α0Χ8>= >= 5Α>Ι4= >?4Α0Χ>ΑΒ 8Β 86%27437−8−32:

D%:−)3).− 4.9 I∗ / (�0) −7 % ∗63>)2 34)6%836 3∗ 8=4) � � 0 3:)6 ,B
�
�;−

�
;;)

;−00 ()238) &= / (�0)
#
8,) 86%27437)( 34)6%836, ∗361%00= ()?2)( &=

(

eB

< (�)/ (�0)
#
= (�) :� =

(

eB

= (�)/ (�0) < (�) :�

∗36 %2= <; = 2 C10
�
,B
�
�;−

��
:

C;40Α;Η, 85 Α (�0; �; �) 8Β Χ74 :4Α=4; >5 / (�0) ; Χ74= Α (�0; �; �) 8Β Χ74 :4Α=4; >5

/ (�0)
#
: IΧ 8Β ∆Β45∆; Χ> =>Χ4 Χ70Χ:

P1./.2)3).− 4.10 I∗ / (�0) −7 % ∗63>)2 34)6%836 3∗ 8=4) � � 0 3:)6 ,B
�
�;−

�
;

13()0)( 32 � 36 �# ; 8,)2 / (�0)
#
−7 % ∗63>)2 34)6%836 3∗ 8=4) �, 13()0)( 32

�# ;�; 6)74)∋8−:)0=. I2 4%68−∋90%6, 8,) 86%27437)( 3∗ % ∗63>)2 34)6%836 3∗ 8=4) �
−7 78−00 % ∗63>)2 34)6%836 3∗ 8=4) �:

P1..&.  4Χ  14 0=Η 38Θ4Α4=Χ80; >?4Α0Χ>Α >= Χ74 6Α>∆? G: F>Α 0=Η < 2
C10

�
,B
�
�;−

��
; ;4Χ < 0 (Κ) = < (�Κ) :  4Χ  0 14 Χ74 38Θ4Α4=Χ80; >?4Α0Χ>Α 34ϑ=43

1Η Χ74 834=Χ8ΧΗ
 0< = ( (< 0))

0
:

C;40Α;Η, 85  8Β 7><>64=4>∆Β >5 Β><4 346Α44 �; Χ74 Β0<4 8Β ΧΑ∆4 5>Α  0; 85
 �(�0; �) >Α  �# (�0; �) 70Ε4 Χ (Φ4867Χ43) 34Α8Ε0Χ8Ε4Β Φ8Χ7 Α4Β?42Χ Χ> Χ74 Ε42Χ>Α
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ϑ4;3Β 4, (? = 0; 1; : : : ; Γ), Χ74 Β0<4 8Β ΧΑ∆4 5>Α  0�(�0; �) >Α  0�# (�0; �): A;Β>,
Α420;;8=6 Χ70Χ �# (�0;Κ) = �(�0;�Κ); Φ4 70Ε4

( 0�) (Κ) =
�
 �#

�
(�Κ)

�
 0�#

�
(Κ) = ( �) (�Κ) :

!>Α4>Ε4Α, Χ74Β4 834=Χ8Χ84Β 20= 14 8Χ4Α0Χ43, 5>Α 8=ΒΧ0=24:

( 1 2�) (�Κ) = ( 1 ( 2�)) (�Κ) =
�
 0
1 ( 2�)

0�
(Κ) =

�
 0
1 

0
2�

#
�
(Κ) :

∋74=, 85

Α0 (�0; �; �) =

(
Hm∋

,=1

7,(�)8,(�) ,�(�0; �) + 70(�)80(�) 0�(�0; �)
)
(�(�; �))

8Β 0 5Α>Ι4= :4Α=4; >5 ΧΗ?4 � <>34;43 >= �;

Α0 (�0; �; �) =

(
Hm∋

,=1

7,(�)8,(�) ,�(�0; �) + 70(�)80(�) 0�(�0; �)
)
(��(�; �))

=

(
Hm∋

,=1

7,(�)8,(�) 
0
,�
# (�0; �) + 70(�)80(�) 0

0�
# (�0; �)

)
(�(�; �))

8Β 0 5Α>Ι4= :4Α=4; >5 ΧΗ?4 � <>34;43 >= �# : A=0;>6>∆Β;Η >=4 20= ?Α>Ε4 Χ74
2>=Ε4ΑΒ4.

∗4 70Ε4 =>Φ Χ> 340; Φ8Χ7 Χ74 Α4;0Χ8>=Β 14ΧΦ44= >?4Α0Χ>ΑΒ >5 ΧΗ?4 � 0=3 Χ74
38Θ4Α4=Χ80; >?4Α0Χ>ΑΒ Α4?Α4Β4=Χ43 1Η Χ74 Ε42Χ>Α ϑ4;3Β ,3,. ∋78Β 8Β 0 ΒΧ∆3Η Φ7827
70Β 144= 20ΑΑ843 >∆Χ 8= .25, Ρ 14/, 0=3 030?Χ43 Χ> =>=Ε0Α80Χ8>=0; >?4Α0Χ>ΑΒ 8= .3/.
∗4 0Α4 8=Χ4Α4ΒΧ43 8= ΧΦ> <08= Α4Β∆;ΧΒ. %>∆67;Η Β?40:8=6, Χ74 ϑΑΒΧ Β0ΗΒ Χ70Χ Χ74
2><?>Β8Χ8>=, 8= 0=Η >Α34Α, >5 0= >?4Α0Χ>Α >5 ΧΗ?4 � Φ8Χ7 Χ74 ,3, >Α ,30 34Α8Ε0Χ8Ε4
8Β 0= >?4Α0Χ>Α >5 ΧΗ?4 �� 1 >Α �� 2; Α4Β?42Χ8Ε4;Η. ∋74 Β42>=3 Β0ΗΒ Χ70Χ Χ74 ,3,
34Α8Ε0Χ8Ε4 >5 0= >?4Α0Χ>Α >5 ΧΗ?4 � 20= 14 Α4ΦΑ8ΧΧ4= 0Β Χ74 Β∆< >5 >Χ74Α >?4Α0Χ>ΑΒ
>5 ΧΗ?4 �; 4027 02Χ8=6 >= 0 38Θ4Α4=Χ ,3− 34Α8Ε0Χ8Ε4, ?;∆Β 0 Β∆8Χ01;4 Α4<08=34Α.
I= .25/ Χ74Β4 Α4Β∆;ΧΒ 0Α4 ?Α>Ε43 >=;Η 5>Α 0 ΒΗΒΧ4< >5 HΩΑ<0=34ΑΛΒ Ε42Χ>Α ϑ4;3Β
>5 Φ4867Χ >=4 (Χ70Χ 8Β, Φ8Χ7>∆Χ Χ74 3Α85Χ), 0=3 Β><4 ?Α>>5Β 0Α4 ≅∆8Χ4 2>=34=Β43.
H4=24 Φ4 =443 Χ> 4ΓΧ4=3 0=3 <>385Η Β><4 0Α6∆<4=ΧΒ 8= .25, Ρ 14/ Χ> 2>Ε4Α Χ74
?Α4Β4=Χ Β8Χ∆0Χ8>=. !>Α4>Ε4Α, 0Β 8= .3/, Φ4 =443 Χ> :44? ∆=34Α 20Α45∆; 2>=ΧΑ>; Χ74
34?4=34=24 >5 0=Η ≅∆0=Χ8ΧΗ >= Χ74 5Α>Ι4= ?>8=Χ �0 0??40Α8=6 8= � (�0; �). F>Α
Χ74Β4 0=3 >Χ74Α Χ427=820; Α40Β>=Β, Φ4 ?Α454Α Χ> ΦΑ8Χ4 2><?;4Χ4 ?Α>>5Β >5 Χ74Β4
?Α>?4ΑΧ84Β, 4Ε4= Χ7>∆67 Χ74Η 0Α4 =>Χ Β> 38Θ4Α4=Χ 5Α>< :=>Φ= Α4Β∆;ΧΒ. ∋74 ϑΑΒΧ
Α4Β∆;Χ 8Β Χ74 5>;;>Φ8=6:

T(%.1%, 4.11 (S)) #25,  ,1. 8∃). S94437) / (�0) −7 % ∗63>)2 34)6%836 3∗ 8=4)

� � 1.  ,)2 ,3./ (�0) %2( / (�0) ,3. (Α = 1; 2; :::; Γ) %6) 34)6%8367 3∗ 8=4) ��1.
I∗ � � 2, 8,)2 ,30/ (�0) %2( / (�0) ,30 %6) 34)6%8367 3∗ 8=4) �� 2.
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∋> ?Α>Ε4 Χ78Β, Φ4 1468= 1Η ΒΧ0Χ8=6 Χ74 5>;;>Φ8=6 ΧΦ> ;4<<0Β:

L%,,! 4.12 I∗ Α(�0; �; �) −7 % ∗63>)2 /)62)0 3∗ 8=4) � � 1 3:)6 ,B
�
�;−

�
, 8,)2�

,3−Α
�
(�0; �; �) (�) (≅ = 1; 2; :::; Γ) −7 % ∗63>)2 /)62)0 3∗ 8=4) � � 1. I∗ � � 2,

8,)2
�
,30Α
�
(�0; �; �) (�) −7 % ∗63>)2 /)62)0 3∗ 8=4) �� 2.

P1..&. ∋78Β 10Β820;;Η 5>;;>ΦΒ 1Η Χ74 34ϑ=8Χ8>= >5 :4Α=4; >5 ΧΗ?4 � 0=3 ∋74>Α4<
3.2 8= Ρ 3.1. ∗74= Χ74 ,3− 34Α8Ε0Χ8Ε4 02ΧΒ >= Χ74 � Ε0Α801;4 >5 0 :4Α=4; �

,� (�0; �) ;
>=4 0;Β> 70Β Χ> Χ0:4 8=Χ> 022>∆=Χ %4<0Α: 4.6.
H4Α4 Φ4 9∆ΒΧ Φ0=Χ Χ> ?>8=Χ >∆Χ Χ74 5>;;>Φ8=6 502Χ. ∋74 ?Α>Χ>ΧΗ?4 >5 5Α>Ι4=

:4Α=4; >5 ΧΗ?4 2 8Β Χ74 5∆=2Χ8>=

7 (�) � (�0; �(�; �)) 8 (�) :

∀>Χ4 Χ70Χ Χ74 2><?∆Χ0Χ8>=

,3, [7 (�) � (�0; �(�; �)) 8 (�)] (�)

= 7 (�) [(4, +−
�
, ) � (�0; �)] (�(�; �)) 8 (�) +

�
,3,7
�
(�) � (�0; �(�; �)) 8 (�)

8= ?0ΑΧ82∆;0Α 64=4Α0Χ4Β Χ74 Χ4Α<

7 (�) (−�, �) (�0; �) (�(�; �)) 8 (�)

Φ74Α4 Χ74 38Θ4Α4=Χ80; >?4Α0Χ>Α −�, 70Β 2>4Π 284=ΧΒ 34?4=38=6 >=�. I= Χ74 ?Α>>5
>5 ∋74>Α4< 4.11 Φ4 Φ8;; Β44 0=>Χ74Α 10Β82 2><?∆Χ0Χ8>= >= 5Α>Ι4= :4Α=4;Β Φ7827
64=4Α0Χ4Β 38Θ4Α4=Χ80; >?4Α0Χ>ΑΒ Φ8Χ7 2>4Π 284=ΧΒ 0;Β> 34?4=38=6 >=�: ∋78Β 8Β Χ74
Α40Β>= Φ7Η D4ϑ=8Χ8>= 4.5 0;;>ΦΒ 5>Α Χ78Β :8=3 >5 34?4=34=24.

L%,,! 4.13 I∗ / (�0) −7 % ∗63>)2 34)6%836 3∗ 8=4) � � 1 3:)6 ,B
�
�;−

�
, 8,)2

,3,/ (�0) (? = 1; 2; :::; Γ) −7 % ∗63>)2 34)6%836 3∗ 8=4) ��1. I∗ � � 2, 8,)2 ,30/ (�0)
−7 % ∗63>)2 34)6%836 3∗ 8=4) �� 2:

P1..&. ∗8Χ7 Α454Α4=24 Χ> D4ϑ=8Χ8>= 4.5, 8Χ 8Β 4=>∆67 Χ> 2>=Β834Α Χ74 ?0ΑΧ Α0 >5
Χ74 :4Α=4; >5 / , Χ74 ?Α>>5 5>Α Α00 148=6 2><?;4Χ4;Η 0=0;>6>∆Β. &>, ;4Χ ∆Β 2>=Β834Α
Χ74 >?4Α0Χ>Α ,3,/ (�0) (? = 1; 2; :::; Γ), Φ74Α4 / (�0) 70Β :4Α=4; Α0.
I5 � > 1; Χ74 Α4Β∆;Χ 8<<4380Χ4;Η 5>;;>ΦΒ 1Η Χ74 ?Α4Ε8>∆Β ;4<<0. I5 � = 1;

Χ74=

/ (�0)< (�) =

(

eB(�;!)
7(�)8(�) 1� (�0; �(�; �)) < (�) :� + /

0(�0)< (�)

Φ74Α4 / 0 (�0) 8Β 0 5Α>Ι4= >?4Α0Χ>Α >5 ΧΗ?4 2, 0=3  1 8Β 0 1-7><>64=4>∆Β 38Θ4Α-

4=Χ80; >?4Α0Χ>Α. ∗4 0;Α403Η :=>Φ Χ70Χ ,3,/ 0(�0) 8Β 0 5Α>Ι4= >?4Α0Χ>Α >5 ΧΗ?4 1,
Β> Φ4 0Α4 ;45Χ Χ> Β7>Φ Χ70Χ

,3,
(

eB(�;!)
7(�)8(�) 1�(�0; (�(�; �)))< (�) :�
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8Β 0 5Α>Ι4= >?4Α0Χ>Α >5 ΧΗ?4 0: ∋> 3> Χ78Β, Φ4 70Ε4 Χ> 0??;Η 0 38ΒΧΑ81∆Χ8>=0;
0Α6∆<4=Χ, Φ7827 Φ8;; 14 ∆Β43 Β4Ε4Α0; Χ8<4Β 8= Χ74 5>;;>Φ8=6: ;4Χ ∆Β 2><?∆Χ4, 5>Α

0=Η ! 2 C10
�
,B
�
�;−

��
;

(

eB(�;!)
,3#
, ! (�)

(

eB(�;!)
7(�)8(�) �

1�(�0; (�(�; �)))< (�) :�:�

= lim
"!0

(

eB(�;!)
,3#
, ! (�)

(

eB(�;!)
7(�)8(�)'" (�(�; �)) 

�
1�(�0; (�(�; �)))< (�) :�:�

Φ74Α4 '" (Κ) = '
�
 
�
"�1
�
Κ
�
0=3 ' 2 C10

�
RN
�
; ' (Κ) = 0 5>Α kΚk < 1; ' (Κ) =

1 5>Α kΚk > 2: H4Α4 Φ4 70Ε4 ΦΑ8ΧΧ4=  �
1 Χ> Α420;; Χ70Χ Χ74 2>4Π 284=ΧΒ >5 Χ74 385-

54Α4=Χ80; >?4Α0Χ>Α  1 0;Β> 34?4=3 (Β<>>Χ7;Η) >= � 0Β 0 ?0Α0<4Χ4Α. BΗ ∋74>Α4<
3.2,

(

eB(�;!)
,3#
, ! (�)

(

eB(�;!)
7(�)8(�)'" (�(�; �)) 

�
1�(�0; (�(�; �)))< (�) :�:�

=

(

eB(�;!)
8(�)< (�)

(

eB(�;!)

�
,3#
, !
�
(�) 7(�)'" (�(�; �)) 

�
1�(�0; (�(�; �))):�:�

=

(

eB(�;!)
8(�)< (�)

(

eB(�;!)
! (�)

�
,3,7
�
(�)'" (�(�; �)) 

�
1�(�0; (�(�; �))):�:�

+

(

eB(�;!)
8(�)< (�)

(

eB(�;!)
! (�) 7(�)'" (�(�; �))

�
,3, �

1

�
�(�0; (�(�; �))):�:�

+

(

eB(�;!)
8(�)< (�)

(

eB(�;!)
! (�) 7(�)

/
(4, +−

�
, )
�
'" 

�
1�(�0; �)

�0
(�(�; �)) :�:�

� A" +B" + C": (4.4)

∀>Φ,

A" !
(

eB(�;!)
8(�)< (�)

(

eB(�;!)
! (�)

�
,3,7
�
(�) 1�(�0; (�(�; �))):�:�

=

(

eB(�;!)
< (�).1 (�0)! (�) :�

=

(

eB(�;!)
! (�).1 (�0)

#
< (�) :� (4.5)
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Φ74Α4 .1 (�0) 8Β 0 5Α>Ι4= >?4Α0Χ>Α >5 ΧΗ?4 1, 0=3 .1 (�0)
#
; 8ΧΒ ΧΑ0=Β?>Β4, 8Β ΒΧ8;;

0 5Α>Ι4= >?4Α0Χ>Α >5 ΧΗ?4 1 (Β44 ∃Α>?>Β8Χ8>= 4.10).

B" !
(

eB(�;!)
8(�)< (�)

(

eB(�;!)
! (�) 7(�)

�
,3, �

1

�
�(�0; (�(�; �))):�:�

=

(

eB(�;!)
< (�).01 (�0)! (�) :�

=

(

eB(�;!)
! (�).01 (�0)

#
< (�) :� (4.6)

Φ74Α4, 1Η %4<0Α: 4.6, .01 (�0) 8Β 0 5Α>Ι4= >?4Α0Χ>Α >5 ΧΗ?4 1, 0=3 Χ74 Β0<4 8Β

ΧΑ∆4 5>Α .01 (�0)
#
1Η ∃Α>?>Β8Χ8>= 4.10.

C" =

(

eB(�;!)
8(�)< (�)

(

eB(�;!)
! (�) 7(�) ['"4, 1�(�0; �)] (�(�; �)) :�:�

+

(

eB(�;!)
8(�)< (�)

(

eB(�;!)
! (�) 7(�) ['"−

�
, 1�(�0; �)] (�(�; �)) :�:�

+

(

eB(�;!)
8(�)< (�)

(

eB(�;!)
! (�) 7(�) [(4, +−

�
, )'" 1�(�0; �)] (�(�; �)) :�:�

� C1" + C2" + C3" : (4.7)

∀>Φ:

C1" !
(

eB(�;!)
! (�)

(
+:1:

(

eB(�;!)
7(�)4, 1�(�0; �(�; �))8(�)< (�) :�

)
:�

=

(

eB(�;!)
! (�)/ (�0) < (�) :� (4.8)

Φ8Χ7 / (�0) 5Α>Ι4= >?4Α0Χ>Α >5 ΧΗ?4 0. ∀>Χ4 Χ70Χ Χ74 ?Α8=28?0; Ε0;∆4 4Γ8ΒΧΒ
1420∆Β4 Χ74 :4Α=4; 4, 1� (�0;Κ) 70Β Ε0=8Β78=6 8=Χ46Α0; >Ε4Α Β?74Α820; Β74;;Β
fΚ 2 G : Η1 < kΚk < Η2g (Β44 ∋74>Α4< 4.1).

C2" !
(

eB(�;!)
! (�)

((

k8k<!
7(�)−�, 1�(�0; �(�; �))8(�)< (�) :�

)
:�

=

(

eB(�;!)
! (�). (�0) < (�) :� (4.9)

Φ8Χ7 . (�0) 5Α>Ι4= >?4Α0Χ>Α >5 ΧΗ?4 1.
∋> 70=3;4 C3" ; ;4Χ ∆Β ?4Α5>Α< Χ74 270=64 >5 Ε0Α801;4Β Κ = �(�; �) Φ7827, 1Η

∋74>Α4< 3.3 68Ε4Β

C3" =

(

eB(�;!)
(8<) (�)

(

k8k<!
(!7)

�
�(�; �)�1 (Κ)

�
[(4, +−

�
, )'" 1�(�0; �)] (Κ) �

� 9 (�) (1 +∗ (kΚk)) :Κ:�
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#= Χ74 >Χ74Α 70=3, 4,'" (Κ) =
1
"4,'

�
 
�
1
"

�
Κ
�
, Φ78;4 −�, '" (Κ) 8Β ∆=85>Α<;Η

1>∆=343 8= ": H4=24 Χ74 270=64 >5 Ε0Α801;4Β  
�
1
"

�
Κ = Λ 68Ε4Β

C3" =

(

eB(�;!)
(8<) (�)

(

k9k<R
"

(!7)
�
�(�; �)�1 ( (") Λ)

� �1
"
4,' (Λ) +∗ (1)

�
�

� 9 (�) "1�  �
1� (�0; Λ) (1 +∗ (" kΛk)) " :Λ:�

!
(

eB(�;!)
(89<) (�)

(

k9k<R
"

(!7)
�
�(�; �)�1 (0)

�
4,' (Λ) 

�
1� (�0; Λ) :Λ:�

=

(

eB(�;!)
(!789<) (�)

(

k9k<R
"

4,' (Λ) 
�
1� (�0; Λ) :Λ:�

=

(

eB(�;!)
(!789<) (�)� (�0; �) :�; (4.10)

Φ7827 8Β Χ74 8=Χ46Α0; >5 ! Χ8<4Β Χ74 <∆;Χ8?;820Χ8Ε4 ?0ΑΧ >5 0 5Α>Ι4= >?4Α0Χ>Α >5
ΧΗ?4 0: IΧ 8Β Φ>ΑΧ7Φ78;4 (0;Χ7>∆67 =>Χ ;>6820;;Η =424ΒΒ0ΑΗ Χ> ?Α>Ε4 Χ74 Χ74>Α4<)
Χ> Α40;8Ι4 Χ70Χ Χ74 ≅∆0=Χ8ΧΗ � (�0; �) 0??40Α8=6 8= (4.10) 02Χ∆0;;Η 3>4Β =>Χ 34?4=3
>= Χ74 5∆=2Χ8>= ': ∀0<4;Η, Α420;;8=6 Χ70Χ 4,' (Λ) 8Β Β∆??>ΑΧ43 8= Χ74 Β?74Α820;
Β74;; 1 � kΛk � 2; Φ8Χ7 ' (Κ) = 1 5>Α kΚk = 2 0=3 ' (Κ) = 0 5>Α kΚk = 1; 0=
8=Χ46Α0Χ8>= 1Η ?0ΑΧΒ 68Ε4Β

(

1�k9k�2
4,' (Λ) 

�
1� (�0; Λ) :Λ

= �
(

1�k9k�2
' (Λ)4, 

�
1� (�0; Λ) :Λ +

(

k9k=2
 �
1� (�0; Λ)∆,:� (Λ)

Φ8Χ7 ∆, =
%N

−=1 8,− (Κ) �− , Φ74Α4 4, =
%N

−=1 8,− (Κ) @8j 0=3 � 8Β Χ74 >∆Χ4Α =>Α<0;

>= kΛk = 2: ∋74 Ε0=8Β78=6 ?Α>?4ΑΧΗ >5 Χ74 :4Α=4; 4, �
1� (�0; �) 8<?;84Β Χ70Χ 85 '

8Β 0 Α0380; 5∆=2Χ8>= Χ74 ϑΑΒΧ 8=Χ46Α0; Ε0=8Β74Β. ∋74Α45>Α4

� (�0; �) =

(

k9k=2
 �
1� (�0; Λ)∆,:� (Λ)

Φ7827 0;Β> Β7>ΦΒ Χ70Χ � (�0; �) Β<>>Χ7;Η 34?4=3Β >= � 0=3 8Β 1>∆=343 8= �0
(1Η ∋74>Α4< 4.3). BΗ (4.4), (4.5), (4.6), (4.8), (4.9), (4.10) Φ4 70Ε4 Χ74Α45>Α4
?Α>Ε43 Χ70Χ

,3,/ (�0)< (�) = .1 (�0)# < (�) + .01 (�0)
#
< (�) + / (�0) < (�) + � (�0; �) (789<) (�)

Φ7827 8Β 0 5Α>Ι4= >?4Α0Χ>Α >5 ΧΗ?4 0.
∋78Β 2><?;4Χ4Β Χ74 ?Α>>5 >5 Χ74 ϑΑΒΧ ΒΧ0Χ4<4=Χ >5 Χ74  4<<0. ∋74 ?Α>>5

>5 Χ74 502Χ Χ70Χ 85 � � 2 Χ74= ,30/ (�0) 8Β 0 5Α>Ι4= >?4Α0Χ>Α >5 ΧΗ?4 � � 2 8Β
2><?;4Χ4;Η 0=0;>6>∆Β.

∋74 01>Ε4 ΧΦ> ;4<<0Β 8<?;Η Χ74 0ΒΒ4ΑΧ8>= >= ,3./ (�0) 0=3 ,30/ (�0) 8=
∋74>Α4< 4.11. ∋> ?Α>Ε4 Χ74 0ΒΒ4ΑΧ8>=Β 01>∆Χ / (�0) ,3.; / (�0) ,30 Φ4 =443 0
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Φ0Η Χ> 4Γ?Α4ΒΒ �-34Α8Ε0Χ8Ε4Β >5 Χ74 8=Χ46Α0; :4Α=4; 8= Χ4Α<Β >5 �-34Α8Ε0Χ8Ε4Β >5
Χ74 :4Α=4;, 8= >Α34Α Χ> 8=Χ46Α0Χ4 1Η ?0ΑΧΒ. ∋78Β Φ8;; 8=Ε>;Ε4 Χ74 ∆Β4 >5 6−+,8
−2:%6−%28 :)∋836 ?)0(7 >= Χ74 6Α>∆? G: Χ7Α>∆67>∆Χ Χ74 5>;;>Φ8=6, Φ4 Φ8;; 34=>Χ4
1Η

4 !,;.

Χ74 Α867Χ 8=Ε0Α80=Χ Ε42Χ>Α ϑ4;3 >= G Β0Χ8Β5Η8=6 4 !,;.<(0) = 4,;.<(0). ∗4 70Ε4 Χ74
5>;;>Φ8=6:

L%,,! 4.14 F36 %2= < 2 C10 (G) %2( �; � −2 % 2)−+,&36,33( 3∗ �0, ;) ∋%2
;6−8), ∗36 %2= ? = 1; 2; :::; Ι; Α = 1; 2; :::; Α, (6)∋%00 Ι −7 8,) 78)4 3∗ 8,) L−) %0+)&6%)

,3,;. [< (� (�; �))] (�) = �
�
4 !,;.<

�
(� (�; �)) +

��
−�,;.

�0
<

�
(� (�; �)) ; (4.11)

;,)6)
�
−�,;.

�0
−7 % :)∋836 ?)0( 3∗ 03∋%0 ()+6)) � ?� 1 71338,0= ()4)2(−2+ 32 �.

P1..&. ∗4 ΒΧ0ΑΧ Φ8Χ7 Χ74 5>;;>Φ8=6
C+!),. F>Α 0=Η 5∆=2Χ8>= < 34ϑ=43 >= G, ;4Χ

< 0 (Κ) = < (�Κ)

(Α420;; Χ70Χ �Κ = Κ�1); Χ74= Χ74 5>;;>Φ8=6 834=Χ8Χ84Β 7>;3:

4,;. (<
0) = �

�
4 !,;.<

�0
: (4.12)

∋> ?Α>Ε4 Χ78Β, ;4Χ ∆Β 34ϑ=4 Χ74 Ε42Χ>Α ϑ4;3Β +4,;. 1Η

4,;. (<
0) = �

�
+4,;.<

�0
; (4.13)

Χ74= 5>Α 0=Η 7 2 G, 34=>Χ8=6 1Η ∋&; −& Χ74 2>ΑΑ4Β?>=38=6 >?4Α0Χ>ΑΒ >5 ;45Χ 0=3
Α867Χ ΧΑ0=Β;0Χ8>=, Α4Β?42Χ8Ε4;Η (02Χ8=6 >= 5∆=2Χ8>=Β), Φ4 70Ε4

(+4,;.−&<)0 = �4,;.((−&<)0) = �4,;.(∋�&< 0) =
= �∋�&4,;.< 0 = ∋�&(�4,;.< 0) =
= ∋�&(+4,;.<)0 = (−& +4,;.<)0;

74=24 +4,;. 0Α4 Α867Χ 8=Ε0Α80=Χ Ε42Χ>Α ϑ4;3Β. A;Β>, =>Χ4 Χ70Χ 5>Α 0=Η Ε42Χ>Α ϑ4;3
4 =

%
7− (Κ) @8j Φ4 70Ε4

4 (< 0) (0) = � (4 <) (0)

1420∆Β4

4 (< 0) (Κ) =
∋

7− (Κ) @8j [< (�Κ)] = �
∋

7− (Κ)
�
@8j<

�
(�Κ) 8<?;84Β

4 (< 0) (0) = �
∋

7− (0)
�
@8j<

�
(0) = � (4 <) (0)
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74=24 1Η (4.13) Φ4 :=>Φ Χ70Χ +4.<(0) = 4.<(0). ∋74Α45>Α4 +4. 8Β Χ74 Α867Χ
8=Ε0Α80=Χ Ε42Χ>Α ϑ4;3 Φ7827 2>8=2834Β Φ8Χ7 4. 0Χ Χ74 >Α868=, Χ70Χ 8Β +4. = 4 !. ;
0=3 Χ74 C;08< 8Β ?Α>Ε43.
BΗ (3.5) 0=3 (4.12),

,3,;. [< (� (�; �))] (�) = ,3,;. [< 0 (� (� ; �))] (�) = (4.14)

=
�
4,;.<

0 +−�,;.<
0
�
(� (� ; �)) =

= �
�
4 !,;.<

�0
(� (� ; �)) +−�,;.<

0 (� (� ; �)) =

= �
�
4 !,;.<

�
(� (�; �)) +

��
−�,;.

�0
<

�
(� (�; �)) ;

Φ74Α4 ��
−�,;.

�0
<

�
(Κ) =

�
−�,;.<

0
�
(�Κ)

8Β 0 38Θ4Α4=Χ80; >?4Α0Χ>Α >5 346Α44 � ?� 1. ∋78Β ?Α>Ε4Β (4.11).

P1..& .& T(%.1%, 4.11. AΒ Φ4 =>Χ43 05Χ4Α  4<<0 4.13, Φ4 0Α4 ;45Χ Χ> ?Α>Ε4
Χ74 0ΒΒ4ΑΧ8>= 01>∆Χ / (�0) ,3, 0=3 / (�0) ,30. ∗4 >=;Η 68Ε4 Χ74 ?Α>>5 5>Α Χ74 20Β4
� � 1, ? = 1; � � � ; Γ, Χ74 ?Α>>5 5>Α � � 2, ? = 0 148=6 Ε4ΑΗ Β8<8;0Α.  8:4 8= Χ74
?Α>>5 >5  4<<0 4.13, 8Χ 8Β 4=>∆67 Χ> 2>=Β834Α Χ74 ?0ΑΧ Α0 >5 Χ74 :4Α=4; >5 / , Χ74
?Α>>5 5>Α Α00 148=6 2><?;4Χ4;Η 0=0;>6>∆Β (Β44 D4ϑ=8Χ8>= 4.5).  4Χ ∆Β 4Γ?0=3

Α0(�0; �; �) =

8
 
:

Hm∋

−=1

7−(�)8−(�) −�(�0; �) + 70(�)80(�) 0�(�0; �)

9
!
; (�(�; �))

Φ74Α4  0�(�0; �) 70Β 1>∆=343 4,-34Α8Ε0Χ8Ε4Β (? = 1; 2; :::; Γ). ∗4 20= 2>=Β834Α
4027 >5 Χ74 Χ4Α<Β

/− (�0) ,3,< (�) �
(
7− (�) 8− (�) 

�
−�(�0; �(�; �))

,3,< (�) :�

(Χ78Β Χ8<4 8Χ 8Β 8<?>ΑΧ0=Χ Χ> Α420;; Χ74 �-34?4=34=24 >5 Χ74 2>4Π 284=ΧΒ >5 −)
0=3 38ΒΧ8=6∆8Β7 2 20Β4Β:
(8)  −� 8Β 7><>64=4>∆Β >5 346Α44 � 2 � , >Α 8Χ 8Β Α46∆;0Α (8.4.  −� 70Β

1>∆=343 4,-34Α8Ε0Χ8Ε4Β);
(88) /− (�0) 8Β 0 5Α>Ι4= >?4Α0Χ>Α >5 ΧΗ?4 1 0=3  −� 8Β 7><>64=4>∆Β >5 346Α44

1�,:
C0Β4 (8). ∗4 20= 8=Χ46Α0Χ4 1Η ?0ΑΧΒ, Α420;;8=6 Χ70Χ Χ74 ΧΑ0=Β?>Β4 >5 ,3, 8Β

�
,3,
�#
= (�) = � ,3,= (�) + 9, (�) = (�)
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Φ8Χ7 9, Β<>>Χ7 5∆=2Χ8>=Β:

/− (�0) ,3,< (�) =
(
9, (�) 7− (�) 8− (�) 

�
−�(�0; �(�; �))< (�) :�

�
(
7− (�)

�
,3,8−

�
(�) �

−�(�0; �(�; �))< (�) :�

�
(
7− (�) 8− (�) ,3,

�
 �
−�(�0; �(�; �))

�
(�) < (�) :�

�
(
7− (�) 8− (�)

�
,3�
,  

�
−

�
�(�0; �(�; �))< (�) :�

= A (�) +B (�) + C (�) + (�) :

∀>Φ, A (�) + B (�) 8Β ΒΧ8;; 0= >?4Α0Χ>Α >5 ΧΗ?4 �, 0??;843 Χ> < ; 8= ?0ΑΧ82∆;0Α, 8Χ
20= 14 Β44= 0Β >?4Α0Χ>Α >5 ΧΗ?4 � � 1; Χ74 Β0<4 8Β ΧΑ∆4 5>Α  (�), 1Η %4<0Α:
4.6. ∋> ΒΧ∆3Η C (�), Φ4 0??;Η  4<<0 4.14,

,3,
�
 �
−�(�0; �(�; �))

�
(�) = �

�
4 !,  

�
−�
�
(�0;�(�; �))+

��
−�,

�0
 �
−�

�
(�0;�(�; �)) :

&8=24 4 !, 8Β 7><>64=4>∆Β >5 346Α44 1, 7− (�) 8− (�)4
!
,  

�
−� (�0;�(�; �)) 8Β 0 :4Α-

=4; >5 ΧΗ?4 ��1. &8=24
�
−�,

�0
8Β 0 38Θ4Α4=Χ80; >?4Α0Χ>Α >5 346Α44 � 0, Χ74 :4Α=4;

7− (�) 8− (�)

��
−�,

�0
 �
−�

�
(�0;�(�; �)) 8Β >5 ΧΗ?4 �.

∀>Χ4 Χ70Χ, 4Ε4= Φ74= Χ74 2>4Π 284=ΧΒ >5 Χ74 38Θ4Α4=Χ80; >?4Α0Χ>Α − (8= Χ74
4Γ?Α4ΒΒ8>=  −�(�0; �(�; �))) 3> =>Χ 34?4=3 >= � 0=3 �; Χ78Β ?Α>243∆Α4 8=ΧΑ>-

3∆24Β, Φ8Χ7 Χ74 >?4Α0Χ>Α
�
−�,

�0
, 0 =4Φ �-34?4=34=24 >5 Χ74 2>4Π 284=ΧΒ. C><-

?0Α4 Φ8Χ7 Φ70Χ Φ4 70Ε4 Α4<0Α:43 8= Χ74 ?Α>>5 >5  4<<0 4.12.
C0Β4 (88). I= Χ78Β 20Β4 Χ74 :4Α=4;

�
4 !,  −�

�
8Β Β8=6∆;0Α, Β> Χ70Χ Χ74 2><?∆Χ0-

Χ8>= <∆ΒΧ 14 70=3;43 Φ8Χ7 <>Α4 20Α4. ∗4 20= ΦΑ8Χ4

/− (�0) ,3,< (�) =

= lim
"!0

(
7− (�) 8− (�)'" (�(�; �)) −�(�0; �(�; �)) ,3,< (�) :� � lim

"!0
/" (�)

Φ8Χ7 '" 0Β 8= Χ74 ?Α>>5 >5  4<<0 4.13. ∀>Χ4 Χ70Χ, 27>>Β8=6 0 Α0380; ', Φ4 70Ε4
'" (�(�; �)) = '" (�(�; �)) : ∋74=

/" (�) =

(
9, (�) 7− (�) 8− (�)'" (�(�; �)) −�(�0; �(�; �))< (�) :�

�
(
7− (�)

�
,3,8−

�
(�)'" (�(�; �)) −�(�0; �(�; �))< (�) :�

�
(
7− (�) 8− (�) ,3, ['" (�(�; �)) −�(�0; �(�; �))] (�) < (�) :�

�
(
7− (�) 8− (�)'" (�(�; �))

�
,3�
,  

�
−

�
�(�0; �(�; �))< (�) :�

= A" (�) +B" (�) + C" (�) + " (�) :
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∀>ΦA" (�)+B" (�)+ " (�) 2>=Ε4Α64 Χ> 0= >?4Α0Χ>Α >5 ΧΗ?4 �; 0ΒA (�) ; B (�) ;  (�)
0Α4 8= C0Β4 (8), Φ78;4 1Η ∋74>Α4< 3.2 0=3  4<<0 4.14

C" (�) = �
(
7− (�) 8− (�) < (�) (4,'") (�(�; �)) −�(�0; �(�; �)):�

�
(
7− (�) 8− (�) < (�)

�
−�,'"

�
(�(�; �)) −�(�0; �(�; �)):�

+

(
7− (�) 8− (�) < (�)'" (�(�; �))

�
4 !,  −�

�
(�0;�(�; �)) :�

�
(
7− (�) 8− (�) < (�)'" (� (�; �))

��
−�,

�0
 −�

�
(�0;�(�; �)) :�

� !" (�) + ∀" (�) +#" (�) +∃" (�) :

∀>Φ: ∃" (�) Χ4=3Β Χ> 0= >?4Α0Χ>Α >5 ΧΗ?4 1; #" (�) Χ4=3Β Χ>

+:1:

(
7− (�) 8− (�) < (�)

�
4 !,  −�

�
(�0;�(�; �)) :�;

Φ7827 8Β 0= >?4Α0Χ>Α >5 ΧΗ?4 0: AΒ Χ> !" (�) ; Χ74 Β0<4 2><?∆Χ0Χ8>= ?4Α5>Α<43
8= Χ74 ?Α>>5 >5  4<<0 4.13 68Ε4Β

!" (�)! � (�0; �) (789<) (�)

Φ8Χ7

� (�0; �) =

(
4,' (Λ) 

�
1� (�0; Λ) :Λ

Φ7827 8Β Χ74 <∆;Χ8?;820Χ8Ε4 ?0ΑΧ >5 0= >?4Α0Χ>Α >5 ΧΗ?4 0: A Β8<8;0Α 2><?∆Χ0Χ8>=
Β7>ΦΒ Χ70Χ ∀" (�)! 0; Β> Φ4 0Α4 3>=4.

 4Χ ∆Β 2><4 Χ> Χ74 Β42>=3 8<?>ΑΧ0=Χ Α4Β∆;Χ >5 Χ78Β Β42Χ8>=. I= .25, C>Α>;;0ΑΗ
?. 296/, Χ74 5>;;>Φ8=6 502Χ 8Β ?Α>Ε43 8= Χ74 20Β4 >5 0 50<8;Η >5 HΩΑ<0=34ΑΛΒ Ε42Χ>Α

ϑ4;3Β >5 Φ4867Χ >=4 (Χ70Χ 8Β, Φ8Χ7>∆Χ Χ74 3Α85Χ ,30): 5>Α 0=Η 5Α>Ι4= >?4Α0Χ>Α / (�0)
>5 ΧΗ?4 1; ? = 1; 2; :::; Γ; Χ74Α4 4Γ8ΒΧ >?4Α0Χ>ΑΒ /,− (�0) ; /, (�0) >5 ΧΗ?4 1 Β∆27 Χ70Χ

,3,/ (�0) =
4∋

−=1

/,− (�0) ,3− + /, (�0) :

∋78Β ?>ΒΒ818;8ΧΗ >5 4Γ270=68=6 Χ74 >Α34Α >5 8=Χ46Α0; 0=3 38Θ4Α4=Χ80; >?4Α0Χ>ΑΒ Φ8;;
14 2Α∆280; 8= Χ74 ?Α>>5 >5 Α4?Α4Β4=Χ0Χ8>= 5>Α<∆;0Β. H>Φ4Ε4Α, Β∆27 0= 834=Χ8ΧΗ
20==>Χ 14 ?Α>Ε43 8= Χ78Β 5>Α< Φ74= Χ74 3Α85Χ ,30 8Β ?Α4Β4=Χ. I=ΒΧ403, Φ4 0Α4
6>8=6 Χ> ?Α>Ε4 Χ74 5>;;>Φ8=6, Φ7827 Φ8;; 14 4=>∆67 5>Α >∆Α ?∆Α?>Β4Β:

T(%.1%, 4.15 I∗ / (�0) −7 % ∗63>)2 34)6%836 3∗ 8=4) � � 1; Α0 = 1; 2 : : : Γ, 8,)2

,3.0/ (�0) =
4∋

.=1

/ .0. (�0) ,3.+
4∋

+;−=1

,7+− (�0)/+.0 (�0) ,3−+/ .00 (�0)+/
.0 (�0) ,L0;

(4.15)
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;,)6) / .0. (�0) (Α = 0; 1; :::; Γ) %2( /
+.0 (�0) %6) ∗63>)2 34)6%8367 3∗ 8=4) �,

/ .0 (�0) %6) ∗63>)2 34)6%8367 3∗ 8=4) � + 1, %2( ,7+− (�0) %6) 8,) ∗63>)2 ∋3)∗-
?∋−)287 3∗ ,L0.
I∗ / (�0) −7 % ∗63>)2 34)6%836 3∗ 8=4) � � 2, 8,)2

,30/ (�0) =
4∋

.=1

/. (�0) ,3.+
4∋

+;−=1

,7+− (�0)/+ (�0) ,3−+/0 (�0)+/ (�0) ,L0; (4.16)

;,)6) /. (�0) (Α = 0; 1; :::; Γ) %2( /
+ (�0) %6) ∗63>)2 34)6%8367 3∗ 8=4) � � 1;

/ (�0) −7 % ∗63>)2 34)6%836 3∗ 8=4) �:

∗4 ΒΧ0ΑΧ Φ8Χ7 Χ74 5>;;>Φ8=6 ;4<<0, Φ7827 8Β Β8<8;0Α Χ> Χ70Χ ?Α>Ε43 8= .25,
?. 296/. A608=, Φ4 ?Α454Α Χ> ?Α4Β4=Χ 0 34Χ08;43 ?Α>>5 Β8=24 Χ74 >=4 68Ε4= 8= .25/
8Β Ε4ΑΗ 2>=34=Β43.

L%,,! 4.16 F36 %2= :)∋836 ?)0( ,3−0;.0 (≅0 = 1; 2; :::; Ι, Α0 = 1; 2; :::; Α−0) 8,)6)
)<−78 71338, ∗92∋8−327

1
7−0.0�−.

2
−=1;2;:::;6
.=1;2;:::+j

,%:−2+ 03∋%0 ()+6)) � ma f≅ � ≅0; 0g

%2( 71338,0= ()4)2(−2+ 32 �; 79∋, 8,%8 ∗36 %2= < 2 C10 (G), 32) ∋%2 ;6−8)

,3−0;.0 [< (� (�; �))] (�) = (4.17)

=
∋

−=1;2;:::;6
.=1;2;:::;.j

7−0.0�−. (� (�; �)) ,3−;. [< (� (�; �))] (�) +
�
−�;�−0 <

�
(� (�; �))

;,)6) −�;�−0 −7 % :)∋836 ?)0( 3∗ 03∋%0 ()+6)) � ≅0 � 1, 71338,0= ()4)2(−2+ 32 �; �:

P1..&. BΗ ∋74>Α4< 3.2 Φ4 :=>Φ Χ70Χ

,3−0;.0 [< (� (�; �))] (�) =
�
4−0;.0< +−

�
−0;.0

<
�
(� (�; �)) �

�
5�−0<

�
(� (�; �)) ;

(4.18)
Φ74Α4 5�−0 8Β 0 Ε42Χ>Α ϑ4;3 >5 ;>20; 346Α44 � ≅0, Β<>>Χ7;Η 34?4=38=6 >= �: ∋>

Α4ΦΑ8Χ4
�
5�−0<

�
8= Χ74 Β∆8Χ01;4 5>Α<, Φ4 ΒΧ0ΑΧ 5Α>< Χ74 5>;;>Φ8=6 834=Χ8Χ84Β:

4,;. =
@

@Κ,.
+
∋

5

∋

,</�6
=,./5 (Κ)

@

@Κ/5
(4.19)

5>Α 0=Η ? = 1; 2; :::; Ι 0=3 Α = 1; 2; :::; Α,;

4,;. =
∋

=,./5 (Κ)4
!
/;5; (4.20)

Φ74Α4 =,./5 (Κ) 0Α4 7><>64=4>∆Β >5 346Α44 Β � ? (Β44 .25, ?. 295/). H4=24 Φ4 20=
ΦΑ8Χ4

5�−0 =
∋

7�−. (Κ)
@

@Κ−.
;
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Φ74Α4 7−. 70Β ;>20; 346Α44 � ≅ � ≅0 0=3 Β<>>Χ7;Η 34?4=3Β >= �: BΗ 8=Ε4ΑΧ8=6
(5>Α 0=Η ?; Α) Χ74 ΧΑ80=6∆;0Α ΒΗΒΧ4< (4.19), Φ4 >1Χ08=

@

@Κ−.
= 4−;. +

∋

−</�6
< −./5 (Κ)4/;5;

Φ74Α4 4027 < −./5 (Κ) 8Β 7><>64=4>∆Β >5 346Α44 Β � ≅. (Β8=6 0;Β> (4.20), Φ4 70Ε4

�
5�−0<

�
(Κ) =

∋
7�−. (Κ)

2
4(4−;.<) (Κ) +

∋

−</�6
< −./5 (Κ) (4/;5<) (Κ)

3
5

=
∋

8�/5 (Κ)
�
4 !/;5<

�
(Κ) ; (4.21)

Φ74Α4
8�/5 70Β ;>20; 346Α44 � ma fΒ � ≅0; 0g (4.22)

0=3 Β<>>Χ7;Η 34?4=3Β >= �: BΗ  4<<0 4.14, Χ74=

�
5�−0<

�
(� (�; �)) =

∋

/;5

�8�/5 (� (�; �)) ,3/;5 [< (� (�; �))] (�)

+
∋

/;5

�
8�/5

�
−�/;5

�0
<

�
(� (�; �)) ; (4.23)

Φ74Α4
�
−�/;5

�0
8Β 0 38Θ4Α4=Χ80; >?4Α0Χ>Α >5 ;>20; 346Α44 � Β� 1, 74=24 Χ74 38Θ4Α-

4=Χ80; >?4Α0Χ>Α >= G

−�;�−0 �
∋

/;5

8�/5

�
−�/;5

�0
70Β ;>20; 346Α44 � ≅0 � 1; (4.24)

0=3 34?4=3Β Β<>>Χ7;Η >= �; �: C>;;42Χ8=6 (4.18), (4.22), (4.23), (4.24), Χ74

 4<<0 8Β ?Α>Ε43, Φ8Χ7 7−0.0�−. = �8�−..
∗8Χ7 Χ78Β ;4<<0 8= 70=3, Φ4 20= ?Α>Ε4 Χ74 5>;;>Φ8=6, Β8<8;0Α Χ> .25, ∋7<

9/:

T(%.1%, 4.17 (−) S94437) / (�0) −7 % ∗63>)2 34)6%836 3∗ 8=4) � � 1. G−:)2 %
:)∋836 ?)0( ,3, ∗36 ? = 1; 2; :::; Γ; 8,)6) )<−78 / , (�0) ; ∗63>)2 34)6%836 3∗ 8=4) �;
%2( / ,−. (�0), ∗63>)2 34)6%8367 3∗ 8=4) �+ ≅ � 1; 79∋, 8,%8:

,3,/ (�0) =
∋

−;.

/ ,−. (�0)
,3−;. + / , (�0) ; (4.25)

(−−) S94437) / (�0) −7 % ∗63>)2 34)6%836 3∗ 8=4) � � 2.  ,)6) )<−78 / 0 (�0) ; / ,−. (�0)
∗63>)2 34)6%8367 3∗ 8=4) �� 1; �+ma f≅ � 2; 0g ; 6)74)∋8−:)0=, 79∋, 8,%8:

,30/ (�0) =
∋

−;.

/ 0−. (�0) ,3−;. + / 0 (�0) ; (4.26)
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P1..&. F8ΑΒΧ >5 0;;, 8Χ 8Β 4=>∆67 Χ> 2>=Β834Α Χ74 ?0ΑΧ Α0 >5 Χ74 :4Α=4; >5 / (�0),
Χ74 ?Α>>5 5>Α Α00 148=6 2><?;4Χ4;Η 0=0;>6>∆Β (Β44 D4ϑ=8Χ8>= 4.5).
(8) I5 / (�0) 8Β 0 5Α>Ι4= >?4Α0Χ>Α >5 ΧΗ?4 � � 1 Φ8Χ7 :4Α=4; Α0 Φ4 20= ΦΑ8Χ4 8Χ

0Β

/ (�0) < (�) =

(
7 (�) � (�0; � (�; �)) 8 (�) < (�) :� + /

0 (�0) < (�)

Φ74Α4  � (�0; �) 8Β 7><>64=4>∆Β >5 346Α44 ��, 0=3 / 0 (�0) 8Β 0 5Α>Ι4= >?4Α0Χ>Α
>5 346Α44 �+1: &8=24 ,3,/ 0 (�0) 8Β 0 5Α>Ι4= >?4Α0Χ>Α >5 ΧΗ?4 �; 8Χ 70Β 0;Α403Η Χ74
5>Α< / , (�0) Α4≅∆8Α43 1Η Χ74 Χ74>Α4<, 74=24 8Χ 8Β 4=>∆67 Χ> ?Α>Ε4 Χ70Χ

,3,
(
7 (�) � (�0; � (�; �)) 8 (�) < (�) :�

20= 14 Α4ΦΑ8ΧΧ4= 8= Χ74 5>Α<
∋

−;.

/ ,−. (�0)
,3−;.< (�) + / , (�0) < (�)

Φ8Χ7 / ,−. (�0) ; /
, (�0) 5Α>Ι4= >?4Α0Χ>ΑΒ >5 ΧΗ?4 �+≅�1 0=3 �; Α4Β?42Χ8Ε4;Η. ∀4ΓΧ,

Φ4 70Ε4 Χ> 38ΒΧ8=6∆8Β7 ΧΦ> 20Β4Β.
C0Β4 1: � � 2: I= Χ78Β 20Β4 Χ74 ,3, 34Α8Ε0Χ8Ε4 20= 14 Χ0:4= ∆=34Α Χ74 8=Χ46Α0;

Β86=, ΦΑ8Χ8=6:

,3,
(
7 (�) � (�0; � (�; �)) 8 (�) < (�) :�

=

( �
,3,7
�
(�) � (�0; � (�; �)) 8 (�) < (�) :�

+

(
7 (�) ,3, [ � (� (�; �))] (�) 8 (�) < (�) :�

= A (�) +B (�) :

∀>Φ A (�) 8Β 5Α>Ι4= >?4Α0Χ>Α >5 ΧΗ?4 �; Φ78;4 0??;Η8=6  4<<0 4.16 Φ8Χ7 ≅0 = 1
Φ4 64Χ

B (�) =

(
7 (�)

∋

/;5

7,/5 (� (�; �)) ,3/;5 [ � (�0; � (�; �))] (�) 8 (�) < (�) :�

+

(
7 (�)

∋

/;5

7,/5 (� (�; �))
�
−�56 �

�
(�0; � (�; �)) 8 (�) < (�) :�

� C (�) + (�)

Φ74Α4 −�56 0Α4 38Θ4Α4=Χ80; >?4Α0Χ>ΑΒ >5 ;>20; 346Α44 � 0; 0=3 Χ74 7,/5ΛΒ 70Ε4 ;>20;
346Α44 � Β�1: H4=24 8Β 0 5Α>Ι4= >?4Α0Χ>Α >5 ΧΗ?4 �; Φ78;4, Β8=24 Χ74 ΧΑ0=Β?>Β43
Ε42Χ>Α ϑ4;3 >5 ,3/;5 8Β

,3#
/;5 = � ,3/;5 + 9/;5
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Φ8Χ7 9/;5 Β<>>Χ7 5∆=2Χ8>=Β,

C (�) = �7 (�)
∋

/;5

(
,3/;5

�
7,/5 (� (�; �)) 8 (�)

�
(�) � (�0; � (�; �)) < (�) :�

+ 7 (�)
∋

/;5

(
7,/5 (� (�; �)) � (�0; � (�; �)) 9/;5 (�) 8 (�) < (�) :�

� 7 (�)
∋

/;5

(
7,/5 (� (�; �)) � (�0; � (�; �)) 8 (�) ,3/;5< (�) :�:

∋74 ϑΑΒΧ ΧΦ> Χ4Α<Β 8= Χ74 ;0ΒΧ 4Γ?Α4ΒΒ8>= 0Α4 ΒΧ8;; 5Α>Ι4= >?4Α0Χ>ΑΒ >5 ΧΗ?4 �
0??;843 Χ> <; Φ78;4 Χ74 Χ78Α3 8Β 0 Β∆< >5 >?4Α0Χ>ΑΒ >5 ΧΗ?4 � + Β � 1 0??;843 Χ>
,3/;5<; 0Β Α4≅∆8Α43 1Η Χ74 Χ74>Α4<.
C0Β4 2. � = 1: I= Χ78Β 20Β4 Φ4 70Ε4 Χ> 2><?∆Χ4 Χ74 34Α8Ε0Χ8Ε4 >5 Χ74 8=Χ46Α0;

8= 38ΒΧΑ81∆Χ8>=0; Β4=Β4, 0Β 0;Α403Η 3>=4 8= Χ74 ?Α>>5 >5  4<<0 4.13: Φ8Χ7 Χ74
Β0<4 <40=8=6 >5 '", ;4Χ ∆Β 2><?∆Χ4

lim
"!0

,3,
(
7 (�)'" (� (�; �)) � (�0; � (�; �)) 8 (�) < (�) :�:

A2Χ∆0;;Η, Χ78Β 68Ε4Β 4Γ02Χ;Η Χ74 Β0<4 Α4Β∆;Χ 0Β 8= 20Β4 1:

,3,
(
7 (�)'" (� (�; �)) � (�0; � (�; �)) 8 (�) < (�) :�

=

( �
,3,7
�
(�)'" (� (�; �)) � (�0; � (�; �)) 8 (�) < (�) :�

+

(
7 (�) ,3, [('" �) (� (�; �))] (�) 8 (�) < (�) :�

= A" (�) +B" (�)

Φ74Α4

A" (�)!
( �

,3,7
�
(�) � (�0; � (�; �)) 8 (�) < (�) :�

0=3

B" (�) =

(
7 (�)

∋

/;5

7,/5 (� (�; �)) ,3/;5 ['" (� (�; �)) � (�0; � (�; �))] (�) 8 (�) < (�) :�

+

(
7 (�)

∋

/;5

7,/5 (� (�; �))
�
−�56 ('" �)

�
(�0; � (�; �)) 8 (�) < (�) :�

� C" (�) + " (�)

Φ74Α4 C" (�) 2>=Ε4Α64Β Χ> Χ74 4Γ?Α4ΒΒ8>= 20;;43 C (�) 8= Χ74 2><?∆Χ0Χ8>= >5 20Β4
1; 0Β Χ>  " (�),

−�56 ('" �) =
�
−�56'"

�
 � + '"−

�
56 �:
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∀>Φ, '"−
�
56 � ! −�56 � Φ78;4

�
−�56'"

�
 � ! 0; 148=6 −�56 0 Ε42Χ>Α ϑ4;3 >5

;>20; 346Α44 � 0: H4=24 0;Β>  " (�) 2>=Ε4Α64Β Χ> Χ74 4Γ?Α4ΒΒ8>= 20;;43  (�) 8=
Χ74 2><?∆Χ0Χ8>= >5 20Β4 1, 0=3 Φ4 0Α4 3>=4.
(88)  4Χ =>Φ / (�0) 14 0 5Α>Ι4= >?4Α0Χ>Α >5 ΧΗ?4 � � 2 Φ8Χ7 :4Α=4; Α0. AΒ 8=

Χ74 20Β4 (8), 8Χ 8Β 4=>∆67 Χ> ?Α>Ε4 Χ70Χ

,30
(
7 (�) � (�0; � (�; �)) 8 (�) < (�) :�;

Φ74Α4  � 8Β 7><>64=4>∆Β >5 346Α44 ��,; 20= 14 Α4ΦΑ8ΧΧ4= 8= Χ74 5>Α<
∋

−;.

/ 0−. (�0)
,3−;.< (�) + / 0 (�0) < (�)

Φ8Χ7 / 0−. (�0) ; /
0 (�0) 5Α>Ι4= >?4Α0Χ>ΑΒ >5 ΧΗ?4 �+ ≅ � 2 0=3 �� 1; Α4Β?42Χ8Ε4;Η.

 4Χ ∆Β 2>=Β834Α >=;Η Χ74 20Β4 � � 3; Χ74 20Β4 � = 2 148=6 70=3;43 Φ8Χ7 Χ74
<>38ϑ20Χ8>= Β44= 8= (8), C0Β4 2.

,30
(
7 (�) � (�0; � (�; �)) 8 (�) < (�) :�

=

( �
,307
�
(�) � (�0; � (�; �)) 8 (�) < (�) :�+

+

(
7 (�) ,30 [ � (�0; � (�; �))] (�) 8 (�) < (�) :�

=

( �
,307
�
(�) � (�0; � (�; �)) 8 (�) < (�) :�+

+

(
7 (�)

∋

/;5

70/5 (� (�; �)) ,3/;5 [ � (�0; � (�; �))] (�) 8 (�) < (�) :�

+

(
7 (�)

∋

/;5

70/5 (� (�; �))
�
−�56 �

�
(�0; � (�; �)) 8 (�) < (�) :�

� A (�) + C (�) + (�) :

Φ74Α4 −�56 0Α4 =>Φ 38Θ4Α4=Χ80; >?4Α0Χ>ΑΒ >5 ;>20; 346Α44 � 1; 0=3 Χ74 70/5ΛΒ 70Ε4
;>20; 346Α44 � ma f≅ � 2; 0g : ∋74= A (�) 8Β 0 5Α>Ι4= >?4Α0Χ>Α >5 ΧΗ?4 �, 0??;843
Χ> < ;  (�) 8Β 0 5Α>Ι4= >?4Α0Χ>Α >5 ΧΗ?4 �� 1; 0??;843 Χ> < . !>Α4>Ε4Α,

C (�) = �7 (�)
∋

/;5

(
,3/;5

�
70/5 (� (�; �)) 8 (�)

�
(�) � (�0; � (�; �)) < (�) :�

+ 7 (�)
∋

/;5

(
70/5 (� (�; �)) � (�0; � (�; �)) 9/;5 (�) 8 (�) < (�) :�

� 7 (�)
∋

/;5

(
70/5 (� (�; �)) � (�0; � (�; �)) 8 (�) ,3/;5< (�) :�

Φ74Α4 Χ74 ϑΑΒΧ ΧΦ> Χ4Α<Β 0Α4 ΒΧ8;; 5Α>Ι4= >?4Α0Χ>ΑΒ >5 ΧΗ?4 �; 0??;843 Χ> < , Φ78;4
Χ74 Χ78Α3 8Β Χ74 Β∆< >5 5Α>Ι4= >?4Α0Χ>ΑΒ >5 ΧΗ?4 � + ma f≅ � 2; 0g 0??;843 Χ>
,3/;5<:
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∗4 20= =>Φ ?Α>2443 Χ> Χ74:
P1..& .& T(%.1%, 4.15. IΧ Β∆Π 24Β Χ> ?Α>Ε4 Χ74 5>Α<∆;0 (4.15), 5>Α Χ74 Β42>=3

8Β Β8<8;0Α.  4Χ ∆Β 2>=Β834Α >=4 >5 Χ74 Χ4Α<Β / ,−. (�0)
,3−;. 0??40Α8=6 8= (4.25).

I5 ≅ = 1, Χ74 Χ4Α< 8Β 0;Α403Η 8= Χ74 5>Α< Α4≅∆8Α43 1Η Χ74 ∋74>Α4<.
I5 ≅ = 2, Χ74= ,32;. 20= 14 ΦΑ8ΧΧ4= 0Β 0 2><18=0Χ8>= >5 2><<∆Χ0Χ>ΑΒ >5

Χ74 Ε42Χ>Α ϑ4;3Β ,31; ,32; :::; ,34; ?;∆Β (?>ΒΒ81;Η) Χ74 ϑ4;3 ,30. ∋74= / ,2. (�0) ,32;.
2>=Χ08=Β Χ4Α<Β / ,2. (�0)

,3+ ,3− 0=3 ?>ΒΒ81;Η 0 Χ4Α< / ,2. (�0)
,30. BΗ Χ74 01>Ε4

Χ74>Α4< Φ4 :=>Φ / ,2. 8Β 0 5Α>Ι4= >?4Α0Χ>Α >5 ΧΗ?4 �+ 1. ∀>Φ:

/ ,2. (�0) ,3+ ,3− =
�
/ ,2. (�0) ,3+

�
,3− = / ,. (�0) ,3− ;

Φ74Α4 1Η ∋74>Α4< 4.11, / ,. (�0) 8Β 0 5Α>Ι4= >?4Α0Χ>Α >5 ΧΗ?4 �; >= Χ74 >Χ74Α
70=3, 1Η (4.2),

/ ,2. (�0)
,30 = / ,2. (�0)

0
#,L0 �

4∋

+;−=1

,7+− (�0) ,3+ ,3−

1
∃

= / ,2. (�0)
,L0 �

4∋

+;−=1

,7+− (�0)
�
/ ,2. (�0)

,3+
�
,3−

= / ,2. (�0)
,L0 �

4∋

+;−=1

,7+− (�0)/ ,+;. (�0) ,3− ;

Φ8Χ7 / ,2. (�0) ; /
,
+;. (�0) ; 5Α>Ι4= >?4Α0Χ>ΑΒ >5 ΧΗ?4 � + 1; �; Φ7827 8Β 8= Χ74 5>Α<

0;;>Φ43 1Η Χ74 Χ74Β8Β >5 Χ74 ∋74>Α4<.
F8=0;;Η, 85 ≅ > 2, 8Χ 8Β 4=>∆67 Χ> ;>>: 0Χ Χ74 ϑ=0; ?0ΑΧ >5 Χ74 38Θ4Α4=Χ80;

>?4Α0Χ>Α ,3−;.: 8Χ 8Β 0;Φ0ΗΒ ?>ΒΒ81;4 Χ> Α4ΦΑ8Χ4 ,3−;. 48Χ74Α 0Β ,3−�1;. ,31;. >Α 0Β
,3−�2;. ,32;.. I= Χ74 ϑΑΒΧ 20Β4, Φ4 70Ε4

/ ,−. (�0) ,3−;. =
�
/ ,−. (�0) ,3−�1;.

�
,31;. = / 0,−. (�0) ,31;.;

Φ8Χ7 / 0,−. (�0) 5Α>Ι4= >?4Α0Χ>Α >5 ΧΗ?4 �; Φ7827 8Β 0;Α403Η 8= Χ74 ?Α>?4Α 5>Α<; 8=
Χ74 Β42>=3 20Β4, Φ4 70Ε4

/ ,−. (�0) ,3−;. =
�
/ ,−. (�0) ,3−�2;.

�
,32;. = /

0,
− (�0) ,32;.

Φ8Χ7 / 0,−. (�0) 5Α>Ι4= >?4Α0Χ>Α >5 ΧΗ?4 � + 1; 0=3 Χ74= Φ4 20= ?Α>2443 0Β 8= Χ74
20Β4 ≅ = 2. &> Χ74 ∋74>Α4< 8Β ?Α>Ε43.

4.3 P!1!,%31)7 !−∃ 1%/1%2%−3!3).− &.1,4+!2

∋7Α>∆67>∆Χ Χ78Β Β∆1Β42Χ8>= Φ4 Φ8;; <0:4 4ΓΧ4=Β8Ε4 ∆Β4 >5 2><?∆Χ0Χ8>=Β >=
5Α>Ι4= >?4Α0Χ>ΑΒ >5 ΧΗ?4 �: ∋> <0:4 <>Α4 Α40301;4 >∆Α 5>Α<∆;0Β, Φ4 Φ8;; ∆Β4 Χ74
ΒΗ<1>;Β

/ (�0) ; . (�0) ; + (�0)
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(Φ8Χ7 ?>ΒΒ81;Η >Χ74Α 8=34Γ4Β) Χ> 34=>Χ4 5Α>Ι4= >?4Α0Χ>ΑΒ >5 ΧΗ?4 0; 1; 2, Α4Β?42-
Χ8Ε4;Η.
I= >Α34Α Χ> ?Α>Ε4 Α4?Α4Β4=Χ0Χ8>= 5>Α<∆;0Β 5>Α Β42>=3 >Α34Α 34Α8Ε0Χ8Ε4Β, Φ4

ΒΧ0ΑΧ Φ8Χ7 Χ74 5>;;>Φ8=6 ?0Α0<4ΧΑ8Γ 834=Χ8Χ84Β, 0=0;>6>∆Β Χ> .25, ∋7<. 10/, .3,
∋7<. 3.1/.

T(%.1%, 4.18 G−:)2 7 2 C10
�
,B
�
�;−

��
, 8,)6) )<−78 .,−(�0), .0 (�0), .

�
,−(�0),

.�0 (�0) ; ∗63>)2 34)6%8367 3∗ 8=4) 1 %2( + (�0); +
�(�0); ∗63>)2 34)6%8367 3∗ 8=4) 2

(3:)6 8,) &%00 ,B
�
�;−

�
) 79∋, 8,%8:

7% = ,L#0 + � (�0) +
4∋

,;−=1

,7,− (�0).�,− (�0) + .�0 (�0) ;

7% = + (�0) ,L0 +
4∋

,;−=1

,7,− (�0).,− (�0) + .0 (�0) (4.27)

;,)6) % ()238)7 8,) −()28−8=. M36)3:)6, .�,− (�0) ; .
�
0 (�0) ; +

� (�0) %6) 13()0)(

32 �# ; ;,−0) .,− (�0) ; .0 (�0) ; + (�0) %6) 13()0)( 32 �: E<40−∋−80=,

+ � (�0) < (�) = �
7(�)

9(�)

(

eB

�# (�0; �(�; �)) 8(�) <(�) :�

+ (�0) < (�) = �8 (�)
(

eB

7(�)

9(�)
�(�0; �(�; �)) <(�) :�

;,)6) 9 −7 8,) ∗92∋8−32 %44)%6−2+ −2  ,)36)1 3.3 (∋).

∋74 ?Α>>5 >5 Χ78Β Α4Β∆;Χ 8Β Β8<8;0Α Χ> Χ70Χ >5 .25/, .3, ∋7<. 3.1/. H>Φ4Ε4Α, Φ4
Φ8;; ΦΑ8Χ4 0 34Χ08;43 Ε4ΑΒ8>=.
P1..&.  4Χ ∆Β 34ϑ=4

+ �(�0)<(�) =
7(�)

9(�)

(

eB

�# (�0; �(�; �)) 8(�) <(�) :�

Φ74Α4 7; 8 2 C10
�
,B
�
�;−

��
Β∆27 Χ70Χ 78 = 7; 0=3 9 (�) 8Β Χ74 5∆=2Χ8>= 0??40Α8=6

8= Χ74 5>Α<∆;0 >5 270=64 >5 Ε0Α801;4Β (3.7), 0=3 ;4Χ ∆Β 2><?∆Χ4 ,L#0 + �(�0)<; 5>Α
< 2 C10

�
,B
�
�;−

��
. ∗4 70Ε4 Χ> 0??;Η 0 38ΒΧΑ81∆Χ8>=0; 0Α6∆<4=Χ ;8:4 8= Χ74

?Α>>5 >5  4<<0 4.13: 5>Α ! 2 C10
�
,B
�
�;−

��
; ;4Χ ∆Β 4Ε0;∆0Χ4

(

eB

,L0! (�)+ �(�0)< (�) :� = lim
"!0

(

eB

,L0! (�)+ �" (�0)< (�) :�

Φ74Α4

+ �" (�0)<(�) =
7(�)

9(�)

(

eB

'" (�(�; �)) �
# (�0; �(�; �)) 8(�) <(�) :�
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Φ8Χ7 '" 0Β 8= Χ74 ?Α>>5 >5 Χ74 ≅∆>Χ43  4<<0.(

eB

,L0! (�)+ �" (�0)< (�) :�

=

(

eB

8<(�)

�(

eB

7(�)

9(�)
'" (�(�; �)) �

# (�0; �(�; �)) ,L0! (�) :�
�
:�

=

(

eB

8<(�)

�(

eB

,L#0
�
7(�)

9(�)

�
'" (�(�; �)) �

# (�0; �(�; �))! (�) :�

�
:�

+

(

eB

8<(�)

�(

eB

7(�)

9(�)
,L#0
�
'" (�(�; �)) �# (�0; �(�; �))

�
(�)! (�) :�

�
:�

+

(

eB

8<(�)

0
#
(

eB

2

4∋

+;.=1

,7+. (�0) ,3#
+

�7
9

�
(�) ,3#

.

�
'" (�(�; �)) �# (�0; �(�; �))

�
(�)! (�) :�

1
∃ :�

� A" +B" + C":

A" !
(

eB

8<(�)

�(

eB

,L#0
�
7(�)

9(�)

�
�# (�0; �(�; �))! (�) :�

�
:�

=

4∋

+;.=1

,7+. (�0)
(

eB

<(�)+#+. (�0)! (�) :� +

(

eB

<(�)+#0 (�0)! (�) :�

=

4∋

+;.=1

,7+. (�0)
(

eB

! (�)++. (�0) <(�):� +

(

eB

! (�)+0 (�0) <(�):�

Φ74Α4

++. (�0) <(�) = ,3#
+
,3#
.

�7
9

�
(�)

�(

eB

�# (�0; �(�; �))8 (�) <(�):�

�
:�

+0 (�0) <(�) = ,3#
0

�7
9

�
(�)

�(

eB

�# (�0; �(�; �))8 (�) <(�):�

�
:�

0Α4 5Α>Ι4= >?4Α0Χ>ΑΒ >5 ΧΗ?4 2, <>34;43 >= �# .

B" =

(

eB

8<(�)

�(

eB

7(�)

9(�)

�
L�#0

�
'"�

# (�0; �)
��
(�(�; �))! (�) :�

+

0
#
(

eB

7(�)

9(�)

0
#∋

,;−

,7,− (�0)
�
4,−

�
− +−

�
, 4− +−

�
,−

�
−

�
+−�0

1
∃�'"�# (�0; �)

�
(�(�; �))! (�) :�

1
∃
9
!
; :�

=

(

eB

8<(�)

 (

k8k<!
L�#0

�
'" (Κ) �

# (�0;Κ)
�
(7!)

�
�(�; �)�1 (Κ)

�
(1 +∗ (kΚk)) :Κ

!
:�

+

(

eB

8<(�)

(

k8k<!

0
#∋

,;−

,7,− (�0)
�
4,−

�
− +−

�
, 4− +−

�
,−

�
−

�
+−�0

1
∃�'" (Κ) �# (�0;Κ)

�
�

� (7!)
�
�(�; �)�1 (Κ)

�
(1 +∗ (kΚk)) :Κ:�

=  " + !":
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∋> ΒΧ∆3Η  "; ;4Χ (7!)� (Κ) � (7!)
�
�(�; �)�1 (Κ)

�
: ∋74=

 " =

(

eB

8<(�)

(

k8k<!
'" (Κ) �

# (�0;Κ)L�0 (7!)� (Κ) :Κ:�+

+

(

eB

8<(�)

(

k8k<!
L�#0

�
'"�

# (�0; �)
�
(Κ) (7!)� (Κ)∗ (kΚk) :Κ:�

�  1
" + 

2
" :

 1
" !

(

eB

8<(�)

(

k8k<!
�# (�0;Κ)L�0 (7!)� (Κ) :Κ:� = �

(

eB

8<(�) (7!)� (0) :�

= �
(

eB

8<(�) (7!) (�) :� = �
(

eB

(7<!) (�):�:

 2
" =

(

eB

8<(�)

(

k8k<!

�
L�#0 '"

�
(Κ) �# (�0;Κ) (7!)� (Κ)∗ (kΚk) :Κ:�

+

(

eB

8<(�)

(

k8k<!
2
∋

,;−

,7,− (�0) (4,'") (Κ)4−�# (�0;Κ) (7!)� (Κ)∗ (kΚk) :Κ:�:

A 38;0Χ8>= 0Α6∆<4=Χ 0Β 8= Χ74 ?Α>>5 >5  4<<0 4.13 Χ74= 68Ε4Β

 2
" ! 0:

!>Α4>Ε4Α,

!" !
(

eB

8<(�)

(

k8k<!

0
#∋

,;−

,7,− (�0)
�
4,−

�
− +−

�
, 4− +−

�
,−

�
−

�
+−�0

1
∃�# (�0;Κ)�

� (7!)
�
�(�; �)�1 (Κ)

�
(1 +∗ (kΚk)) :Κ:�

2><8=6 102: Χ> Χ74 >Α868=0; Ε0Α801;4Β � 8= Χ74 8==4Α 8=Χ46Α0;

=

(

eB

8<(�)

(

eB

0
#∋

,;−

,7,− (�0)
�
4,−

�
− +−

�
, 4− +−

�
,−

�
−

�
�# (�0; �)+

+−�0�
# (�0; �) (�(�; �))

(7!) (�)

9 (�)

�
:�:�

=

(

eB

<(�)

2
4∋

,;−

,7,− (�0).0,− (�0) + .00 (�0)

3
5! (�) :�

=

(

eB

! (�)

2
4∋

,;−

,7,− (�0).0#,− (�0) + .0#0 (�0)

3
5 <(�):�

52



Φ74Α4 .0,− (�0) ; .
0
0 (�0) 0Α4 ΧΑ0=Β?>Β43 >5 5Α>Ι4= >?4Α0Χ>ΑΒ >5 ΧΗ?4 >=4 <>34;43

>= �# ; 74=24 0Α4 5Α>Ι4= >?4Α0Χ>ΑΒ >5 ΧΗ?4 >=4, <>34;43 >= � (Β44 ∃Α>?>Β8Χ8>=
4.10); Χ74Α45>Α4 .0#,− (�0) ; .

0#
0 (�0) 0Α4 5Α>Ι4= >?4Α0Χ>ΑΒ >5 ΧΗ?4 >=4, <>34;43 >=

�# . A=0;>6>∆Β;Η, >=4 20= 2742: Χ70Χ

C" !
4∋

+;.=1

,7+. (�0)
(

eB

! (�).
00

+. (�0) <(�):�

Φ74Α4 .
00

+. (�0) 0Α4 5Α>Ι4= >?4Α0Χ>ΑΒ >5 ΧΗ?4 >=4, <>34;43 >= �
# .

H4=24 Φ4 70Ε4 ?Α>Ε43 Χ70Χ

,L#0 + �(�0)< = +1 (�0) < � 7< +

2
4∋

,;−

,7,− (�0).0#,− (�0) + .0#0 (�0)

3
5 <

= �7< +

2
4∋

,;−

,7,− (�0).�,− (�0) + .�0 (�0)

3
5 <

Β8=24 .0#0 (�0)++1 (�0) 8Β 0 5Α>Ι4= >?4Α0Χ>Α >5 ΧΗ?4 1, 0=3 Β8<?;85Η8=6 >∆Α =>Χ0Χ8>=
Φ8Χ7 .,− 8= ?;024 >5 .

0#
,− : ∀>Χ4 Χ70Χ .

�
,− (�0) ; .

�
0 (�0) 0Α4 5Α>Ι4= >?4Α0Χ>ΑΒ >5 ΧΗ?4

1, <>34;43 >= �# : ∋78Β ?Α>Ε4Β Χ74 ϑΑΒΧ 834=Χ8ΧΗ 8= Χ74 ΒΧ0Χ4<4=Χ >5 Χ74 Χ74>Α4<,
0?0ΑΧ 5Α>< 0= 8<<0Χ4Α80; 270=64 >5 Β86= 8= Χ74 34ϑ=8Χ8>= >5 + �(�0):
∀4ΓΧ, ;4Χ ∆Β ΧΑ0=Β?>Β4 Χ78Β 834=Χ8ΧΗ, 64ΧΧ8=6

+ �# (�0) ,L0< (�) =

0
#∋

,−

,7,− (�0).�#,− (�0) + .�#0 (�0)

1
∃ < (�)� (7<) (�) :

∀>Χ4 Χ70Χ

+ �# (�0)< (�) = 8(�)

(

eB

7(�)

9(�)
�# (�0; �(�; �)) <(�) :�

= 8 (�)

(

eB

7(�)

9(�)
�(�0; �(�; �)) <(�) :�;

Φ7827 8Β 0 5Α>Ι4= >?4Α0Χ>Α >5 ΧΗ?4 ΧΦ>, <>34;43 >= �. #= Χ74 >Χ74Α 70=3,
.�#,− (�0) ; .

�#
0 (�0) 0Α4 ΧΑ0=Β?>Β43 >5 5Α>Ι4= >?4Α0Χ>ΑΒ >5 ΧΗ?4 1 <>34;43 >= �

# ;
Χ74Α45>Α4 0Α4 5Α>Ι4= >?4Α0Χ>ΑΒ >5 ΧΗ?4 1, <>34;43 >= �: ∋78Β 2>=2;∆34Β Χ74 ?Α>>5.

T(%.1%, 4.19 (R%/1%2%−3!3).− .& ,30 ,3/Κ ∀8 &1.9%− ./%1!3.12) G−:)2 7 2
C10

�
,B
�
�;−

��
; �0 2 ,B

�
�;−

�
; ∗36 %2= Χ; Β = 1; 2; :::; Γ, 8,)6) )<−78 ∗63>)2 34)6-
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%8367 3:)6 8,) &%00 ,B
�
�;−

�
; 79∋, 8,%8 ∗36 %2= Κ 2 C10

�
,B
�
�;−

��

,30 ,3/ (7Κ) = //0 (�0) ,L0Κ+
4∋

.=1

//0;. (�0) ,3.Κ+ / 0/0 (�0)Κ

+

4∋

,;−=1

,7,− (�0)

8
 
:

4∋

.=1

/ ,−/0;. (�0)
,3.Κ+

4∋

+;.=1

,7+. (�0)/ 0,−/0;+ (�0) ,3.Κ+

(4.28)

+ .,−/0 (�0)
,L0Κ+ / ,−/0 (�0)Κ

2

(A00 8,) /::: (�0) %6) ∗63>)2 34)6%8367 3∗ 8=4) 0, .
,−
/0 (�0) %6) 3∗ 8=4) 1). A073,

,30 ,3/ (7Κ) = //0 (�0) ,LΚ+ //0 (�0)

0
#

4∋

,;−=1

[,7,−(�0)� ,7,−(�)] ,3, ,3−Κ

1
∃+

+

4∋

.=1

//0;. (�0) ,3.Κ+ / 0/0 (�0)Κ+

+

4∋

,;−=1

,7,− (�0)

8
 
:

4∋

.=1

/ ,−/0;. (�0)
,3.Κ+

4∋

+;.=1

,7+. (�0)/ 0,−/0;+ (�0) ,3.Κ+ .
,−
/0 (�0)

,LΚ

+.,−/0 (�0)

0
#

4∋

,;−=1

[,7,−(�0)� ,7,−(�)] ,3, ,3−Κ

1
∃+ / ,−/0 (�0)Κ

9
!
; : (4.29)

R%,!1∗ 4.20  ,) 6)46)7)28%8−32 ∗36190%7 3∗ 8,) %&3:) 8,)36)1 ,%:) % ∋91-
&)6731) %74)∋8, (9) 83 8,) 46)7)2∋) 3∗ 8,) ∋3)Χ ∋−)287,7,−(�0) ;,−∋, %44)%6 7):-
)6%0 8−1)7 %7 1908−40−∋%8−:) ∗%∋8367. A2=;%=, −∗ ;) %+6)) 83 0)%:) −140−∋−80=
92()67833( −2 8,) 7=1&30 3∗ ∗63>)2 34)6%8367 8,) 4377−&0) 1908−40−∋%8−32 &= 8,)
∋3)Χ ∋−)287,7,−, 396 ∗36190%7 %7791) 8,) ∗3003;−2+ 136) ∋314%∋8 ∗361:

,30 ,3/ (7Κ) = //0 (�0) ,L0Κ+
4∋

.=1

/ /0. (�0) ,3.Κ+ / 0/0 (�0)Κ

%2(

,30 ,3/ (7Κ) = //0 (�0) ,LΚ+ //0 (�0)

0
#

4∋

,;−=1

[,7,−(�0)� ,7,−(�)] ,3, ,3−Κ

1
∃+

+

4∋

.=1

/ /0. (�0) ,3.Κ+ / 0/0 (�0)Κ:

I2 8,) 4633∗ 3∗ % 46−36− )78−1%8)7, ;,)2 ;) ;−00 8%/) C� 36 ∋3 23617 3∗ &38,
7−()7 3∗ 8,)7) −()28−8−)7, 8,) 1908−40−∋%8−:) ∗%∋8367 ,7+− ;−00 &) 7−140= &392()( &=
8%/−2+, 6)74)∋8−:)0=, 8,) C� 36 8,) ∋1 23617 3∗ 8,) ,7+−; ,)2∋) 0)%:−2+ 8,)7)
∗%∋8367 −140−∋−80= 92()67833( −7 ,%610)77.
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P1..&. F>Α Κ 2 C10
�
,B
�
�;−

��
, ;4Χ ∆Β ΒΧ0ΑΧ Φ8Χ7 Χ74 834=Χ8ΧΗ

7Κ = + (�0) ,L0Κ+
4∋

,;−=1

,7,− (�0).,− (�0)Κ+ .0 (�0)Κ

(Β44 ∋74>Α4< 4.18); Χ0:8=6 >=4 34Α8Ε0Χ8Ε4 ,3/ (Β = 1; 2; :::; Γ) 0=3 0??;Η8=6 ∋74-
>Α4< 4.11 0=3 ∋74>Α4< 4.15, Φ4 64Χ

,3/ (7Κ) = ,3/+ (�0) ,L0Κ+
4∋

,;−=1

,7,− (�0) ,3/.,− (�0)Κ+ ,3/.0 (�0)Κ

= ./ (�0) ,L0Κ+
4∋

,;−=1

,7,− (�0)
(

4∋

.=1

.,−/;. (�0)
,3.Κ+

+

4∋

+;.=1

,7+. (�0).0,−/;+ (�0) ,3.Κ+ +
,−
/ (�0)

,L0Κ+ .,−/ (�0)Κ

9
!
;+

+

4∋

.=1

./. (�0) ,3.Κ+
4∋

+;.=1

,7+. (�0).+/ (�0) ,3.Κ+ ./0 (�0)Κ+ + / (�0) ,L0Κ

= .0/ (�0) ,L0Κ+
4∋

.=1

./;. (�0) ,3.Κ+ .0/ (�0)Κ

+

4∋

,;−=1

,7,− (�0)

8
 
:

4∋

.=1

.,−/;. (�0)
,3.Κ+

4∋

+;.=1

,7+. (�0).0,−/;+ (�0) ,3.Κ +

++ ,−/ (�0)
,L0Κ+ .,−/ (�0)Κ

2

Φ74Α4 0;; Χ74 .::: (�0) 0Α4 5Α>Ι4= >?4Α0Χ>ΑΒ >5 ΧΗ?4 1 0=3 +
,−
/ (�0) 8Β >5 ΧΗ?4 2.

∀4ΓΧ, Φ4 ?4Α5>Α< 0=>Χ74Α 34Α8Ε0Χ8Ε4 ,30 >5 1>Χ7 Β834Β, 64ΧΧ8=6

,30 ,3/ (7Κ) = //0 (�0) ,L0Κ+
4∋

.=1

//0;. (�0) ,3.Κ+ / 0/0 (�0)Κ

+

4∋

,;−=1

,7,− (�0)

8
 
:

4∋

.=1

/ ,−/0;. (�0)
,3.Κ+

4∋

+;.=1

,7+. (�0)/ 0,−/0;+ (�0) ,3.Κ +

+.,−/0 (�0)
,L0Κ+ / ,−/0 (�0)Κ

2

Φ74Α4 0;; Χ74 /::: (�0) 0Α4 5Α>Ι4= >?4Α0Χ>ΑΒ >5 ΧΗ?4 0; 0=3 .
,−
/ (�0) 8Β >5 ΧΗ?4 1.

55



∋78Β 8Β 4Γ02Χ;Η (4.28). F8=0;;Η, 8=Β4ΑΧ8=6 8= Χ78Β 4≅∆0Χ8>= Χ74 834=Χ8ΧΗ

,L0Κ(�) = ,LΚ(�) + ( ,L0 � ,L)Κ(�) (4.30)

= ,LΚ(�) +
4∋

,;−=1

[,7,−(�0)� ,7,−(�)] ,3, ,3−Κ(�)

Φ4 ϑ=3 (4.29), 0=3 Χ74 Χ74>Α4< 8Β ?Α>Ε43.

∋74 01>Ε4 Χ74>Α4< 8Β Β∆8Χ43 Χ> Χ74 ?Α>>5 >5 C�
e∃
4ΒΧ8<0Χ4Β 5>Α ,3, ,3−Κ. I=

>Α34Α Χ> ?Α>Ε4 ∋3 4ΒΧ8<0Χ4 5>Α ,3, ,3−Κ Φ4 =443 Χ74 5>;;>Φ8=6 Ε0Α80Χ8>=:

T(%.1%, 4.21 (R%/1%2%−3!3).− .& ,30 ,3/Κ ∀8 5!1)!∀+% ./%1!3.12) G−:)2
7 2 C10

�
,B
�
�;−

��
, ∗36 %2= Χ; Β = 1; 2; :::; Γ, 8,)6) )<−78 :%6−%&0) 34)6%8367 3:)6

8,) &%00 ,B
�
�;−

�
; 79∋, 8,%8 ∗36 %2= Κ 2 C10

�
,B
�
�;−

��

,30 ,3/ (7Κ) = //0 ,LΚ+
4∋

,;−=1

[,7,− ; //0] ,3, ,3−Κ+
4∋

.=1

//0;. ,3.Κ+ / 0/0Κ+

+

4∋

,;−=1

,7,−

8
 
:

4∋

.=1

/ ,−/0;.
,3.Κ+

4∋

+;.=1

,7+./ 0,−/0;+ ,3.Κ+ .
,−
/0
,LΚ+

+

4∋

,;−=1

/
,7,− ; .,−/0

0
,3, ,3−Κ+ / ,−/0Κ

9
!
; : (4.31)

H)6) %00 8,) /::: %6) :%6−%&0) 34)6%8367 3∗ 8=4) 0, .
,−
/0 −7 3∗ 8=4) 1, [7; / ] ()238)7

8,) ∋31198%836 3∗ 8,) 1908−40−∋%8−32 ∗36 7 ;−8, 8,) 34)6%836 / , %2( ,7,− %6) 8,)
∋3)Χ ∋−)287 3∗ 8,) 34)6%836,L (;,−∋, %6) 23 032+)6 ∗63>)2 %8 �0).

R%,!1∗ 4.22  ,) %&3:) 6)46)7)28%8−32 ∗36190% ∋%2 &) ;6−88)2 −2 % 7,368)6
;%= %7

,30 ,3/ (7Κ) = //0 ,LΚ+
4∋

,;−=1

[,7,− ; //0] ,3, ,3−Κ+
4∋

.=1

//0;. ,3.Κ+ / 0/0Κ

−∗ ;) 0)%:) 92()67833( −2 8,) 7=1&30 3∗ :%6−%&0) 34)6%836 8,) 4377−&0) 1908−40−∋%-
8−32 &= 8,) ∋3)Χ ∋−)287,7,− : S)) 8,) 46):−397 6)1%6/.
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P1..&.  4Χ ∆Β Α4ΦΑ8Χ4 (4.29) 0Β

,30 ,3/ (7Κ) (�) =
�
//0 (�0) ,LΚ

�
(�) + //0 (�0)

0
#

4∋

,;−=1

[,7,−(�0)� ,7,−(�)] ,3, ,3−Κ

1
∃ (�)+

+

4∋

.=1

�
//0;. (�0) ,3.Κ

�
(�) +

�
/ 0/0 (�0)Κ

�
(�)+

+

4∋

,;−=1

,7,− (�0)
(

4∋

.=1

�
/ ,−/0;. (�0)

,3.Κ
�
(�)

+

4∋

+;.=1

,7+. (�0)
�
/ 0,−/0;+ (�0)

,3.Κ
�
(�) +

�
.,−/0 (�0)

,LΚ
�
(�)+

+.,−/0 (�0)

0
#

4∋

,;−=1

[,7,−(�0)� ,7,−(�)] ,3, ,3−Κ

1
∃ (�) +

�
/ ,−/0 (�0)Κ

�
(�)

9
!
; :

5>Α 0=Η � 2 ,B
�
�;−

�
:  4ΧΧ8=6 =>Φ �0 = � Φ4 64Χ

,30 ,3/ (7Κ) (�) =
�
//0 ,LΚ

�
(�) + //0

0
#

4∋

,;−=1

[,7,−(�)� ,7,−(�)] ,3, ,3−Κ

1
∃ (�)+

+

4∋

.=1

�
//0;. ,3.Κ

�
(�) +

�
/ 0/0Κ

�
(�) +

4∋

,;−=1

,7,− (�)
(

4∋

.=1

�
/ ,−/0;.

,3.Κ
�
(�)

+

4∋

+;.=1

,7+. (�)
�
/ 0,−/0;+

,3.Κ
�
(�) +

�
.,−/0

,LΚ
�
(�)+

+.,−/0

0
#

4∋

,;−=1

[,7,−(�)� ,7,−(�)] ,3, ,3−Κ

1
∃ (�) +

�
/ ,−/0Κ

�
(�)

9
!
; :

Φ74Α4 0;; Χ74 /::: 0Α4 :%6−%&0) >?4Α0Χ>ΑΒ >5 ΧΗ?4 Ι4Α> >Ε4Α ,B
�
�;−

�
; 0=3 .,−/0 0Α4

Ε0Α801;4 >?4Α0Χ>ΑΒ >5 ΧΗ?4 1. ∀>Χ4 Χ70Χ

/
�
[,7,−(�)� ,7,−(�)] ,3, ,3−Κ

�
(�)

8Β 4Γ02Χ;Η Χ74 2><<∆Χ0Χ>Α [,7,− ; / ] 0??;843 Χ> ,3, ,3−Κ: H4=24 Χ74 Χ74>Α4< 8Β
?Α>Ε43.

5 S)−∋4+!1 )−3%∋1!+ %23),!3%2 &.1 ./%1!3.12 .&

38/% 9%1.

∋74 ?Α>>5 >5 % 46−36− 4ΒΧ8<0Χ4Β >= Χ74 34Α8Ε0Χ8Ε4Β ,3, ,3−Κ Φ8;; 5>;;>Φ, 0Β Φ8;;
14 4Γ?;08=43 8= 34Χ08; 8= Ρ 6.1 0=3 Ρ 7.1, 2><18=8=6 Χ74 Α4?Α4Β4=Χ0Χ8>= 5>Α<∆;0Β
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?Α>Ε43 8= Ρ 4.3 Φ8Χ7 Β∆8Χ01;4 C� >Α ∋3 4ΒΧ8<0Χ4Β 5>Α Μ>?4Α0Χ>ΑΒ >5 ΧΗ?4 Ι4Α>Ν. ∋>

14 <>Α4 ?Α428Β4, Χ74 Α4Β∆;ΧΒ Φ4 =443 0Α4 Χ74 C�
e∃

�
,B
�
�;−

��
2>=Χ8=∆8ΧΗ >5 0 ∗63>)2

34)6%836 3∗ 8=4) >)63 0=3 Χ74 ∋3
�
,B
�
�;−

��
2>=Χ8=∆8ΧΗ >5 0 :%6−%&0) 34)6%836 3∗

8=4) >)63, Χ>64Χ74Α Φ8Χ7 Χ74 ∋3
�
,B
�
�; Η
��

4ΒΧ8<0Χ4 5>Α Χ74 2><<∆Χ0Χ>Α >5 0

Ε0Α801;4 >?4Α0Χ>Α >5 ΧΗ?4 Ι4Α> Φ8Χ7 Χ74 <∆;Χ8?;820Χ8>= Φ8Χ7 0 1(∗ 5∆=2Χ8>=,

8<?;Η8=6 Χ70Χ Χ74 ∋3
�
,B
�
�; Η
��
=>Α< >5 Χ74 2><<∆Χ0Χ>Α Ε0=8Β74Β 0Β Η ! 0. A;;

Χ74Β4 Α4Β∆;ΧΒ Φ8;; 14 34Α8Ε43 8= Χ74 ?Α4Β4=Χ Β42Χ8>=, 0Β 0= 0??;820Χ8>= >5 01ΒΧΑ02Χ
Α4Β∆;ΧΒ ?Α>Ε43 8= .8/ 8= Χ74 2>=Χ4ΓΧ >5 ;>20;;Η 7><>64=4>∆Β Β?024Β, Φ7827 70Ε4
144= Α420;;43 8= Ρ 3.3. ∋> 0??;Η Χ74<, Φ4 =443 Χ> 2742: Χ70Χ >∆Α :4Α=4;Β >5 ΧΗ?4
Ι4Α> Β0Χ8Β5Η Β∆8Χ01;4 ?Α>?4ΑΧ84Β. !>Α4>Ε4Α, Χ> ΒΧ∆3Η :%6−%&0) >?4Α0Χ>ΑΒ >5 ΧΗ?4
Ι4Α>, Φ4 0;Β> 70Ε4 Χ> Α4Β>ΑΧ Χ> Χ74 2;0ΒΒ820; Χ427=8≅∆4 >5 4Γ?0=Β8>= 8= Β4Α84Β >5
Β?74Α820; 70Α<>=82Β, 30Χ8=6 102: Χ> C0;34Ας=-−Η6<∆=3 .9/, 0=3 0;Α403Η 0??;843
8= Χ74 5Α0<4Φ>Α: >5 Ε42Χ>Α ϑ4;3Β 8= .2/, .3/. ∋78Β ΒΧ∆3Η Φ8;; 14 Β?;8Χ 8= ΧΦ>
Β∆1Β42Χ8>=, Χ74 ϑΑΒΧ 34Ε>Χ43 Χ> 5Α>Ι4= >?4Α0Χ>ΑΒ >= C�; Χ74 Β42>=3 Χ> Ε0Α801;4
>?4Α0Χ>ΑΒ >= ∋3.

5.1 C� #.−3)−4)38 .& &1.9%− ./%1!3.12 .& 38/% 0

∋74 6>0; >5 Χ78Β Β42Χ8>= 8Β Χ74 ?Α>>5 >5 Χ74 5>;;>Φ8=6:

T(%.1%, 5.1 L)8 ,B
�
�;−

�
&) %7 &)∗36), �0 2 ,B

�
�;−

�
; %2( 0)8 / (�0) &) % ∗63>)2

34)6%836 3∗ 8=4) � � 0 3:)6 ,B
�
�;−

�
.  ,)2 8,)6) )<−787 9 > 0 79∋, 8,%8 ∗36 %2=

Η < − %2( Κ 2 C�
e∃;0
( ,B
�
�; Η
�
),

k/ (�0)ΚkC�
fX
( eB(�;5)) � 9 kΚkC�

fX
( eB(�;5)) (5.1)

;,)6) 9 ()4)2(7 32 −;
1
,3,
2
; � %2( �:

%420;; Χ70Χ � 8Β Χ74 Μ4;;8?Χ828ΧΗ 2>=ΒΧ0=ΧΝ0??40Α8=6 8= AΒΒ∆<?Χ8>= (H) (Β44
Ρ 2).
∋> ?Α>Ε4 Χ78Β, Φ4 Φ8;; 0??;Η ∋74>Α4<Β 3.11 0=3 3.14 01>∆Χ Χ74 C� 2>=Χ8=∆8ΧΗ

>5 Β8=6∆;0Α 0=3 5Α02Χ8>=0; 8=Χ46Α0;Β 8= Β?024Β >5 ;>20;;Η 7><>64=4>∆Β ΧΗ?4, Χ0:8=6


. = ,B
�
�;

Α−

Α + 1

�
5>Α Α = 1; 2; 3::: (5.2)

BΗ D4ϑ=8Χ8>= 4.5, >∆Α 5Α>Ι4= :4Α=4; >5 ΧΗ?4 Ι4Α> 20= 14 ΦΑ8ΧΧ4= 0Β:

Α(�0; �; �) = Α
0(�0; �; �) + Α

00(�0; �; �)

=

(
H∋

,=1

7,(�)8,(�) ,�(�0; �) + 70(�)80(�) 0�(�0; �)
)
(�(�; �))

+

(
H∋

,=1

70,(�)8
0
,(�) 

0
,�
# (�0; �) + 700(�)800(�) 0

0�
# (�0; �)

)
(�(�; �))
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5>Α Β><4 ?>Β8Χ8Ε4 8=Χ464Α ∃; Φ74Α4 7,; 8,; 7
0
,; 8

0
, 2 C10

�
,B
�
�;−

��
(? = 0; 1; : : : ∃),

 , 0=3  
0
, 0Α4 38Θ4Α4=Χ80; >?4Α0Χ>ΑΒ Β∆27 Χ70Χ: 5>Α ? = 1; : : : ;∃ ,  , 0=3  

0
, 0Α4

7><>64=4>∆Β >5 346Α44 � 2 (Β> Χ70Χ  ,�(�0; �) 0=3  0
,�
# (�0; �) 0Α4 7><>64-

=4>∆Β 5∆=2Χ8>= >5 346Α44 � �,),  0 0=3  0
0 0Α4 38Θ4Α4=Χ80; >?4Α0Χ>ΑΒ Β∆27 Χ70Χ

 0�(�0; �) 0=3  0
0�

# (�0; �) 70Ε4 1>∆=343 ϑΑΒΧ >Α34Α (E∆2;8340=) 34Α8Ε0Χ8Ε4Β (Φ4
Φ8;; 1Α84ΚΗ Β0Η Χ70Χ  0�(�0; �) 0=3  0

0�
# (�0; �) 0Α4 Α46∆;0Α).

∗4 Φ8;; ?Α>Ε4 >∆Α ∋74>Α4< 5>Α Χ74 >?4Α0Χ>Α Φ8Χ7 :4Α=4; Α0; Χ74 ?Α>>5 5>Α Α00

148=6 2><?;4Χ4;Η 0=0;>6>∆Β.  4Χ ∆Β Β?;8Χ Α0 0Β

Α0(�0; �; �) = 71(�)81(�) 1�(�0; �(�; �))

+

(
Hm∋

,=2

7,(�)8,(�) ,�(�0; �) + 70(�)80(�) 0�(�0; �)
)
(�(�; �))

� Α∀ (�; �) + ΑF (�; �)

Φ74Α4  1�(�0;Κ) 8Β 7><>64=4>∆Β >5 346Α44 �, Φ78;4 0;; Χ74 :4Α=4;Β  ,�(�0;Κ)
0Α4 7><>64=4>∆Β >5 Β><4 346Α44 � 1�, 0=3  0�(�0;Κ) 8Β Α46∆;0Α. %420;; Χ70Χ
0;; Χ74Β4 :4Α=4;Β <0Η 70Ε4 0;Β> 0= 4Γ?;828Χ (Β<>>Χ7) 34?4=34=24 >= �; �; Φ4 Φ8;;

ΦΑ8Χ4  �;�
, �(�0; �(�; �)) Χ> ?>8=Χ >∆Χ Χ78Β 502Χ, Φ74= 8Χ Φ8;; 14 8<?>ΑΧ0=Χ.

∗4 Φ0=Χ Χ> 0??;Η ∋74>Α4< 3.11 (01>∆Χ Β8=6∆;0Α 8=Χ46Α0;Β) Χ> Χ74 :4Α=4; Α∀
0=3 ∋74>Α4< 3.14 (01>∆Χ 5Α02Χ8>=0; 8=Χ46Α0;Β) Χ> 4027 Χ4Α< >5 Χ74 :4Α=4; ΑF .
∗4 ΒΧ0ΑΧ Φ8Χ7 Χ74 5>;;>Φ8=6 Α4Β∆;Χ, Ε4ΑΗ Β8<8;0Α Χ> .3, ∃Α>?>Β8Χ8>= 2.17/:

P1./.2)3).− 5.2 L)8 2 �;� (�) &) % ∗92∋8−32 ()?2)( 32 8,) ,313+)2)397 +6394
G, 71338, 3987−() 8,) 36−+−2 %2( ,313+)2)397 3∗ ()+6)) 6 � , ∗36 731) 232-
2)+%8−:) −28)+)6 6, 71338,0= ()4)2(−2+ 32 8,) 4%6%1)8)67 �; � 2 ,B

�
�;−

�
; %2(

0)8
&(�; �) =2 �;� (� (�; �))

&) ()?2)( ∗36 �; � 2 ,B
�
�;−

�
.  ,)2 & 7%8−7?)7

(−) 8,) +63;8, ∋32(−8−32: 8,)6) )<−787 % ∋3278%28 9 79∋, 8,%8

j&(�; �)j � 9 � sup
k8k=1

��2 �;�(Κ)
�� � : e∃(�; �)

%� ;

(−−) 8,) 1)%2 :%09) −2)59%0−8=: 8,)6) )<−787 % ∋3278%28 9 > 0; 79∋, 8,%8 ∗36
):)6= �0; �; � ;−8, : e∃(�0; �) � 2: e∃(�0; �),

j&(�0; �)�&(�; �)j+ j&(�; �0)�&(�; �)j � C
: e∃(�0; �)

: e∃(�0; �)
 +1�% (5.3)

;,)6) 8,) ∋3278%28 C ,%7 8,) ∗361

9 � sup
k8k=1;�;�2 eB(�;!)

1 ��r82 �;�(Κ)
��+
��r�2 �;�(Κ)

��+
��r�2 �;�(Κ)

��
2

(−−−) 8,) ∋%2∋)00%8−32 4634)68=: −∗ 6 = 0 %2(2 7%8−7?)7 8,) :%2−7,−2+ 4634)68=
(

5<k8k<!
2 �;�(Κ):Κ = 0 ∗36 ):)6= − > Η > 0; %2= �; � 2 ,B

�
�;−

�
(5.4)
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8,)2 ∗36 %2= 437−8−:) −28)+)6 Α; ∗36 ):)6= "2 > "1 > 0 %2( � 2 
. (7)) (5.2))
79∋, 8,%8 ,B (�; "2) � 
.+1
�����

(


k+1;"1<�(�;�)<"2

&(�; �) :�

�����+
�����

(


k+1;"1<�(�;�)<"2

&(�; �) :�

����� � C � ("2 � "1)

(5.5)
;,)6) 8,) ∋3278%28 C ,%7 8,) ∗361

9 � sup
k8k=1;�;�2 eB(�;!)

1 ��2 �;�(Κ)
��+
��r�2 �;�(Κ)

��+
��r�2 �;�(Κ)

��
2
:

P1..&. ∃>8=Χ (8) 8Β ΧΑ8Ε80;, 1Η Χ74 7><>64=48ΧΗ >5 2; 0=3 Χ74 4≅∆8Ε0;4=24 14-
ΧΦ44= : e∃ 0=3 � (Β44  4<<0 3.9).
I= >Α34Α Χ> ?Α>Ε4 (88), ϑΓ �0, �, 0=3 ;4Χ Η =

1
2�(�; �0). C>=38Χ8>= �(�; �0) >

2�(�; �0) <40=Β Χ70Χ � 8Β 0 ?>8=Χ Α0=68=6 8= ,B5(�0). A??;Η8=6 (3.28) Χ> Χ74
5∆=2Χ8>=

< (�) = & (�; �)

Φ4 20= ΦΑ8Χ4

j< (�)� < (�0)j � 9: e∃ (�; �0) �

�

0
#

4∋

,=1

sup
�2 eB(�0; 34)fX(�0;�))

��� ,3,< (�)
���+ : e∃ (�; �0) sup

�2 eB(�0; 34)fX(�0;�))

��� ,30< (�)
���

1
∃ :

∀>Χ8=6 Χ70Χ, 5>Α � 2 ,B
�
�0;

3
4: e∃ (�0; �)

�
;

��� ,3,& (�; �) (�)
��� =

��� ,3,
�
2 �;� (� (�; �))

�
(�) +

�
,3,2 �;� (� (�; �))

�
(�)
���

� j(4,2 +−�,2 ) (� (�; �))j+
���
�
,3,2 �;� (� (�; �))

�
(�)
���

0=3 Α420;;8=6 Χ70Χ, 1Η %4<0Α: 4.6, r�2 �;�(Κ) 70Β Χ74 Β0<4 Κ 7><>64=48ΧΗ 0Β
2 �;�(Κ), Φ4 64Χ

��� ,3,& (�; �) (�)
��� � sup

k8k=1;�;�2 eB(�;!)

��r82 �;�(Κ)
�� 9

� (�; �)
 �%+1+

+ sup
k8k=1;�;�2 eB(�;!)

��r�2 �;�(Κ)
�� 9

� (�; �)
 �%

� sup
k8k=1;�;�2 eB(�;!)

���r82 �;�(Κ)
��+
��r�2 �;�(Κ)

��	 9

: e∃ (�0; �)
 �%+1 :

A=0;>6>∆Β;Η

��� ,30& (�; �) (�)
��� � sup

k8k=1;�;�2 eB(�;!)

���r82 �;�(Κ)
��+
��r�2 �;�(Κ)

��	 9

: e∃ (�0; �)
 �%+2 ;
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74=24

j& (�; �)�& (�0; �)j � C: e∃ (�; �0)
 

1

: e∃ (�0; �)
 �%+1 +

: e∃ (�; �0)

: e∃ (�0; �)
 �%+2

!

� C : e∃ (�; �0)

: e∃ (�0; �)
 �%+1

Φ8Χ7
C = 9 sup

k8k=1;�;�2 eB(�;!)

���r82 �;�(Κ)
��+
��r�2 �;�(Κ)

��	 :

∋> 64Χ Χ74 0=0;>6>∆Β 1>∆=3 5>Α j&(�; �0)�&(�; �)j ; 8Χ 8Β 4=>∆67 Χ> 0??;Η Χ74
?Α4Ε8>∆Β 4ΒΧ8<0Χ4 Χ> Χ74 5∆=2Χ8>=

,&(�; �) = −2 �;� (� (�; �)) Φ8Χ7 −2 �;�(Κ) =2 �;�(Κ�1).

∋78Β 2><?;4Χ4Β Χ74 ?Α>>5 >5 (88).
∋> ?Α>Ε4 (888), Φ4 ϑΑΒΧ 86=>Α4 Χ74 34?4=34=24 >= Χ74 ?0Α0<4Χ4ΑΒ �; �; 0=3

Χ74= Φ4 Φ8;; Β7>Φ 7>Φ Χ> <>385Η >∆Α 0Α6∆<4=Χ Χ> :44? 8Χ 8=Χ> 022>∆=Χ.  4Χ ∆Β
ΦΑ8Χ4: (


k+1;"1<�(�;�)<"2

2 (�(�; �)) :� =

1Η Χ74 270=64 >5 Ε0Α801;4Β Κ = �(�; �), ∋74>Α4< 3.3 (1) 68Ε4Β

= 9(�)

(

"1<k8k<"2
2 (Κ) (1 + ! (�; Κ))) :Κ =

1Η Χ74 Ε0=8Β78=6 ?Α>?4ΑΧΗ >5 2 ,

= 9(�)

(

"1<k8k<"2
2 (Κ)! (�; Κ) :Κ:

∋74=
�����

(


k+1;"1<�(�;�)<"2

2 (�(�; �)) :�

����� � 9 �
(

"1<k8k<"2
j2 (Κ)j kΚk :Κ

� 9 � sup
k8k=1

j2 j �
(

"1<k8k<"2
kΚk1� :Κ

� 9 � sup
k8k=1

j2 j � ("2 � "1):

A=0;>6>∆Β;Η >=4 ?Α>Ε4Β Χ74 1>∆=3 >= 2 (�(�; �)): ∀>Φ, Χ> :44? ΧΑ02: >5 Χ74
?>ΒΒ81;4 34?4=34=24 >5 2 >= Χ74 ?0Α0<4Χ4ΑΒ �; �; ;4Χ ∆Β ΦΑ8Χ4:
(


k+1;"1<�(�;�)<"2

2 �;�(�(�; �)) :� =

(


k+1;"1<�(�;�)<"2

2 �;�(�(�; �)) :�+

+

(


k+1;"1<�(�;�)<"2

�
2 �;�(�(�; �))�2 �;�(�(�; �))

�
:�

� % + %%:
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∋74 Χ4Α< % 20= 14 1>∆=343 0Β 01>Ε4, Φ78;4

��2 �;�(Κ)�2 �;�(Κ)
�� � j� � �j

���r�2 �;�0(Κ)
���

5>Α Β><4 ?>8=Χ �0 =40Α � 0=3 �: %420;;8=6 0608= Χ70Χ Χ74 5∆=2Χ8>= r�2 �;�0 (�)
70Β Χ74 Β0<4 7><>64=48ΧΗ 0Β 2 �;�0 (�) ; Φ78;4

j� � �j � 9: e∃ (�; �) � 9� (�; �) ;

Φ4 70Ε4

j%%j � 9 sup
k8k=1;�;�2 eB(�;!)

��r�2 �;�(Κ)
��
(


k+1;"1<k8k<"2
kΚk1� :Κ

0=3 Χ74 Β0<4 Α40Β>=8=6 0Β 01>Ε4 0??;84Β. ∋78Β ?Α>Ε4Β Χ74 1>∆=3 >=
��& &(�; �) :�

��
8= (5.5). ∋74 ?Α>>5 >5 Χ74 1>∆=3 >=

��& &(�; �) :�
�� 8Β 0=0;>6>∆Β, Β8=24 Χ74 Ε0=-

8Β78=6 ?Α>?4ΑΧΗ (5.4) 0;Β> 8<?;84Β Χ74 Β0<4 5>Α
&
5<k8k<!2

�;�(Κ�1):Κ:

∋74 01>Ε4 ∃Α>?>Β8Χ8>= 8<?;84Β Χ70Χ  1�(�0; �(�; �)) Β0Χ8Βϑ4Β Χ74 ΒΧ0=30Α3
4ΒΧ8<0Χ4Β, 20=24;;0Χ8>= ?Α>?4ΑΧΗ 0=3 2>=Ε4Α64=24 2>=38Χ8>= ΒΧ0Χ43 8= Ρ 3.3. ∀>Χ4
Χ70Χ (5.5) 8<?;84Β 1>Χ7 Χ74 20=24;;0Χ8>= ?Α>?4ΑΧΗ 0=3 Χ74 2>=Ε4Α64=24 2>=38Χ8>=.
I= >Α34Α Χ> 0??;Η Χ> Χ74 :4Α=4; Α∀ (�; �) ∋7<. 3.11 Φ4 ΒΧ8;; =443 Χ> ?Α>Ε4 Χ70Χ

Χ74 Β8=6∆;0Α 8=Χ46Α0; / Φ8Χ7 :4Α=4; Α∀ (�; �) Β0Χ8Βϑ4Β Χ74 2>=38Χ8>= / (1) 2 C
e∃ :
(Β44 2>=38Χ8>= (3.18) 8= ∋74>Α4< 3.11).
∋78Β Α4Β∆;Χ 8Β <>Α4 34;820Χ4 Χ70= Χ74 ?Α4Ε8>∆Β 2>=38Χ8>=, 0=3 8Β 2>=Χ08=43 8=

Χ74 5>;;>Φ8=6:

P1./.2)3).− 5.3 L)8

,> (�) � lim
"!0

(

�(�;�)>"

,&(�; �):�

;−8,
,&(�; �) = 71(�)81(�) �;�

1 �(�0; �(�; �));

 �;�
1 �(�0; �) ,313+)2)397 3∗ ()+6)) �, %2( 7%8−7∗=−2+ 8,) :%2−7,−2+ 4634)68=

(

5<k8k<!
 �;�
1 �(�0;Κ):Κ = 0 ∗36 ):)6= − > Η > 0; %2= �; � 2 ,B

�
�;−

�
:

 ,)2 ,> 2 C

e∃

�
,B
�
�;−

��
∗36 %2= 
 2 (0; 1) :

P1..&. &8=24 71; 81 0Α4 2><?02Χ;Η Β∆??>ΑΧ43 8= ,B
�
�;−

�
; Φ4 20= 27>>Β4 0 Α0380;

2∆Χ>Θ 5∆=2Χ8>=
� (�; �) = < (� (�; �)) ;

Φ8Χ7
< (kΚk) = 1 5>Α kΚk � −; < (kΚk) = 0 5>Α kΚk � 2−;
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Β> Χ70Χ ,&(�; �) = ,&(�; �)� (�; �) : ∋> 1468= Φ8Χ7, ;4Χ ∆Β ?Α>Ε4 Χ74 0ΒΒ4ΑΧ8>=
Φ8Χ7>∆Χ Χ0:8=6 8=Χ> 2>=Β834Α0Χ8>= Χ74 34?4=34=24 >5  �;�

1 �(�0;Κ) >= �; �. ∋74=

,> (�) = 71(�)81 (�) lim
"!0

(

�(�;�)>"

� (�; �) 1�(�0; �(�; �)):�+

+ 71(�)

(
� (�; �) 1�(�0; �(�; �)) [81(�)� 81 (�)] :�

� % (�) + %% (�) :

∀>Φ,

% (�) = 71(�)81 (�) 9 (�) lim
"!0

(

k8k>"
< (kΚk) 1�(�0;Κ) (1 + ! (�; Κ)) :Κ

= 71(�)81 (�) 9 (�)

(
< (kΚk) 1�(�0;Κ)! (�; Κ) :Κ;

1Η Χ74 Ε0=8Β78=6 ?Α>?4ΑΧΗ, Φ8Χ7 ! Β<>>Χ7;Η 34?4=38=6 >= � 0=3 ∆=85>Α<;Η
1>∆=343 1Η 9 kΚk. H4=24 % (�) 8Β  8?Β278ΧΙ 2>=Χ8=∆>∆Β, 8= ?0ΑΧ82∆;0Α HΩ;34Α
2>=Χ8=∆>∆Β >5 0=Η 4Γ?>=4=Χ 
 2 (0; 1). !>Α4>Ε4Α,

%% (�) = 71(�)

(

eB(�;!)
� (�; �) :� Φ8Χ7

� (�; �) = � (�; �) 1�(�0; �(�; �)) [81(�)� 81 (�)] :

IΧ 8Β =>Χ 38Π 2∆;Χ Χ> 2742: Χ70Χ Χ74 :4Α=4;� (�; �) Β0Χ8Βϑ4Β Χ74 ΒΧ0=30Α3 4ΒΧ8<0Χ4Β
>5 ∗6%∋8−32%0 8=Χ46Α0;Β (3.14) 0=3 (3.15) 8= Ρ 3.3 5>Α 0=Η � 2 (0; 1) (02Χ∆0;;Η, 5>Α
� = 1). H4=24 Χ74 >?4Α0Χ>Α Φ8Χ7 :4Α=4; � 8Β 2>=Χ8=∆>∆Β >= C


�
,B
�
�;−

��
; 8=

?0ΑΧ82∆;0Α, 8Χ <0?Β Χ74 5∆=2Χ8>= 1 8=Χ> C

�
,B
�
�;−

��
; Φ7827 ?Α>Ε4Β Χ70Χ %% (�)

8Β HΩ;34Α 2>=Χ8=∆>∆Β.
∋> 2>=2;∆34 Χ74 ?Α>>5, Φ4 70Ε4 Χ> Β7>Φ 7>Φ Χ> Χ0:4 8=Χ> 022>∆=Χ Χ74 ?>ΒΒ81;4

34?4=34=24 >5  �;�
1 � (�0;Κ) >= �; �.  4Χ ∆Β ΒΧ0ΑΧ Φ8Χ7 Χ74 � 34?4=34=24.

,> (�) = 71(�)81 (�) lim
"!0

(

�(�;�)>"

� (�; �) �
1�(�0; �(�; �)):�+

+ 71(�)

(
� (�; �) �

1�(�0; �(�; �)) [81(�)� 81 (�)] :�

� % 0 (�) + %% 0 (�) :

∋74 Χ4Α< %% 0 (�) 20= 14 70=3;43 0Β Χ74 Χ4Α< %% (�) 01>Ε4. AΒ Χ> % 0 (�),

% 0 (�) = 71(�)81 (�) 9 (�) lim
"!0

(

k8k>"
< (kΚk) �(�;�)�1(8)

1 �(�0;Κ) (1 + ! (�; Κ)) :Κ

= 71(�)81 (�) 9 (�) lim
"!0

(

k8k>"
< (kΚk) �(�;�)�1(8)

1 �(�0;Κ):Κ+

+ 71(�)81 (�) 9 (�)

(
< (kΚk) �(�;�)�1(8)

1 �(�0;Κ)! (�; Κ) :Κ:
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∋74 Β42>=3 Χ4Α< 20= 14 70=3;43 0Β 01>Ε4, Φ78;4 Χ74 ϑΑΒΧ Α4≅∆8Α4Β Β><4 20Α4.
BΗ Χ74 Ε0=8Β78=6 ?Α>?4ΑΧΗ >5 Χ74 :4Α=4;  �

1�(�0;Κ) 5>Α 0=Η ϑΓ43 � Φ4 20= ΦΑ8Χ4

lim
"!0

(

k8k>"
< (kΚk) �(�;�)�1(8)

1 �(�0;Κ):Κ

= lim
"!0

(

k8k>"
< (kΚk)

/
 
�(�;�)�1(8)
1 �(�0;Κ)� �

1�(�0;Κ)
0
:Κ:

#= Χ74 >Χ74Α 70=3,

 
�(�;�)�1(8)
1 �(�0;Κ) =  

�
1�(�0;Κ) + 

�
0�(�0;Κ)

Φ74Α4  �
0 8Β 0 Ε42Χ>Α ϑ4;3 >5 ;>20; Φ4867Χ � 0; Β<>>Χ7;Η 34?4=38=6 >= �: H4=24

lim
"!0

(

k8k>"
< (kΚk) �(�;�)�1(8)

1 �(�0;Κ):Κ =

(
< (kΚk) �

0�(�0;Κ):Κ;

Φ7827 20= 14 70=3;43 0Β Χ74 Χ4Α< % (�) 01>Ε4.
D4?4=34=24 >= Χ74 Ε0Α801;4 � 20= 14 Χ0:4= 8=Χ> 022>∆=Χ 0Β 5>;;>ΦΒ. I5

,> (�) = 71(�)81 (�) lim
"!0

(

�(�;�)>"

� (�; �) �;�
1 �(�0; �(�; �)):�

� lim
"!0

(
∀" (�; �; �) Φ8Χ7

∀" (�; �; �) = 71(�)81 (�)��(�;�)>" (�)� (�; �) 
�;�
1 �(�0; �(�; �)):�

Χ74=

,> (�1)� ,> (�2) = lim
"!0

(
[∀" (�1; �1; �)� ∀" (�2; �1; �)] :�+

+ lim
"!0

(
[∀" (�2; �1; �)� ∀" (�2; �2; �)] :�

� A (�1; �2) +B (�1; �2) :

∀>Φ,
jA (�1; �2)j � 9� (�1; �2)

1Η Χ74 Β<>>Χ7=4ΒΒ >5 � 7!  �;�
1 �(�0;Κ). AΒ Χ>B (�1; �2) ; 8Χ 8Β 4=>∆67 Χ> 0??;Η Χ74

?Α4Ε8>∆Β Α40Β>=8=6 Χ> Χ74 :4Α=4;  �;�
1 �(�0; �(�; �)); 5>Α 0=Η ϑΓ43 �; Χ> 2>=2;∆34

Χ70Χ ���� lim"!0

(
[∀ (�; �1; �)� ∀ (�; �2; �)] :�

���� � 9� (�1; �2)



5>Α Β><4 2>=ΒΧ0=Χ ∆=85>Α<;Η 1>∆=343 8= �; 0=3 Χ74= 0??;Η Χ78Β 8=4≅∆0;8ΧΗ Χ0:8=6
� = �2. ∋78Β 2><?;4Χ4Β Χ74 ?Α>>5.

∗4 0Α4 =>Φ Α403Η 5>Α Χ74
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C.−#+42).− .& 3(% /1..& .& T(%.1%, 5.1. %420;; Χ70Χ 0 5Α>Ι4= >?4Α0Χ>Α >5
ΧΗ?4 Ι4Α> 8Β ΦΑ8ΧΧ4= 0Β

/ (�0)<(�) = +:1:

(

eB

Α(�0; �; �) <(�) :� + � (�0; �) < (�) ;

Φ74Α4 � 8Β 0 1>∆=343 <40Β∆Α01;4 5∆=2Χ8>=, Β<>>Χ7 8= �: ∋74 <∆;Χ8?;820Χ8Ε4 ?0ΑΧ

< (�) 7�! � (�0; �) < (�)

2;40Α;Η <0?Β C� 8= C�; Β8=24 � (�0; �) 8Β Β<>>Χ7, Φ8Χ7 >?4Α0Χ>Α =>Α< 1>∆=343
1Η Β><4 2>=ΒΧ0=Χ 34?4=38=6 >= Χ74 Ε42Χ>Α ϑ4;3Β 0=3 Χ74 4;;8?Χ828ΧΗ 2>=ΒΧ0=Χ �;
1Η ∋74>Α4< 4.3.
 4Χ ∆Β =>Φ 2>=Β834Α Χ74 8=Χ46Α0; ?0ΑΧ. ∗8Χ7 Χ74 =>Χ0Χ8>= 8=ΧΑ>3∆243 0Χ Χ74

1468==8=6 >5 Χ78Β Β42Χ8>=, ;4Χ ∆Β 2>=Β834Α ϑΑΒΧ

Α∀ (�; �) = 71(�)81(�) 
�;�
1 �(�0; �(�; �));

Φ8Χ7  �;�
1 � (�0;Κ) 7><>64=4>∆Β >5 346Α44 �, 0=3 Β0Χ8Β5Η8=6 Χ74 Ε0=8Β78=6 ?Α>?-

4ΑΧΗ (5.4). BΗ ∃Α>?>Β8Χ8>= 5.2, Α∀ (�; �) Β0Χ8Βϑ4Β 2>=38Χ8>=Β (8), (88), (888) 8= Ρ 3.3,
Φ8Χ7 2>=ΒΧ0=ΧΒ 1>∆=343 1Η

9 sup
k8k=1

��� 2� (�0; Κ)
��+
�� 3� (�0; Κ)

��	 (5.6)

Φ74Α4 Χ74 ΒΗ<1>;Β  2;  3 34=>Χ4 ΒΧ0=30Α3 34Α8Ε0Χ8Ε4Β >5 >Α34ΑΒ 2; 3; Α4Β?42-
Χ8Ε4;Η, Φ8Χ7 Α4Β?42Χ Χ> Κ; 0=3 Χ74 2>=ΒΧ0=Χ 9 34?4=3Β >= Χ74 Ε42Χ>Α ϑ4;3Β 1∆Χ
=>Χ >= Χ74 ?>8=Χ �0. BΗ ∃Α>?>Β8Χ8>= 5.3, 2>=38Χ8>= (3.18) 8Β 0;Β> Β0Χ8Βϑ43 1Η
Α∀ (�; �) ; Φ8Χ7 C


 =>Α< 1>∆=343 1Η 0 ≅∆0=Χ8ΧΗ >5 Χ74 :8=3 (5.6). H4=24 1Η
∋74>Α4< 3.11 0=3 %4<0Α: 3.12, Χ74 >?4Α0Χ>Α Φ8Χ7 :4Α=4; Α∀ (�; �) Β0Χ8Βϑ4Β Χ74
0ΒΒ4ΑΧ8>= >5 Χ74 Χ74>Α4< Φ4 0Α4 ?Α>Ε8=6, Φ8Χ7 0 2>=ΒΧ0=Χ 1>∆=343 1Η 0 ≅∆0=Χ8ΧΗ
;8:4 (5.6). I= Χ∆Α=, 1Η ∋74>Α4< 4.3 Χ78Β ≅∆0=Χ8ΧΗ 20= 14 1>∆=343 1Η 0 2>=-
ΒΧ0=Χ 34?4=38=6 >= Χ74 Ε42Χ>Α ϑ4;3Β 0=3 Χ74 4;;8?Χ828ΧΗ 2>=ΒΧ0=Χ � >5 Χ74 <0ΧΑ8Γ
7,− (Μ) :
 4Χ ∆Β =>Φ 2><4 Χ> Χ74 :4Α=4;

ΑF (�; �) =

(
H∋

,=2

7,(�)8,(�) 
�;�
, � (�0; �) + 70(�)80(�) �;�

0 � (�0; �)
)
(�(�; �))

Φ74Α4 4027 5∆=2Χ8>=  �;�
, � (�0;Κ) (? = 2; 3; :::;∃) 8Β 7><>64=4>∆Β >5 Β><4 346Α44

� 1�,; Φ78;4  �;�
0 � (�0;Κ) 8Β 1>∆=343 0=3 Β<>>Χ7.

BΗ ∃Α>?>Β8Χ8>= 5.2, 4027 :4Α=4;

7,(�)8,(�) 
�;�
, � (�0; �(�; �))

Β0Χ8Βϑ4Β Χ74 ΒΧ0=30Α3 4ΒΧ8<0Χ4Β (8) 8= Ρ 3.3 5>Α Β><4 � > 0; 74=24 Φ4 20= 0??;Η
∋74>Α4< 3.14 Χ> Χ74 8=Χ46Α0; >?4Α0Χ>ΑΒ 34ϑ=43 1Η Χ74Β4 :4Α=4;Β, 0=3 2>=2;∆34 0Β
01>Ε4. F8=0;;Η, Χ74 8=Χ46Α0; >?4Α0Χ>Α Φ8Χ7 Α46∆;0Α :4Α=4; 2;40Α;Η 8Β C
 2>=Χ8=∆>∆Β.
&> Φ4 0Α4 3>=4.
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5.2 Lp #.−3)−4)38 .& 5!1)!∀+% ./%1!3.12 .& 38/% 0 !−∃ 3(%)1
#.,,43!3.12

I= Χ78Β Β∆1Β42Χ8>= Φ4 0Α4 6>8=6 Χ> ?Α>Ε4 Χ74 5>;;>Φ8=6:

T(%.1%, 5.4 L)8 / &) % :%6−%&0) 34)6%836 3∗ 8=4) 0 (7)) Ε 4.2) 3:)6 8,) &%00
,B
�
�;−

�
; %2( Φ 2 (1;1): ,)2:

(−) 8,)6) )<−787 9 > 0; ()4)2(−2+ 32 Φ, −,
1
,3,
24
,=0
, �, 79∋, 8,%8

k/ΚkLp( eB(�;5)) � 9 kΚkLp( eB(�;5))

∗36 ):)6= Κ 2 ∋3
�
,B
�
�; Η
��
%2( Η � −;

(−−) ∗36 ):)6= 7 2 1(∗∃;/2( (
) ; %2= " > 0, 8,)6) )<−787 Η � − 79∋, 8,%8

∗36 ):)6= Κ 2 ∋3
�
,B
�
�; Η
��
;

k/ (,7Κ)� ,7 � /ΚkLp( eB(�;5)) � " kΚkLp( eB(�;5)) (5.7)

;,)6) ,7 (Μ; >) = 7 (Μ) :  ,) 291&)6 Η ()4)2(7 32 Φ, −,
1
,3,
24
,=0
, �, ��&;
0;
,

%2( " (7)) 3.4.3 ∗36 8,) ()?2−8−32 3∗ 1(∗∃;/2( (
) %2( �
�
&;
0;
).

A 10Β82 38Θ4Α4=24 Φ8Χ7 Χ74 2>=Χ4ΓΧ >5 Χ74 ?Α4Ε8>∆Β Β42Χ8>= 8Β Χ70Χ 74Α4 Φ4
0Α4 2>=Β834Α8=6 :%6−%&0) :4Α=4;Β 0=3 >?4Α0Χ>ΑΒ >5 ΧΗ?4 Ι4Α>. ∋> Α43∆24 Χ74 ΒΧ∆3Η
>5 Χ74Β4 >?4Α0Χ>ΑΒ Χ> Χ70Χ >5 2>=ΒΧ0=Χ >?4Α0Χ>ΑΒ >5 ΧΗ?4 Ι4Α> Φ4 Φ8;; <0:4 ∆Β4 >5
Χ74 2;0ΒΒ820; Χ427=8≅∆4 >5 4Γ?0=Β8>= 8= Β4Α84Β >5 Β?74Α820; 70Α<>=82Β, 0Β 0;Α403Η
3>=4 8= .3/.
P1..&. ∋78Β ?Α>>5 8Β Β8<8;0Α Χ> Χ70Χ >5 .3, ∋7<. 2.11/. %420;; Χ70Χ 0 Ε0Α801;4
>?4Α0Χ>Α >5 ΧΗ?4 Ι4Α> 8Β ΦΑ8ΧΧ4= 0Β

/<(�) = +:1:

(

eB

Α(�; �; �) <(�) :� + � (�; �) < (�) ;

Φ74Α4 � (�0; �) 8Β 0 1>∆=343 <40Β∆Α01;4 5∆=2Χ8>= 8= �0, Β<>>Χ7 8= �: ∋74 <∆;-
Χ8?;820Χ8Ε4 ?0ΑΧ

< (�) 7�! � (�; �) < (�)

2;40Α;Η <0?Β ∋3 8=Χ> ∋3, Φ8Χ7 >?4Α0Χ>Α =>Α< 1>∆=343 1Η Β><4 2>=ΒΧ0=Χ 34-
?4=38=6 >= Χ74 Ε42Χ>Α ϑ4;3Β 0=3 Χ74 4;;8?Χ828ΧΗ 2>=ΒΧ0=Χ �; 1Η ∋74>Α4< 4.3.
!>Α4>Ε4Α, Χ78Β ?0ΑΧ 3>4Β =>Χ 0Θ42Χ Χ74 2><<∆Χ0Χ>Α >5 / .
AΒ Χ> Χ74 8=Χ46Α0; ?0ΑΧ >5 / , ;4Χ ∆Β Β?;8Χ Χ74 Ε0Α801;4 :4Α=4; 0Β

Α(�; �; �) = Α0(�; �; �) + Α00(�; �; �):

 8:4 8= Χ74 ?Α4Ε8>∆Β Β42Χ8>=, 8Χ 8Β 4=>∆67 Χ> ?Α>Ε4 >∆Α Α4Β∆;Χ 5>Α Χ74 :4Α=4; Α0:
 4Χ ∆Β 4Γ?0=3 8Χ 0Β

Α0(�; �; �) =
H∋

,=1

7,(�)8,(�) 
�;�
, � (�; � (�; �)) + 70(�)80(�) 

�;�
0 �(�; � (�; �))

� Α∀ (�; �; �) + ΑB (�; �; �)
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Φ74Α4 Χ74 :4Α=4;Β  �;�
, �(�;Κ) (5>Α ? = 1; 2; 3; :::;∃) 0Α4 7><>64=4>∆Β >5 Β><4

346Α44 � �,;  �;�
, � (�;Κ) Β0Χ8Βϑ4Β Χ74 20=24;;0Χ8>= ?Α>?4ΑΧΗ, 0=3  �;�

0 �(�;Κ)
8Β 1>∆=343 8= Κ 0=3 Β<>>Χ7 8= �; �. ∋74 :4Α=4;Β Α∀ ; ΑB 0Α4 ΜΒ8=6∆;0ΑΝ 0=3
Μ1>∆=343Ν, Α4Β?42Χ8Ε4;Η.
∋74 >?4Α0Χ>Α Φ8Χ7 :4Α=4; ΑB 8Β >1Ε8>∆Β;Η ∋

3 2>=Χ8=∆>∆Β. !>Α4>Ε4Α, 8Χ Β0Χ8Β-
ϑ4Β Χ74 2><<∆Χ0Χ>Α 4ΒΧ8<0Χ4 (5.7) 1Η ∋74>Α4< 3.18, Β8=24

jΑB (�; �; �)j � 970(�)80(�)

0=3 Χ74 2>=ΒΧ0=Χ 5∆=2Χ8>= 1 >1Ε8>∆Β;Η Β0Χ8Βϑ4Β Χ74 ΒΧ0=30Α3 4ΒΧ8<0Χ4Β (3.14),
(3.15) Φ8Χ7 � = 1.
∋> 70=3;4 Χ74 :4Α=4; Α∀ Φ4 4Γ?0=3 4027 >5 8ΧΒ Χ4Α<Β 8= Β4Α84Β >5 Β?74Α820;

70Α<>=82Β, 4Γ02Χ;Η ;8:4 8= .3, &42Χ8>= 2.4/:

 �;�
, �(�;Κ) =

1∋

0=0

∗m∋

.=1

9�;�,;.0 (�)&,;.0 (Κ)

Φ74Α4 &,;.0 (Κ) 0Α4 7><>64=4>∆Β :4Α=4;Β Φ7827 >= Χ74 Β?74Α4 kΚk = 1 2>8=2834
Φ8Χ7 Χ74 Β?74Α820; 70Α<>=82Β, 0=3 9�;�,;.0 (�) Χ74 2>ΑΑ4Β?>=38=6 F>∆Α84Α 2>4Π -
284=ΧΒ.
 4Χ ∆Β ϑΑΒΧ ?Α>Ε4 Χ74 0ΒΒ4ΑΧ8>= Φ8Χ7>∆Χ Χ0:8=6 8=Χ> 022>∆=Χ Χ74 34?4=34=24

>5 Χ74 2>4Π 284=ΧΒ9�;�,;.0 (�) >= �: ∋74= Χ74 >?4Α0Χ>Α Φ8Χ7 :4Α=4; Α∀ 20= 14 ΦΑ8ΧΧ4=
0Β:

.< (�) =
1∋

0=0

∗m∋

.=1

9�,;.0 (�).,;.0< (�) (5.8)

Φ8Χ7

.,;.0< (�) = 7,(�)

(

eB

8,(�)&,;.0 (� (�; �)) < (�) :�:

∋74 =∆<14Α =0 8= (5.8) 8Β Χ74 38<4=Β8>= >5 Χ74 Β?024 >5 Β?74Α820; 70Α<>=82Β >5
346Α44 Χ 8= RN ; 8Χ 8Β :=>Φ= Χ70Χ

=0 � 9()) �ΧN�2 5>Α 4Ε4ΑΗ Χ = 1; 2; : : : (5.9)

F>Α 4Ε4ΑΗ Φ 2 (1;1) Φ4 20= ΦΑ8Χ4:

k.<kLp( eB(�;5)) �
1∋

0=0

∗m∋

.=1



9�,;.0 (�)



L1( eB(�;5))

k.,;.0<kLp( eB(�;5))

0=3

k.(,7<)� ,7 � .<kLp( eB(�;5)) �

�
1∋

0=0

∗m∋

.=1



9�,;.0 (�)



L1( eB(�;5))

k.,;.0(,7<)� ,7 � .,;.0<kLp( eB(�;5)) :
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∀>Φ 4027 .,;.0 8Β 0 5Α>Ι4= >?4Α0Χ>Α >5 ΧΗ?4 � � 0, 0=3 Χ74 Β0<4 0Α6∆<4=ΧΒ
>5 Χ74 ?Α4Ε8>∆Β Β42Χ8>= Β7>Φ Χ70Χ Χ74 :4Α=4; >5 .,;.0 Β0Χ8Βϑ4Β Χ74 0ΒΒ∆<?Χ8>=Β
(8),(88),(888) 8= Ρ 3.3 Φ8Χ7 2>=ΒΧ0=ΧΒ 1>∆=343 1Η

9 � sup
k8k=1

jr8&.0(Κ)j ;

(Φ8Χ7 9 34?4=38=6 >= Χ74 Ε42Χ>Α ϑ4;3Β); 8= Χ∆Α=, 1Η :=>Φ= ?Α>?4ΑΧ84Β >5 Β?74Α820;
70Α<>=82Β Φ4 70Ε4

sup
k8k=1

jr8&.0(Κ)j � 9 ())ΧN=2;

Β> Χ70Χ, 1Η ∋74>Α4< 3.11 0=3 ∋74>Α4< 3.13 Φ4 2>=2;∆34 0Β 8= .3, ?. 807/,

k.,;.0<kLp( eB(�;5)) � 9 �Χ
N=2 k<kLp( eB(�;5)) 5>Α ? = 1; 2; :::;∃:

Φ74Α4 Φ4 70Ε4 0;Β> Χ0:4= 8=Χ> 022>∆=Χ %4<0Α: 3.19.
A=0;>6>∆Β;Η, 0??;Η8=6 ∋74>Α4< 3.16 0=3 ∋74>Α4< 3.17 Φ4 70Ε4 Χ74 2><<∆-

Χ0Χ>Α 4ΒΧ8<0Χ4:

k.,;.0(,7<)� ,7 � .,;.0<kLp( eB(�;5)) � " �Χ
N=2 k<kLp( eB(�;5)) 5>Α ? = 1; 2; :::;∃;

5>Α 0=Η " > 0; ?Α>Ε8343 Η 8Β Β<0;; 4=>∆67, 34?4=38=6 >= " 0=3 ��
e&;
k+2;
k+3

(Β44

(5.2) 0=3 D4ϑ=8Χ8>= 3.15 5>Α Χ74 <40=8=6 >5 ΒΗ<1>;Β). BΗ ∃Α>?>Β8Χ8>= 3.35,
Χ74=, Χ74 2>=ΒΧ0=Χ Η 34?4=3Β >= Χ74 5∆=2Χ8>= 7 >=;Η Χ7Α>∆67 Χ74 ;>20; )!#
<>3∆;∆Β ��&;
0;
.
∀4ΓΧ, 0608= 1Η :=>Φ= ?Α>?4ΑΧ84Β >5 Β?74Α820; 70Α<>=82Β, Φ4 20= Β0Η Χ70Χ 5>Α

0=Η ?>Β8Χ8Ε4 8=Χ464Α > Χ74Α4 4Γ8ΒΧΒ 9+ Β∆27 Χ70Χ

���9�,;.0 (�)
��� � 9+ �Χ�2+ sup

k8k=1;j�j=2+

�����

�
@

@Κ

��
 �
, �(�;Κ)

����� :

BΗ Χ74 ∆=85>Α< 4ΒΧ8<0Χ4Β 2>=Χ08=43 8= ∋74>Α4< 4.3, Χ74 ;0ΒΧ 4Γ?Α4ΒΒ8>= 8Β
1>∆=343 1Η CΧ�2+; 5>Α Β><4 2>=ΒΧ0=Χ C 34?4=38=6 >= >; Χ74 Ε42Χ>Α ϑ4;3Β,
0=3 Χ74 4;;8?Χ828ΧΗ 2>=ΒΧ0=Χ �: ∋0:8=6 8=Χ> 022>∆=Χ 0;Β> (5.9) 0=3 27>>Β8=6 >
;0Α64 4=>∆67 Φ4 2>=2;∆34

k.<kLp( eB(�;5)) �
1∋

0=0

C=0Χ
�2+ΧN=2 k<kLp( eB(�;5)) = 9 k<kLp( eB(�;5))

0=3
k.(,7<)� ,7 � .<kLp( eB(�;5)) � 9" k<kLp( eB(�;5))

5>Α 0=Η " > 0; ?Α>Ε8343 Η 8Β Β<0;; 4=>∆67.
∗4 0Α4 ;45Χ Χ> Β7>Φ 7>Φ Χ74 ?Α4Ε8>∆Β 0Α6∆<4=Χ =443Β Χ> 14 <>38ϑ43 Χ> Χ0:4

8=Χ> 022>∆=Χ Χ74 ?>ΒΒ81;4 34?4=34=24 >5  �;�
, �(�;Κ) (0=3 Χ74= >5 9�;�,;.0 (�)) >=

�.  4Χ ∆Β 4Γ?0=3:

 
�;�(�;�)�1(8)
, �(�;Κ) =

1∋

0=0

∗m∋

.=1

9�,;.0 (�)&,;.0 (Κ)
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Β> Χ70Χ

 �;�
, �(�; � (�; �)) =

1∋

0=0

∗m∋

.=1

9�,;.0 (�)&,;.0 (� (�; �)) :

∋74 :4Α=4;Β &,;.0 0Α4 Χ74 Β0<4 0Β 01>Ε4, 74=24 Χ74 4ΒΧ8<0Χ4Β >= Χ74 >?4Α0Χ>ΑΒ

.,;.0 0=3 Χ748Α 2><<∆Χ0Χ>ΑΒ Α4<08= ∆=270=643. AΒ Χ> Χ74 2>4Π 284=ΧΒ9�,;.0 (�) ;
Φ4 =>Φ 70Ε4 Χ> ΦΑ8Χ4, 5>Α 0=Η ?>Β8Χ8Ε4 8=Χ464Α > 0=3 Β><4 2>=ΒΧ0=Χ 9+,

���9�,;.0 (�)
��� � 9+ �Χ�2+ sup

k8k=1;j�j=2+

�����

�
@

@Κ

�� �
 
�;�(�;�)�1(8)
, �(�;Κ)

������ :

∀>Φ, 5Α>< Χ74 834=Χ8ΧΗ

@

@Κ−

�
 
�;�(�;�)�1(8)
, �(�;Κ)

�
=

@

@Κ−

�
 �;�
, �(�;Κ)

�
=�=�(�;�)�1(8)

+

+
∋

0

@

@�0

�
 �;�
, �(�;Κ)

� @

@Κ−

�
�(�; �)�1 (Κ)

�
0

8Χ 8Β 40ΒΗ Χ> Β44 Χ70Χ Φ4 20= ΒΧ8;; 64Χ 0 ∆=85>Α< 1>∆=3 >5 Χ74 :8=3

���9�,;.0 (�)
��� � C �Χ�2+

Φ8Χ7 C 34?4=38=6 >= >; Χ74 Ε42Χ>Α ϑ4;3Β 0=3 Χ74 4;;8?Χ828ΧΗ 2>=ΒΧ0=Χ �. &> Φ4
0Α4 3>=4.

6 S#(!4∃%1 %23),!3%2

∗4 0Α4 =>Φ 8= ?>Β8Χ8>= Χ> 0??;Η 0;; Χ74 <0278=4ΑΗ ?Α4Β4=Χ43 8= Χ74 ?Α4Ε8>∆Β
Β42Χ8>=Β Χ> ?Α>Ε4 >∆Α <08= Α4Β∆;ΧΒ, Χ70Χ 8Β C� 0=3 ∋3 4ΒΧ8<0Χ4Β >= 3,3−Κ 8=
Χ4Α<Β >5 Κ 0=3 LΚ. ∗4 Φ8;; ?Α>Ε4 C� 4ΒΧ8<0Χ4Β (Χ70Χ 8Β ∋74>Α4< 2.1) 8= Χ78Β
Β42Χ8>=, 0=3 ∋3 4ΒΧ8<0Χ4Β (Χ70Χ 8Β ∋74>Α4< 2.2) 8= Ρ 7.
∗4 :44? 0ΒΒ∆<8=6 70 (Μ) � 1; Φ7827 8Β =>Χ Α4ΒΧΑ82Χ8Ε4 8= Ε84Φ >5 %4<0Α: 2.3:
 4Χ ∆Β Α420;; Χ74 Β4ΧΧ8=6 34Β2Α8143 0Χ Χ74 4=3 >5 Ρ 3.3. F>Α 0 ϑΓ43 Β∆13><08=


0 b 
 � R1 0=3 0 ϑΓ43 ?>8=Χ Μ 2 
0; ;4Χ ∆Β 2>=Β834Α 0 ;85Χ43 10;; ,B
�
�;−

�
�

RN (Φ8Χ7 � = (Μ; 0)) Φ74Α4 Χ74 ;85Χ43 Ε42Χ>Α ϑ4;3Β ,3, 0Α4 34ϑ=43 0=3 Β0Χ8Β5Η
HΩΑ<0=34ΑΛΒ 2>=38Χ8>=, Χ74 <0? � 8Β 34ϑ=43 0=3 Β0Χ8Βϑ4Β Χ74 ?Α>?4ΑΧ84Β ΒΧ0Χ43
8= Ρ 3.1.
A22>Α38=6 Χ> Χ74 ?Α>243∆Α4 5>;;>Φ43 8= .4, Ρ 5/, Χ74 ?Α>>5 >5 C�∃ 0-?Α8>Α8

4ΒΧ8<0Χ4Β 5>Α Β42>=3 >Α34Α 34Α8Ε0Χ8Ε4Β Φ8;; ?Α>2443 8= Χ7Α44 ΒΧ4?Β: ϑΑΒΧ, 8= Χ74
Β?024 >5 ;85Χ43 Ε0Α801;4Β, 5>Α Χ4ΒΧ 5∆=2Χ8>=Β Β∆??>ΑΧ43 8= 0 10;; ,B

�
�; Η
�
Φ8Χ7 Η

Β<0;; 4=>∆67; Χ74= 5>Α 0=Η 5∆=2Χ8>= 8= C2;�
e∃

�
,B
�
�; Η
��
(=>Χ =424ΒΒ0Α8;Η Ε0=8Β78=6

0Χ Χ74 1>∆=30ΑΗ); Χ74= 5>Α 0=Η 5∆=2Χ8>= 8= C2;�∃ (B (Μ; Η)) ; Χ70Χ 8Β 8= Χ74 >Α868=0;
Β?024. ∋74 Χ7Α44 ΒΧ4?Β Φ8;; 14 ?4Α5>Α<43 8= Β4?0Α0Χ4 Β∆1Β42Χ8>=Β. ∋74 Χ74>ΑΗ
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>5 Β8=6∆;0Α 8=Χ46Α0;Β 8= ;>20;;Η 7><>64=4>∆Β Β?024Β Φ8;; ?;0Η 8ΧΒ <08= Α>;4 8= Χ74
ϑΑΒΧ ΒΧ4?, 2>=Β834Α8=6 Χ74 Β?024

�
,
;
1
,
.
21
.=1

; : e∃ ; :�
�

Φ74Α4

,
 = ,B
�
�;−

�
; ,
. = ,B

�
�;

Α−

Α + 1

�
5>Α Α = 1; 2; 3; :::

6.1 S#(!4∃%1 %23),!3%2 &.1 &4−#3).−2 6)3( 2,!++ 24//.13

∋74 ϑΑΒΧ ΒΧ4? 8= Χ74 ?Α>>5 >5 &270∆34Α 4ΒΧ8<0Χ4Β 8Β 2>=Χ08=43 8= Χ74 5>;;>Φ8=6
Χ74>Α4<, Φ7827 8Β Χ74 <08= Α4Β∆;Χ 8= Χ78Β Β∆1Β42Χ8>=.

T(%.1%, 6.1 L)8 ,B
�
�;−

�
&) %7 &)∗36).  ,)6) )<−78 −0 < − %2( 9 > 0 79∋,

8,%8 ∗36 ):)6= Κ 2 C2;�
e∃;0

�
,B
�
�;−0

��
;

kΚkC2;�

fX
( eB(�;!0)) � 9

(


 ,LΚ




C�
fX
( eB(�;!0))

+ kΚkL1( eB(�;!0))

)

;,)6) 9 %2( −0 ()4)2( 32 −;
1
,3,
2
; �; �;%2( k,7,−kC�( eB(�;!)).

P1..&. ∋78Β Χ74>Α4< Α4;84Β >= Χ74 Α4?Α4Β4=Χ0Χ8>= 5>Α<∆;0Β ?Α>Ε43 8= Ρ 4.2 0=3
∋74>Α4< 5.1 01>∆Χ Β8=6∆;0Α 8=Χ46Α0;Β >= C�, 8= Ρ 5.1. ∋74 ?Α>>5 8Β Β8<8;0Α
Χ> Χ70Χ >5 .4, ∋7<. 5.2/. ∗4 ΒΧ0ΑΧ 5Α>< Χ74 Α4?Α4Β4=Χ0Χ8>= 5>Α<∆;0 (4.29),

27>>Β8=6 Η < − Β∆27 Χ70Χ ,B5 � ,B
�
�; Η
�
14 2>=Χ08=43 8= Χ74 Β4Χ Φ74Α4 7 � 1:

∋0:8=6 C�
e∃

�
,B
�
�; Η
��
=>Α< >5 1>Χ7 Β834Β >5 (4.29) 0=3 0??;Η8=6 ∋74>Α4< 5.1

0=3 (3.31) 8= ∃Α>?>Β8Χ8>= 3.27, Φ4 20= ΦΑ8Χ4, 5>Α 0=Η Κ 2 C2;�
e∃;0

�
,B
�
�; Η
��
0=3

Χ; Β = 1; 2; :::; Γ




 ,30 ,3/Κ




C�
fX
( eBr)

� 9

8
 
:



 ,LΚ





C�
fX
( eBr)

+

4∋

,;−=1




[,7,−(�0)� ,7,− (�)] ,3, ,3−Κ




C�
fX
( eBr)

+

4∋

.=1




 ,3.Κ




C�
fX
( eBr)

+ kΚkC�
fX
( eBr)

)

5>Α Β><4 9 34?4=38=6 >= −;
1
,3,
2
; �; �:

∋> 70=3;4 Χ74 Χ4Α<Β 8=Ε>;Ε8=6 ,3, ,3−Κ 8= Χ74 Α867Χ-70=3 Β834 >5 Χ74 ;0ΒΧ
8=4≅∆0;8ΧΗ, Φ4 =>Φ 4Γ?;>8Χ Χ74 502Χ Χ70Χ, 5>Α Κ 2 C2;�

e∃;0
( ,B5); 1>Χ7 ,3, ,3−Κ 0=3

[,7,−(�0)� ,7,− (�)] Ε0=8Β7 0Χ 0 ?>8=Χ >5 ,B5; Χ74= (3.32) 8= ∃Α>?>Β8Χ8>= 3.27 8<?;84Β
���[,7,−(�0)� ,7,− (�)] ,3, ,3−Κ

���
C�
fX
( eBr)

� 9Η� j,7,− jC�
fX
( eBr)

�
��� ,3, ,3−Κ

���
C�
fX
( eBr)

;
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Φ78;4 >1Ε8>∆Β;Η




[,7,−(�0)� ,7,− (�)] ,3, ,3−Κ




L1( eBr)

� 9Η� j,7,− jC�
fX
( eBr)

�



 ,3, ,3−Κ





L1( eBr)

:

∋78Β 0;;>ΦΒ, 5>Α Η Β<0;; 4=>∆67, Χ> 64Χ




 ,30 ,3/Κ




C�
fX
( eBr)

� 9
(


 ,LΚ





C�
fX
( eBr)

+

4∋

.=1




 ,3.Κ




C�
fX
( eBr)

+ kΚkC�
fX
( eBr)

)
(6.1)

5>Α Β><4 9 0;Β> 34?4=38=6 >= j,7,− jC�
fX
( eBr)

: FΑ>< Χ74 4≅∆0Χ8>= (4.1) Φ4 0;Β> Α403




 ,30Κ




C�
fX
( eBr)

�



 ,LΚ





C�
fX
( eBr)

+

4

9
∋

.;+=1




 ,3. ,3+Κ




C�
fX
( eBr)

: (6.2)

BΗ (6.1) 0=3 (6.2) Φ4 64Χ, 5>Α Η Β<0;; 4=>∆67,

kΚkC2;�

fX
( eBr)

� 9
(


 ,LΚ





C�
fX
( eBr)

+ kΚkC�
fX
( eBr)

+

4∋

.=1




 ,3.Κ




C�
fX
( eBr)

)
: (6.3)

∀4ΓΧ, Φ4 Φ0=Χ Χ> 64Χ Α83 >5 Χ74 Χ4Α<



 ,3.Κ





C�
fX
( eBr)

8= Χ74 ;0ΒΧ 8=4≅∆0;8ΧΗ.

∋0:8=6 >=;Η >=4 34Α8Ε0Χ8Ε4 8= Χ74 ?0Α0<4ΧΑ8Γ 5>Α<∆;0 (4.27) Φ4 70Ε4

,3/ (Κ) = . (�0)

0
#,LΚ+

4∋

,;−=1

[,7,−(�0)� ,7,−(�)] ,3, ,3−Κ

1
∃+ / (�0)Κ;

Φ74Α4 . (�0) ; / (�0) 0Α4 5Α>Ι4= >?4Α0Χ>ΑΒ >5 ΧΗ?4 1; 0; Α4Β?42Χ8Ε4;Η. ∋0:8=6 C
�
e∃
( ,B5)

=>Α<Β >5 1>Χ7 Β834Β 0=3 0??;Η8=6 ∋74>Α4< 5.1, Φ4 20= ΦΑ8Χ4




 ,3/Κ




C�
fX
( eBr)

� 9

8
∀ 
∀:




 ,LΚ




C�
fX
( eBr)

+









4∋

,;−=1

[,7,−(�0)� ,7,−(�)] ,3, ,3−Κ








C�
fX
( eBr)

+ kΚkC�
fX
( eBr)

9
∀!
∀;

0=3 Α40Β>=8=6 0Β 01>Ε4,




 ,3/Κ




C�
fX
( eBr)

� 9
(


 ,LΚ





C�
fX
( eBr)

+ Η�



 ,3, ,3−Κ





C�
fX
( eBr)

+ kΚkC�
fX
( eBr)

)
(6.4)

I=Β4ΑΧ8=6 (6.4) 8= (6.3), 5>Α Η Β<0;; 4=>∆67 Φ4 64Χ

kΚkC2;�

fX
( eBr)

� 9
(


 ,LΚ





C�
fX
( eBr)

+ kΚkC�
fX
( eBr)

)
: (6.5)
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F8=0;;Η, Φ4 Φ0=Χ Χ> Α4?;024 Χ74 Χ4Α< kΚkC�
fX
( eBr)

Φ8Χ7 kΚkL1( eBr)
8= Χ74 ;0ΒΧ

8=4≅∆0;8ΧΗ. ∋> 3> Χ78Β, Φ4 0??;Η (3.30) 8= ∃Α>?>Β8Χ8>= 3.27 0=3 ΦΑ8Χ4

kΚkC�
fX
( eBr)

� kΚkL1( eBr)
+ 9Η1��

 
4∋

,=1




 ,3,Κ




L1( eBr)

+ Η



 ,30Κ





L1( eBr)

!
:

Β∆1ΒΧ8Χ∆Χ8=6 Χ78Β 8= (6.5), 5>Α Η Β<0;; 4=>∆67 Χ74 Χ4Α<
 

4∋

,=1




 ,3,Κ




L1( eBr)

+ Η



 ,30Κ





L1( eBr)

!

20= 14 Χ0:4= Χ> Χ74 ;45Χ-70=3 Β834, Χ> 64Χ

kΚkC2;�

fX
( eBr)

� 9
(


 ,LΚ





C�
fX
( eBr)

+ kΚkL1( eBr)

)
;

Β> Φ4 0Α4 3>=4.

6.2 S#(!4∃%1 %23),!3%2 &.1 −.−5!−)2()−∋ &4−#3).−2

∋74 Β42>=3 ΒΧ4? 8= Χ74 ?Α>>5 >5 &270∆34Α 4ΒΧ8<0Χ4Β 2>=Β8ΒΧΒ 8= 4ΒΧ01;8Β78=6 %
46−36− 4ΒΧ8<0Χ4Β 5>Α 5∆=2Χ8>=Β =>= =424ΒΒ0Α8;Η 2><?02Χ;Η Β∆??>ΑΧ43:

T(%.1%, 6.2  ,)6) )<−78 Η0 < −0 %2( 9; � > 0 (;−8, −0 %7 −2  ,)36)1 6.1)

79∋, 8,%8, ∗36 ):)6= Κ 2 C2;�
e∃

�
,B(�; Η0)

�
; 0 < ϑ < Ι < Η0;

kΚkC2;�

fX
( eB(�;7)) �

9

(Ι� ϑ)�

(


 ,LΚ




C�
fX
( eB(�;6))

+ kΚkL1( eB(�;6))

)
;

;,)6) Η0; 9 ()4)2( 32 −;
1
,3,
24
,=1

; �; �; k,7,−kC�
fX
( eB(�;!)); � ()4)2(7 32

1
,3,
24
,=0

%2( �.

AΒ 8= .4/, Χ78Β Α4Β∆;Χ Α4;84Β >= 8=Χ4Α?>;0Χ8>= 8=4≅∆0;8Χ84Β 5>Α C.;�
e∃
=>Α<Β 0=3

Χ74 ∆Β4 >5 Β∆8Χ01;4 2∆Χ>Θ 5∆=2Χ8>=. ∋74 5>;;>Φ8=6 Α4Β∆;Χ 20= 14 ?Α>Ε43 0Β .4,
 4<<0 6.2/, 1Η Χ74 Α4Β∆;ΧΒ 8= ∃Α>?>Β8Χ8>= 3.27.

L%,,! 6.3 (#43.< &4−#3).−2) F36 %2= 0 < � < Η; � 2 ,B
�
�;−

�
8,)6) )<−787

' 2 C10
�
RN
�
;−8, 8,) ∗3003;−2+ 4634)68−)7:

)) 0 6 ' 6 1, ' � 1 32 ,B (�; �) %2( sprt' � ,B (�; Η);

))) ∗36 ?; ≅ = 1; 2; :::; Γ;
��� ,3,'

��� 6 9

Η � � (6.6)

��� ,30'
��� ;
��� ,3, ,3−'

��� 6 9

(Η � �)2
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)))) F36 %2= < 2 C�
e∃

�
,B
�
�;−

��
, %2( Η � � 71%00 )239+,,



< ,3,'





C�
fX
( eB(�;!))

6
9

(Η � �)2
k< kC�

fX
( eB(�;!))

(6.7)



< ,30'





C�
fX
( eB(�;!))

;



< ,3, ,3−'





C�
fX
( eB(�;!))

6
9

(Η � �)3
k< kC�

fX
( eB(�;!)) :

∗4 Φ8;; ΦΑ8Χ4
,B� (�) � ' � ,B5 (�)

Χ> 8=3820Χ4 Χ70Χ ' Β0Χ8Βϑ4Β 0;; Χ74 ?Α4Ε8>∆Β ?Α>?4ΑΧ84Β.
∀4ΓΧ, ;4Χ ∆Β ΒΧ0Χ4 Χ74 5>;;>Φ8=6:

P1./.2)3).− 6.4 (I−3%1/.+!3).− )−%04!+)38 &.1 3%23 &4−#3).−2) L)8

∃ =

4∋

,=1

,32
, + ,30

%2( 0)8 ,B
�
�;−

�
&) %7 &)∗36).  ,)2 ∗36 ):)6= � 2 (0; 1), 8,)6) )<−78 ∋3278%287


 � 1 %2( 9 > 0, ()4)2(−2+ 32 �;− %2(
1
,3,
2
, 79∋, 8,%8 ∗36 ):)6= " 2 (0; 1)

%2( ):)6= < 2 C10 ( ,B
�
�;−=2

�
);




 ,3/<




C�
fX
( eB(�;!=2))

� " k∃<kC�
fX
( eB(�;!=2)) +

9

"

k<kL1( eB(�;!=2)) (6.8)

∗36 Β = 1; 2; � � � ; Γ; 136)3:)6, ;) ,%:)

k <kC�
fX
( eB(�;!=2)) � "




 ,L<




C�
fX
( eB(�;!=2))

+
9

"

k<kL1( eB(�;!=2)) ; (6.9)

;,)6)  −7 %2= :)∋836 ?)0( 3∗ 03∋%0 ()+6)) � 1.

∋> ?Α>Ε4 ∃Α>?>Β8Χ8>= 6.4, Φ4 =443 Χ74 5>;;>Φ8=6

L%,,! 6.5 L)8 + (�0) &) % ∗63>)2 34)6%836 3∗ 8=4) � � 1 3:)6 ,B
�
�;−

�
%2(

� 2 (0; 1).  ,)2 8,)6) )<−78 437−8−:) ∋3278%287 
 > 1 %2( 9, ()4)2(−2+ 32 �; �
%2(

1
,3,
2
, 79∋, 8,%8 ∗36 ):)6= < 2 C10 ( ,B

�
�;−

�
) %2( " 2 (0; 1)

k+∃<kC�
fX
( eB(�;!)) � " k∃<kC�

fX
( eB(�;!)) +

9

"

k<kL1( eB(�;!)) : (6.10)

R%,!1∗ 6.6 A7 ;−00 &) ∋0)%6 ∗631 8,) 4633∗, (6.10) 78−00 ,30(7 −∗ ∃ −7 6)40%∋)(

&= %2= (−∆)6)28−%0 34)6%836 3∗ ;)−+,8 8;3, 0−/) ,3, ,3− 36 ,30.

73



P1..& .& 3(% L%,,!. ∋78Β ?Α>>5 8Β 030?Χ43 5Α>< .4,  4<<0 7.2/.  4Χ

+∃< (�) =

(

eB(�;!)
Α(�; �)∃< (�) :�;

Φ74Α4 Α 8Β 0 5Α>Ι4= :4Α=4; >5 ΧΗ?4 � � 1, 0=3 ;4Χ '" 14 0 2∆Χ>Θ 5∆=2Χ8>= Β∆27 Χ70Χ
,B"=2(�) � '" � ,B"(�), 5>Α " 2 (0; 1) : ∗4 Β?;8Χ +∃ 0Β 5>;;>ΦΒ: 5>Α � 2 ,B

�
�;−

�

+∃<(�) =

(

eB(�;!);�(�;�)> "
2

Α(�; �)[1� '"(�)]∃<(�):�

+

(

eB(�;!);�(�;�)�"
Α(�; �)∃<(�)'"(�):�

= %(�) + %%(�):

∋74=

%(�) =

(

eB(�;!);�(�;�)> "
2

∃# (Α(�; �)[1� '"(�)]) (�) <(�):�:

 4Χ >"(�; �) = ∃# (Α(�; �)[1� '"(�)]) (�). &8=24 Α 8Β 0 5Α>Ι4= :4Α=4; >5 ΧΗ?4
�, Χ74Α4 4Γ8ΒΧ 9 > 0; 
 > 1, Β∆27 Χ70Χ

j>"(�; �)j+
��� ,30>"(�; �)

���+
���
∋ ,3,>"(�; �)

��� � 9"�
 :

BΗ 34ϑ=8Χ8>= >5 5Α>Ι4= :4Α=4;, Χ74 5∆=2Χ8>= � 7�! >"(�; �) 8Β 2><?02Χ;Η Β∆??>ΑΧ43

8= ,B
�
�;−

�
5>Α 0=Η � 2 ,B

�
�;−

�
; 74=24 1Η (3.29) 8= ∃Α>?>Β8Χ8>= 3.27, 8Χ 5>;;>ΦΒ

Χ70Χ
j>"(�1; �)� >"(�2; �)j � 9!: e∃(�1; �2)"

�
 � 9!�(�1; �2)"�


5>Α 0=Η �1; �2 2 ,B
�
�;−

�
; 0=3 Χ74Α45>Α4

j%(�1)� %(�2)j �
(
j>"(�1; �)� >"(�2; �)j j<(�)j :�

� 9!"�
�(�1; �2)
��� ,B!

��� k<kL1( eBR)
:

A;Β>, Β8=24

j%(�)j �
(

eB(�;!);�(�;�)> "
2

9"�
 j<(�)j :� � 9"�

��� ,B!

��� k<kL1( eB(�;!)) ;

Φ4 >1Χ08=

k%(�)kC�
fX
( eB(�;!)) � 9"

�
 k<kL1( eB(�;!)) 5>Α 0=Η � 2 (0; 1):

∀>Φ, ;4Χ ∆Β 2>=Β834Α %%(�), 0=3 ;4Χ

Α"(�; �) = Α(�; �)'"(�):
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BΗ Χ74 ?Α>?4ΑΧ84Β >5 5Α>Ι4= :4Α=4;Β >5 ΧΗ?4 1, :44?8=6 8=Χ> 022>∆=Χ Χ74 Β∆??>ΑΧ
>5 Α" 0=3 0??;Η8=6 0608= (3.29) 8= ∃Α>?>Β8Χ8>= 3.27, Φ4 20= Β0Η Χ70Χ 5>Α 0=Η
ϑΓ43 � 2 (0; 1), Χ74 :4Α=4; Α"(�; �) Β0Χ8Βϑ4Β Χ74 5>;;>Φ8=6 ΒΧ0=30Α3 4ΒΧ8<0Χ4Β >5
5Α02Χ8>=0; 8=Χ46Α0; :4Α=4;Β (Β44 Ρ 3.3):

jΑ"(�; �)j � 9�(�; �)1� � 9"��(�; �)1��� ; (6.11)

jΑ"(�; �)� Α"(�1; �)j � 9
�(�; �1)

�(�; �) 
� 9"��(�; �)��� �(�; �1) (6.12)

5>Α �(�; �) � 2�(�; �1). ∋74Α45>Α4, 1Η ∋74>Α4< 3.14 0=3 %4<0Α: 3.19 8= Ρ 3.3,

k%%kC�
fX
( eB(�;!)) � 9"

� k∃<kC�
fX
( eB(�;!))

5>Α 0=Η � < 1� �. ∗4 2>=2;∆34 Χ70Χ 5>Α 4Ε4ΑΗ � 2 (0; 1) Χ74Α4 4Γ8ΒΧ �; 
; 9 > 0
Β∆27 Χ70Χ

k+∃<kC�
fX
( eB(�;!)) � "

� k∃<kC�
fX
( eB(�;!)) +

9

"

k<kL1( eB(�;!)) ;

Φ7827 8<?;84Β Χ74 ;4<<0.

P1..& .& P1./.2)3).− 6.4. BΗ ∋74>Α4< 4.18, Φ4 20= ΦΑ8Χ4

7< = +∃<(�) + .<;

Φ74Α4 +; . 0Α4 5Α>Ι4= >?4Α0Χ>ΑΒ >5 ΧΗ?4 2 0=3 1, Α4Β?42Χ8Ε4;Η, >Ε4Α ,B
�
�;−

�
.

!>Α4 ?Α428Β4;Η, Χ74Η Β7>∆;3 14 20;;43 Μ2>=ΒΧ0=Χ :4Α=4;Β >5 ΧΗ?4 2 0=3 1Ν, Β8=24
Χ74Η Β0Χ8Β5Η Χ74 34ϑ=8Χ8>= >5 5Α>Ι4= :4Α=4;Β Φ8Χ7 Χ74 <0ΧΑ8Γ f,7,− (�0)g Α4?;0243
1Η Χ74 834=Χ8ΧΗ <0ΧΑ8Γ.
I5 Φ4 0ΒΒ∆<4 7 = 1 >= ,B

�
�;−=2

�
, Χ74=, 5>Α < 2 C10 ( ,B

�
�;−=2

�
) Φ4 >1Χ08=

< = +∃<(�) + .< (6.13)

0=3 Χ74Α45>Α4, 1Η ∋74>Α4< 4.11,

,3,< = .1∃<(�) + /<; (6.14)

Φ74Α4 .1; / 0Α4 5Α>Ι4= >?4Α0Χ>ΑΒ >5 ΧΗ?4 1 0=3 0; Α4Β?42Χ8Ε4;Η. &∆1ΒΧ8Χ∆Χ8=6
(6.13) 8= (6.14) Η84;3Β

,3,< = .1∃<(�) + /+∃< + /.<

0=3 Χ74Α45>Α4, 1Η ∋74>Α4< 5.1 0=3  4<<0 6.5




 ,3,<




�
� k.1∃<k� + k/+∃<k� + k/.<k�
� k.1∃<k� + 9 fk+∃<k� + k.<k�g
� 9

�
" k∃<k� + "�
 k<k1 + k.<k�

	
(6.15)
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Φ74Α4 0;; Χ74 =>Α<Β 0Α4 Χ0:4= >Ε4Α ,B
�
�;−=2

�
. ∗4 4=3 Χ74 ?Α>>5 1Η Β7>Φ8=6

Χ70Χ 5>Α 0= >?4Α0Χ>Α . >5 ΧΗ?4 1,

k.<k� � 9 k<kL1 ;

Φ7827 1Η (6.15) Φ8;; 2><?;4Χ4 Χ74 ?Α>>5 >5 Χ74 ϑΑΒΧ 8=4≅∆0;8ΧΗ 8= Χ74 ?Α>?>Β8Χ8>=.
I=3443, 85

.<(�) =

(

eBR

Α(�; �)<(�):�:

∗4 70Ε4

j.<(�1)� .<(�2)j � k<kL1( eBR)

(

eB(�;!)
jΑ(�1; �)� Α(�2; �)j :�: (6.16)

!>Α4>Ε4Α,
(

eBR

jΑ(�1; �)� Α(�2; �)j :� =
(

eB(�;!);�(�1;�)>M�(�1;�2)

jΑ(�1; �)� Α(�2; �)j :�

+

(

eB(�;!);�(�1;�)�M�(�1;�2)

jΑ(�1; �)� Α(�2; �)j :�

� % + %%:

BΗ (6.12),

% �
(

�(�1;�)>M�(�1;�2)

9

�(�1; �) �1
�(�1; �2)

�(�1; �)
:�

= �(�1; �2)
�

(

�(�1;�)>M�(�1;�2)

�(�1; �)
1��

�(�1; �) 
�(�1; �2)

1��

�(�1; �)1��
:�

� 9�(�1; �2)�
(

eBR

�(�1; �)
1��

�(�1; �) 
:�

� 9�(�1; �2)�−1��;

Φ74Α4 8= Χ74 ;0ΒΧ 8=4≅∆0;8ΧΗ Φ4 70Ε4 ∆Β43 Χ74 5>;;>Φ8=6 ΒΧ0=30Α3 2><?∆Χ0Χ8>=
(Φ7827 Φ8;; 14 ∆Β45∆; 0;Β> >Χ74Α Χ8<4Β):

(

eB(�;!);�(�1;�)<5

:�

�(�1; �) ��
� 9Η� 5>Α 0=Η �1 2 ,B

�
�;−

�
(6.17)

AΒ Χ> %%, 1Η (6.11),

%% �
(

�(�1;�)�M�(�1;�2)

jΑ(�1; �)j :� +
(

�(�1;�)�M�(�1;�2)

jΑ(�2; �)j :�

Β8=24 Χ74Α4 4Γ8ΒΧΒ (1 > 0 Β∆27 Χ70Χ 85 �(�1; �) � (�(�1; �2) Χ74= �(�2; �) �
(1�(�1; �2),

� 9
((

�(�1;�)�M�(�1;�2)

1

�(�1; �) �1
:� +

(

�(�2;�)�M1�(�1;�2)

1

�(�2; �) �1
:�

)
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0608= 1Η (6.17)
� 9� (�1; �2) � 9� (�1; �2)�−1��:

H4=24 5>Α 4Ε4ΑΗ � 2 (0; 1);
(

eBR

jΑ(�1; �)� Α(�2; �)j :� � 9��(�1; �2)�−1��

0=3, 1Η (6.16),
j.< j� � 9 k<kL1 :

!>Α4>Ε4Α,

j.<(�)j �
(

eBR

jΑ(�; �)<(�)j :�

� k<kL1
(

�(�;�)�(!

9

�(�; �) �1
:� � 9− k<kL1 ;

74=24
k.<k� � 9 k<kL1 :

∋78Β 2><?;4Χ4Β Χ74 ?Α>>5 >5 (6.8). A Β8<8;0Α 0Α6∆<4=Χ 68Ε4Β (6.9).

T(%.1%, 6.7 (I−3%1/.+!3).− )−%04!+)38)  ,)6) )<−78 437−8−:) ∋3278%287 9; 


%2( Η1 < − 79∋, 8,%8 ∗36 %2= Κ 2 C2;�
e∃
( ,B
�
�; Η1

�
), 0 < � < Η1, 0 < � < 1=3;




 , Κ




C�
fX
( eB(�;�))

� �
4∋

,=1




 , 2Κ




C�
fX
( eB(�;51))

+
9

�
 (Η1 � �)2

kΚkL1( eB(�;51))

;,)6)




 , Κ



 �

4∋

,=1




 ,3,Κ



 %2(




 , 2Κ



 �

4∋

,;−=1




 ,3, ,3,Κ



+




 ,30Κ



 :

 ,) ∋3278%287 9; Η1; 
 ()4)2( 32 �;
1
,3,
2
; 
 −7 %7 −2 P63437−8−32 6.4.

P1..&. ∋74 ?Α>>5 20= 14 20ΑΑ843 >∆Χ 4Γ02Χ;Η 0Β 8= .4, ∃Α>?>Β8Χ8>= 7.4/, 4Γ?;>8Χ8=6
Χ74 ?Α>?4ΑΧ84Β >5 2∆Χ>Θ 5∆=2Χ8>=Β ( 4<<0 6.3), Χ74 8=Χ4Α?>;0Χ8>= 8=4≅∆0;8ΧΗ 5>Α
Χ4ΒΧ 5∆=2Χ8>=Β (∃Α>?>Β8Χ8>= 6.4) 0=3 (3.30) 8= ∃Α>?>Β8Χ8>= 3.27.

∗4 0Α4 =>Φ 8= ?>Β8Χ8>= 5>Α Χ74 <08= 6>0; >5 Χ78Β Β∆1Β42Χ8>=:
P1..& .& T(%.1%, 6.2. ∋78Β ?Α>>5 20= =>Φ 14 20ΑΑ843 >∆Χ 4Γ02Χ;Η ;8:4 8=
.4, ∋74>Α4< 5.3/, 4Γ?;>8Χ8=6: &270∆34Α 4ΒΧ8<0Χ4Β 5>Α 5∆=2Χ8>=Β Φ8Χ7 Β<0;; Β∆?-
?>ΑΧ (∋74>Α4< 6.1), Χ74 ?Α>?4ΑΧ84Β >5 HΩ;34Α 2>=Χ8=∆>∆Β 5∆=2Χ8>=Β 2>=Χ08=43 8=
(3.30), (3.31), (3.34), Χ74 ?Α>?4ΑΧ84Β >5 2∆Χ>Θ 5∆=2Χ8>=Β ( 4<<0 6.3) 0=3 Χ74
8=Χ4Α?>;0Χ8>= 8=4≅∆0;8Χ84Β 2>=Χ08=43 8= ∋74>Α4< 6.7 0=3 (6.9).
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6.3 S#(!4∃%1 %23),!3%2 )− 3(% .1)∋)−!+ 5!1)!∀+%2

 4ΧΛΒ =>Φ ?Α>Ε4 ∋74>Α4< 2.1. ∗4 ϑ=0;;Η 2><4 102: Χ> >∆Α >Α868=0; 2>=Χ4ΓΧ,
Φ7827 Φ4 0Α4 6>8=6 Χ> Α420;;. ∗4 70Ε4 0 1>∆=343 3><08= 
 Φ74Α4 >∆Α Ε42Χ>Α
ϑ4;3Β 0=3 2>4Π 284=ΧΒ 0Α4 34ϑ=43, 0=3 0 ϑΓ43 Β∆13><08= 
0 b 
: F8Γ Μ 2 
0 0=3
− Β∆27 Χ70Χ 8= B (Μ;−) � 
 0;; Χ74 2>=ΒΧΑ∆2Χ8>= >5 Χ74 ?Α4Ε8>∆Β ΧΦ> Β∆1Β42Χ8>=Β
(;85Χ8=6 Χ> ,B

�
�;−

�
0=3 Β> >=) 20= 14 ?4Α5>Α<43.  4Χ Η0 14 0Β 8= ∋74>Α4<

6.2. ∋> 1468= Φ8Χ7, Φ4 Φ0=Χ Χ> ?Α>Ε4 &270∆34Α 4ΒΧ8<0Χ4Β 5>Α 5∆=2Χ8>=Β Κ 2
C2;�∃ (B (Μ; Η0)) : BΗ ∋74>Α4< 3.28 Φ4 :=>Φ Χ70Χ Χ74 5∆=2Χ8>= ,Κ (Μ; >) = Κ (Μ)

14;>=6Β Χ> C2;�
e∃

�
B
�
�; Η0

��
, Β> Φ4 20= 0??;Η Χ> ,Κ &270∆34Α 4ΒΧ8<0Χ4Β 2>=Χ08=43

8= ∋74>Α4< 6.2. C><18=8=6 Χ78Β 502Χ Φ8Χ7 Χ74 ΧΦ> 4ΒΧ8<0Χ4Β 8= ∋74>Α4< 3.28
0=3 27>>Β8=6 ϑ; Ι Β∆27 Χ70Χ

Η0 > Ι > ϑ > 0 0=3 Ι� ϑ = Η0 � Ι;

Φ4 64Χ, 5>Α Β><4 4Γ?>=4=Χ ! > 2

kΚkC2;�
X

(B(:;6)) �
9

(Ι� ϑ)2
k,ΚkC2;�

fX
( eB(�;7)) (6.18)

� 9

(Η0 � ϑ)!

 


 ,L,Κ




C�
fX
( eB(�;50))

+ k,ΚkL1( eB(�;50))

!

� 9

(Η0 � Ι)!
�
kLΚkC�

X
(B(:;50))

+ kΚkL1(B(:;50))
�

Β8=24 ,L,Κ =](LΚ):
∀4ΓΧ, ;4Χ ∆Β 27>>Β4 0 50<8;Η >5 10;;Β B (Μ,; Η0) 8= 
 Β∆27 Χ70Χ


0 �
.)

,=1

B (Μ,; Η0=2) �
.)

,=1

B (Μ,; Η0) � 
:

∋74= 1Η ∃Α>?>Β8Χ8>= 3.27 (Ε) 0=3 (6.18), Φ8Χ7 Ι = Η0=2;

kΚkC2;�
X

(
0) � kΚkC2;�
X

([B(:i;50=2)) � 9
.∋

,=1

kΚkC2;�
X

(B(:i;50))

� 9
.∋

,=1

1
kLΚkC�

X
(B(:i;50))

+ kΚkL1(B(:i;50))
2

� 9
1
kLΚkC�

X
(
) + kΚkL1(
)

2

Φ8Χ7 9 0;Β> 34?4=38=6 >= Η0. F8=0;;Η, ;4Χ ∆Β =>Χ4 Χ70Χ Χ74 2>=ΒΧ0=Χ 9 34?4=3Β >=
Χ74 2>4Π 284=ΧΒ7,− Χ7Α>∆67 Χ74 =>Α<Β

k,7,−kC�
fX
( eB(�;!0)) ;

Φ7827 8= Χ∆Α= 0Α4 1>∆=343 1Η Χ74 =>Α<Β

k7,−kC�
X
(B(:;!0))
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(1Η ∃Α>?>Β8Χ8>= 3.28), 0=3 74=24 1Η k7,−kC�
X
(
) (>Α <>Α4 ?Α428Β4;Η, 1Η k7,−kC�

X
(
00)

5>Α Β><4 
00 Β∆27 Χ70Χ 
0 b 
00 b 
). ∋78Β 2><?;4Χ4Β Χ74 ?Α>>5 >5 ∋74>Α4< 2.1.

7 LΦ %23),!3%2

∋74 ;>6820; ΒΧΑ∆2Χ∆Α4 >5 Χ78Β Β42Χ8>=, 0Β Φ4;; 0Β Χ74 64=4Α0; Β4ΧΧ8=6, 8Β Ε4ΑΗ Β8<8;0Α
Χ> Χ70Χ >5 Χ74 ?Α4Ε8>∆Β >=4. H4Α4, 5>;;>Φ8=6 0Β 2;>Β4 0Β ?>ΒΒ81;4 Χ74 ΒΧΑ0Χ46Η >5
.3/, Χ74 ?Α>>5 Φ8;; 14 ΒΧ8;; 38Ε8343 8=Χ> Χ7Α44 ΒΧ4?Β: ∋3 0-?Α8>Α8 4ΒΧ8<0Χ4Β 8= Χ74

Β?024 >5 ;85Χ43 Ε0Α801;4Β, 5>Α Χ4ΒΧ 5∆=2Χ8>=Β Β∆??>ΑΧ43 8= 0 10;; ,B
�
�; Η
�
Φ8Χ7 Η

Β<0;; 4=>∆67; Χ74= 5>Α 0=Η 5∆=2Χ8>= 8= .2;3
e∃

�
,B
�
�; Η
��
(=>Χ =424ΒΒ0Α8;Η Ε0=8Β78=6

0Χ Χ74 1>∆=30ΑΗ); Χ74= 5>Α 0=Η 5∆=2Χ8>= 8= .2;3∃ (B (Μ; Η)), Χ70Χ 8Β 8= Χ74 >Α868=0;
Β?024.
A608=, 8Χ 8Β =>Χ Α4ΒΧΑ82Χ8Ε4 Χ> 0ΒΒ∆<4 70 = 1:
∋74 10Β82 38Θ4Α4=24 Φ8Χ7 Χ74 Β4ΧΧ8=6 >5 &270∆34Α 4ΒΧ8<0Χ4Β 2>=Β8ΒΧΒ 8= Χ74

502Χ Χ70Χ 74Α4 Φ4 ΒΧ0ΑΧ Φ8Χ7 Α4?Α4Β4=Χ0Χ8>= 5>Α<∆;0Β Φ74Α4 Χ74 Μ5Α>Ι4=Ν?>8=Χ 70Β
144= ϑ=0;;Η ∆=5Α>Ι4=; Χ74Α45>Α4 =>Φ Β8=6∆;0Α 8=Χ46Α0;Β Φ8Χ7 :%6−%&0) :4Α=4;Β 0Α4
8=Ε>;Ε43, Χ>64Χ74Α Φ8Χ7 Χ748Α 2><<∆Χ0Χ>ΑΒ Φ8Χ7 1(∗ 5∆=2Χ8>=Β. ∋78Β <0:4Β
Χ74 Β8=6∆;0Α 8=Χ46Α0; ?0ΑΧ >5 Χ74 Χ74>ΑΗ <>Α4 8=Ε>;Ε43.

7.1 Lp %23),!3%2 &.1 &4−#3).−2 6)3( 2,!++ 24//.13

T(%.1%, 7.1 L)8 ,B
�
�;−

�
&) %7 −2 8,) 46):−397 7)∋8−32, %2( Φ 2 (1;1).  ,)6)

)<−787 −0 < − 79∋, 8,%8 ∗36 ):)6= Κ 2 C10
�
,B
�
�;−0

��
,

kΚk∀2;p
fX
( eB(�;!0)) � 9

�


 ,LΚ




Lp( eB(�;!0))

+ kΚkLp( eB(�;!0))

�
(7.1)

∗36 731) ∋3278%28 9 ()4)2(−2+ 32
1
,3,
24
,=0

; Φ; � ;−; 8,) 291&)6 −0 %073 ()4)2(7

32 8,) 03∋%0 1(∗ 13(90− ��&ij ;
0;
:

P1..&. ∋78Β Χ74>Α4< Α4;84Β >= Χ74 Α4?Α4Β4=Χ0Χ8>= 5>Α<∆;0 ?Α>Ε43 8= ∋74>Α4<
4.21 0=3 >= Χ74 Α4Β∆;ΧΒ 01>∆Χ Β8=6∆;0Α 8=Χ46Α0;Β 0=3 2><<∆Χ0Χ>ΑΒ 2>=Χ08=43 8=
∋74>Α4< 5.4.
 4Χ Κ 2 C10

�
,B
�
�; Η
��
Φ8Χ7 Η < −.  4Χ ∆Β ΦΑ8Χ4 Χ74 Α4?Α4Β4=Χ0Χ8>= 5>Α<∆;0

>5 ∋74>Α4< 4.21 27>>Β8=6 Χ74 2∆Χ>Θ 5∆=2Χ8>= 7 Β∆27 Χ70Χ 7 = 1 8= ,B
�
�; Η
�
.

∋0:8=6 ∋3 =>Α<Β >5 1>Χ7 Β834Β >5 Χ74 5>Α<∆;0 Φ4 64Χ (Β44 0;Β> %4<0Α: 4.22), 5>Α
Φ 2 (1;1); 0=Η Χ; Β = 1; 2; :::; Γ;



 ,30 ,3/Κ





Lp( eB(�;5))

�



//0 ,LΚ





Lp( eB(�;5))

+

4∋

,;−=1




[,7,− ; //0] ,3, ,3−Κ




Lp( eB(�;5))

+

+

4∋

.=1




//0;. ,3.Κ




Lp( eB(�;5))

+


/ 0/0Κ




Lp( eB(�;5))
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Φ74Α4 0;; Χ74 //0; //0;.; /
0
/0 0Α4 :%6−%&0) >?4Α0Χ>ΑΒ >5 ΧΗ?4 0 >Ε4Α ,B

�
�; 2Η

�
:

∗4 =>Φ 0??;Η ∋74>Α4< 5.4: Χ74Α4 4Γ8ΒΧΒ 9 (34?4=38=6 >= −) 0=3 5>Α 4Ε4ΑΗ

ϑΓ43 " > 0 Χ74Α4 4Γ8ΒΧΒ Η < − Β∆27 Χ70Χ 5>Α 4Ε4ΑΗ Κ 2 C10
�
,B
�
�; Η
��
,




 ,30 ,3/Κ




Lp( eB(�;5))

� 9

8
 
:



 ,LΚ





Lp( eB(�;5))

+ "

4∋

,;−=1




 ,3, ,3−Κ




Lp( eB(�;5))

(7.2)

+ kΚkLp( eB(�;5)) +
∋

.




 ,3.Κ




Lp( eB(�;5))

)
:

∀>Φ, ;4Χ ∆Β 2><4 102: Χ> (4.27) 0=3 Χ0:4 >=;Η >=4 34Α8Ε0Χ8Ε4 ,3/ (5>Α Β =
1; :::; Γ) >5 1>Χ7 Β834Β; Φ4 ϑ=3:

,3/Κ = ,3/+ (�0) ,L0Κ+ ,3/. (�0)Κ (7.3)

= ./ (�0) ,L0 + / (�0)Κ

Φ74Α4 ./ (�0) ; / (�0) 0Α4 5Α>Ι4= >?4Α0Χ>ΑΒ >5 ΧΗ?4 1 0=3 0, Α4Β?42Χ8Ε4;Η. BΗ (4.30)
Φ4 70Ε4

,3/Κ = .1;/ ,LΚ+
4∋

,;−=1

[.1;/;,7,− ] ,3, ,3−Κ+ /Κ;

Φ74Α4 .1;/; / 0Α4 Ε0Α801;4 >?4Α0Χ>ΑΒ >5 ΧΗ?4 1 0=3 0, Α4Β?42Χ8Ε4;Η (8= ?0ΑΧ82∆;0Α,
1>Χ7 20= 14 Β44= 0Β >?4Α0Χ>ΑΒ >5 ΧΗ?4 0). BΗ ∋74>Α4< 5.4,




 ,3/Κ




Lp( eB(�;5))

� 9



 ,LΚ





Lp( eB(�;5))

+"

4∋

,;−=1




 ,3, ,3−Κ




Lp( eB(�;5))

+9 kΚkLp( eB(�;5)) :

(7.4)
F8=0;;Η, 5Α>< Χ74 4≅∆0Χ8>= Φ4 20= 1>∆=3




 ,30Κ




Lp( eB(�;5))

� 9
4∋

,;−=1




 ,3, ,3−Κ




Lp( eB(�;5))

+



 ,LΚ





Lp( eB(�;5))

: (7.5)

C><18=8=6 (7.2), (7.4) 0=3 (7.5) Φ4 70Ε4, 5>Α Η Β<0;; 4=>∆67,

kΚk∀2;p
fX
( eB(�;5)) � 9

�


 ,LΚ




Lp( eB(�;5))

+ kΚkLp( eB(�;5))
�

(7.6)

0=3 Χ74 Χ74>Α4< 8Β ?Α>Ε43.

7.2 Lp %23),!3%2 &.1 −.−5!−)2()−∋ &4−#3).−2

∋74 <08= Α4Β∆;Χ 8= Χ78Β Β∆1Β42Χ8>= 8Β Χ74 5>;;>Φ8=6:
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T(%.1%, 7.2 L)8 ,B
�
�;−

�
&) %7 &)∗36).  ,)6) )<−787 Η0 < − %2( ∗36 %2=

Η � Η0 8,)6) )<−787 9 > 0 79∋, 8,%8 ∗36 %2= Κ 2 .2;3e∃
�
,B
�
�; Η
��
;) ,%:)

kΚk∀2;p
fX
( eB(�;5=2)) � 9

�


 ,LΚ




Lp( eB(�;5))

+ kΚkLp( eB(�;5))
�
:

 ,) ∋3278%287 9; Η0 ()4)2( 32
1
,3,
24
,=0

; Φ; � ;−;%2( ��&ij ;
0;
; 9 %073 ()4)2(7 32
Η.

A=0;>6>∆Β;Η Χ> Φ70Χ Β44= 8= Ρ 6.2, Χ74 ?Α>>5 >5 Χ74 01>Ε4 Χ74>Α4< Α4;84Β >=
8=Χ4Α?>;0Χ8>= 8=4≅∆0;8Χ84Β 5>Α &>1>;4Ε =>Α<Β 0=3 Χ74 ∆Β4 >5 2∆Χ>Θ 5∆=2Χ8>=.
%460Α38=6 2∆Χ>Θ 5∆=2Χ8>=Β, Φ4 =443 Χ74 5>;;>Φ8=6 ΒΧ0Χ4<4=Χ:

L%,,! 7.3 (R!∃)!+ #43.< &4−#3).−2) F36 %2= � 2 ( 12 ; 1); Η > 0 %2( � 2
,B
�
�; Η
�
, 8,)6) )<−787 ' 2 C10

�
RN
�
;−8, 8,) ∗3003;−2+ 4634)68−)7:

−) ,B�5 (�) � ' � ,B�05 (�) ;−8, �0 = (1 + �) =2 (8,−7 1)%27 8,%8 ' = 1 −2
,B�5 (�) %2( −8 −7 7944368)( −2 ,B�05 (�));

−−) ∗36 ?; ≅ = 1; : : : ; Γ, ;) ,%:)
��� ,3,'

��� � 9

(1� �)Η ;
��� ,30'

��� ;
��� ,3, ,3−'

��� � 9

(1� �)2Η2 : (7.7)

∋74 01>Ε4 ;4<<0, Ε4ΑΗ Β8<8;0Α Χ> .3,  4<<0 3.3/, 8Β 02Χ∆0;;Η 2>=Χ08=43 8=
 4<<0 6.3, 1∆Χ Φ4 70Ε4 ?Α454ΑΑ43 Χ> ΒΧ0Χ4 8Χ 4Γ?;828Χ;Η 1420∆Β4 8Χ 8Β 5>Α<∆;0Χ43
8= 0 Β;867Χ;Η 38Θ4Α4=Χ =>Χ0Χ8>=, Β∆8Χ01;4 Χ> >∆Α 0??;820Χ8>= Χ> ∋3 4ΒΧ8<0Χ4Β.

T(%.1%, 7.4 (I−3%1/.+!3).− )−%04!+)38 &.1 S.∀.+%5 −.1,2) L)8 ,B(�;−)
&) %7 &)∗36). F36 ):)6= Φ 2 (1;1) 8,)6) )<−787 9 > 0 %2( Η1 < − 79∋, 8,%8 ∗36

):)6= 0 < " � 4Η1, Κ 2 C10
�
,B(�; Η1)

�
, 8,)2




 ,3,Κ




Lp( eB(�;51))

� " k∃ΚkLp( eB(�;51)) +
9

"
kΚkLp( eB(�;51)) (7.8)

∗36 ):)6= ? = 1; : : : ; Γ, ;,)6) ∃ �%4
,=1

,32
, +

,30.

P1..&. ∋74 ?Α>>5 >5 Χ78Β ?Α>?>Β8Χ8>= 8Β 030?Χ43 5Α>< .3, ∋7<. 3.6/.
 4Χ Η1 14 0 Β<0;; =∆<14Α Χ> 14 ϑΓ43 ;0Χ4Α.  8:4 8= Χ74 ?Α>>5 >5 ∋74>Α4< 6.4

Φ4 20= ΦΑ8Χ4, 5>Α 0=Η Κ 2 C10
�
,B(�; Η1)

�
0=3 � 2 ,B(�; Η1);

,3,Κ (�) = .∃Κ(�) + /Κ (�) ;

Φ74Α4 .; / 0Α4 2>=ΒΧ0=Χ >?4Α0Χ>ΑΒ >5 ΧΗ?4 1 0=3 0, Α4Β?42Χ8Ε4;Η, >Ε4Α ,B(�; 2Η1),
?Α>Ε8343 2Η1 < −. (&44 Χ74 ?Α>>5 >5 ∃Α>?>Β8Χ8>= 6.4 5>Α Χ74 4Γ?;0=0Χ8>= >5 Χ74
Χ4Α< Μ2>=ΒΧ0=Χ >?4Α0Χ>ΑΒ >5 ΧΗ?4 �Ν). &8=24

k/ΚkLp( eB(�;51)) � 9 kΚkLp( eB(�;51)) ;
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Χ74 Α4Β∆;Χ Φ8;; 5>;;>Φ 85 Φ4 ?Α>Ε4 Χ70Χ

k.∃ΚkLp( eB(�;51)) � " k∃ΚkLp( eB(�;51)) +
9

"
kΚkLp( eB(�;51)) : (7.9)

 4Χ Α(�; �) 14 Χ74 :4Α=4; >5 . 0=3, 5>Α 0=Η ϑΓ43 � 2 ,B(�; Η1); '" 0 2∆Χ>Θ 5∆=2Χ8>=
(0Β 8= ;4<<0 7.3) Φ8Χ7 ,B "

2
(�) � '" � ,B" (�).  4Χ ∆Β Β?;8Χ:

.∃Κ(�) =

(

eB(�;51);�(�;�)> "
2

Α(�; �)[1� '"(�)]∃Κ(�):�+

+

(

eB(�;51);�(�;�)�"
Α(�; �)∃Κ(�)'"(�):� = % (�) + %% (�) :

∋74=

j% (�)j =
�����

(

eB(�;51);�(�;�)> "
2

∃# (Α(�; �)[1� '"(�)]) (�)Κ(�):�
�����

�
(

eB(�;51);�(�;�)> "
2

���[1� '"]∃# Α (�; �)
��+

+ 9
∋��� ,3,[1� '"] � ,3−Α (�; �)

���+
��Α (�; �)∃# [1� '"]

�� (�) jΚ(�)j :�

� A (�) +B (�) + C (�) :

%420;; Χ70Χ, 5>Α ?; ≅ = 1; 2; :::; Γ;

jΑ(�; �)j � 9

:(�; �) �1
;

��� ,3,Α(�; �)
��� � 9

:(�; �) 
;

��∃# Α(�; �) (�)
�� � 9

:(�; �) +1
;

��� ,3, (1� '") (�)
��� � 9

"
;
��∃# (1� '") (�)

�� � 9

"2

0=3 Χ74 34Α8Ε0Χ8Ε4Β >5 (1� '") 0Α4 Β∆??>ΑΧ43 8= Χ74 0==∆;∆Β "
2 � :(�; �) � ".

&8=24 �; � 2 ,B(�; Η1); Φ4 70Ε4 : (�; �) < 2Η1. H4=24 ;4ΧΧ8=6 Α0 14 Χ74 8=Χ464Α
Β∆27 Χ70Χ 2.0�1" < 2Η1 � 2.0" Φ4 70Ε4

jA (�)j � 9
.0∋

.=0

(

2k�1"<�(�;�)�2k"

9

:(�; �) +1
jΚ (�)j :�

� 9
.0∋

.=0

1

2.�1"

1

("2.�1)
 

(

�(�;�)�2k"
jΚ (�)j :�

� 9

"
� sup
5�451

1��� ,B (�; Η)
���

(

eB(�;5)

jΚ (�)j :�: (7.10)
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∗4 =>Φ 70Ε4 Χ> Α420;; Χ74 34ϑ=8Χ8>= >5 Χ74 ;>20; <0Γ8<0; 5∆=2Χ8>= M (Β44
Ρ 3.3). ∗8Χ7 Χ74 =>Χ0Χ8>= >5 ∋74>Α4< 3.21, Φ4 70Ε4 4Η1 = Η1 =

2
5"1; 74=24

"1 = 10Η1 0=3, 5>Α � 2 ,B
�
�; Η1

�
, Φ4 70Ε4 ,B (�; "1) � ,B

�
�; 11Η1

�
. ∋74Α45>Α4 1Η

(7.10) Φ4 20= ΦΑ8Χ4

jA (�)j � 9

"
� M eB(�;51); eB(�;1151)Κ (�)

0=3 1Η ∋74>Α4< 3.21, Φ4 70Ε4

kAkLp( eB(�;51)) �
9

"
kΚkLp( eB(�;1151)) =

9

"
kΚkLp( eB(�;51)) ;

Β8=24 Κ 2 C10
�
,B(�; Η1)

�
; ?Α>Ε8343 11Η1 < −: A;Β>

jB (�)j � 9
(

"
2
<�(�;�)�";

1

"
� 1

:(�; �) 
jΚ (�)j :�

� 9

" +1

(

�(�;�)�"
jΚ (�)j :�

� 9

"
� sup
5�"

1��� ,B (�; Η)
���

(

eB(�;5)

jΚ (�)j :�

� 9

"
� M eB(�;51); eB(�;1151)Κ (�)

?Α>Ε8343 " < 4Η1: AΒ 145>Α4 Φ4 70Ε4

kBkLp( eB(�;51)) �
9

"
kΚkLp( eB(�;51)) :

F8=0;;Η,

jC (�)j � 9
(

"
2
<�(�;�)�"

1

"2
� 1

:(�; �) �1
jΚ (�)j �:Ν

� 9

" +1

(

�(�;�)�"
jΚ (�)j :�

0Β 5>Α Χ74 Χ4Α< B (�), Χ74Α45>Α4

k%kLp( eB(�;51)) �
9

"
kΚkLp( eB(�;51)) :

 4Χ ∆Β 1>∆=3 %%:

j%% (�)j � 9
(

�(�;�)�"

j∃Κ (�)j
�(�; �) �1

:�:

∋74=, 0 2><?∆Χ0Χ8>= Β8<8;0Α Χ> Χ70Χ >5 C (�) 68Ε4Β

j%% (�)j � 9"M eB(�;51); eB(�;1151)Κ (�)

0=3
k%%kLp( eB(�;51)) � 9" kΚkLp( eB(�;51)) ;

?Α>Ε8343 " < 4Η1: &> Φ4 0Α4 3>=4.

83



T(%.1%, 7.5 F36 %2= Κ 2 .2;3
e∃
( ,B
�
�; Η
�
); Φ 2 [1;1); 0 < Η < Η1 (;,)6) Η1 −7

8,) 291&)6 −2  ,)36)1 7.4), ()?2) 8,) ∗3003;−2+ 59%28−8−)7:

�. = sup
1=2<�<1

�
(1� �).Η.




 , .Κ




Lp( eBr�)

�
∗36 Α = 0; 1; 2:

 ,)2 ∗36 %2= � > 0 (71%00 )239+,)

�1 � ��2 +
9

�
�0:

P1..&. ∋78Β Α4Β∆;Χ 5>;;>ΦΒ 4Γ02Χ;Η 0Β 8= .2, ∋7<. 21/ 4Γ?;>8Χ8=6 Χ74 8=Χ4Α?>;0-
Χ8>= Α4Β∆;Χ 5>Α 2><?02Χ;Η Β∆??>ΑΧ43 5∆=2Χ8>=Β (∋74>Α4< 7.4), 2∆Χ>Θ 5∆=2Χ8>=Β
( 4<<0 7.3) 0=3 ∃Α>?>Β8Χ8>= 3.32.

∗4 20= =>Φ 2><4 Χ> Χ74
P1..& .& T(%.1%, 7.2. ∋78Β ?Α>>5 8Β Β8<8;0Α Χ> Χ70Χ >5 Χ74>Α4< .2, ∋7<. 3/.
D∆4 Χ> Χ74 38Θ4Α4=Χ 2>=Χ4ΓΧ, Φ4 8=2;∆34 0 2><?;4Χ4 ?Α>>5 5>Α 2>=Ε4=84=24 >5 Χ74
Α4034Α.
∃82: Η0 = min (−0; Η1) Φ74Α4 −0; Η1 0Α4 Χ74 =∆<14ΑΒ 0??40Α8=6 8= ∋74>Α4<Β

7.1, 7.4, Α4Β?42Χ8Ε4;Η. F>Α Η � Η0; ;4Χ Κ 2 .2;3e∃
�
,B
�
�; Η
��
.  4Χ ' 14 0 2∆Χ>Θ

5∆=2Χ8>= 0Β 8= ;4<<0 7.3,

,B
�
�; �Η

�
� ' � ,B

�
�; �0Η

�
:

BΗ ∋74>Α4< 7.1, 'Κ 2 .2;3
e∃;0

�
,B
�
�; Η
��
; Χ74=, 1Η 34=Β8ΧΗ, Φ4 20= 0??;Η ∋74>Α4<

7.1 Χ> 'Κ:

k'Κk∀2;p( eB(�;5)) � 9
�


 ,L ('Κ)





Lp( eB(�;5))

+ k'ΚkLp( eB(�;5))
�
:

F>Α 1 � ?; ≅ � Γ, 5Α>< Χ74 01>Ε4 8=4≅∆0;8ΧΗ Φ4 64Χ




 ,3, ,3−Κ




Lp( eB�r)

� 9
�


 ,LΚ





Lp( eB�0r)

+ kΚkLp( eB�0r)
+

+
1

(1� �)Η



 , Κ





Lp( eB�0r)

+
1

(1� �)2Η2 kΚkLp( eB�0r)

�

� 9
�


 ,LΚ





Lp( eB�0r)

+
1

(1� �)Η



 , Κ





Lp( eB�0r)

+
1

(1� �)2Η2 kΚkLp( eB�0r)

�

Φ74Α4, 0Β 145>Α4, Φ4 ;4Χ




 , Κ



 �

4∋

,=1




 ,3,Κ



 0=3




 , 2Κ



 �

4∋

,;−=1




 ,3, ,3,Κ



+




 ,30Κ



 :
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!∆;Χ8?;Η8=6 1>Χ7 Β834Β 5>Α (1� �)2Η2 Φ4 64Χ

(1� �)2Η2 k ,3, ,3−Κ kLp( eB�r)
� 9

�
(1� �)2Η2




 ,LΚ




Lp( eB�0r)

+ (7.11)

+(1� �)Η
�


 , Κ





Lp( eB�0r)

�
+ kΚkLp( eB�0r)

�
:

∀4ΓΧ, Φ4 2><?∆Χ4 (1� �)2Η2



 ,30Κ





Lp( eB�r)

:

(1� �)2Η2



 ,30Κ





Lp( eB�r)

= (1� �)2Η2







,LΚ�

4∋

,;−=1

,7,− ,3, ,3−Κ








Lp( eB�r)

(7.12)

� 9(1� �)2Η2
�


 ,LΚ





Lp( eB�r)

+



 ,3, ,3−Κ





Lp( eB�r)

�
:

C><18=8=6 (7.11) 0=3 (7.12), Φ4 70Ε4

(1� �)2Η2



 , 2Κ





Lp( eB�r)

� 9
�
(1� �)2Η2




 ,LΚ




Lp( eB�0r)

+ (7.13)

+(1� �)Η



 , Κ





Lp( eB�0r)

+ kΚkLp( eB�0r)

�
:

A338=6 (1� �)Η k ΚkLp( eB�r)
Χ> 1>Χ7 Β834Β >5 (7.13),

(1� �)Η



 , Κ





Lp( eB�r)

+ (1� �)2Η2



 , 2Κ





Lp( eB�r)

(7.14)

� 9
�
(1� �)2Η2




 ,LΚ




Lp( eB�0r)

+ (1� �)Η



 , Κ





Lp( eB�0r)

+ kΚkLp( eB�0r)

�
;

1Η ∋74>Α4< 7.5,

� 9
�
(1� �)2Η2




 ,LΚ




Lp( eB�0r)

+
�
��2 +

9

�
�0

�
+ kΚkLp( eB�0r)

�
:

C7>>Β8=6 � Β<0;; 4=>∆67, Φ4 70Ε4

�2 +�1 � 9
�
Η2



 ,LΚ





Lp( eBr)

+ kΚkLp( eBr)

�
;

Χ74=

Η2



 , 2Κ





Lp( eB(�;5=2))

+Η



 , Κ
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7.3 Lp %23),!3%2 )− 3(% .1)∋)−!+ 5!1)!∀+%2
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8Β 0=0;>6>∆Β Χ> Χ70Χ 5>;;>Φ43 8= Ρ 6.3 Χ> ?Α>Ε4 &270∆34Α 4ΒΧ8<0Χ4Β.
F8Γ Μ 2 
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 0;; Χ74 2>=ΒΧΑ∆2Χ8>= >5 Χ74
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0=3 Β> >=) 20= 14 ?4Α5>Α<43.  4Χ
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